				55			-/						
CAAP010790-MCE	SOCIETY	ABEDA	INAMDAR	SENIOR	COLLEGE	0F	ARTS,	SCIENCE	AND	COMMERCE	AZAM	CAMPUS	
				PUNE .	. (022	21)							

				PUNE .	(0	221)				
Min Max	INT 012 030	TH 028 070	INT 006 015	PR 014 035	INT 000 000	Tot	Crd	Grd	Grd Pnt	Crd Pnt
PRN: 1341910661		no.: 57	-			F SAHIR		er -	~~~ NASI	~~~ RIN
FUNDAMENTALS OF BCA-111	COMPUTE P 013	ers P 028				041	4	D	4	16
PROBLEM SOLVING BCA-112	AND C F P 018		ING 			071	4	А	8	32
APPLIED MATHEMA BCA-113	FICS P 016	P 044				060	4	А	8	32
BUSINESS COMMUN BCA-114	ICATION P 020	P 035				055	4	B+	7	28
FUNDAMENTALS OF BCA-115		ERS LABO		P 028		036	1.5	А	8	12
C PROGRAMMING LA BCA-116			P 010	Р 014		024	1.5	с	5	7.5
APPLIED MATHEMA BCA-117				Р 016		026	1.5	В	6	9
BUSINESS COMMUN BCA-118			P 010	Р 014		024	1.5	с	5	7.5
First Semes Total Credit Po			5 Credit	s Earneo	d/Tota	1 : 22/2	2			
COMPUTER ORGANIZ BCA-121	ZATION * 015	* 053				068	4	А	8	32
ADVANCED C PROG BCA-122	RAMMING P 019	P 045				064	4	А	8	32
OPERATING SYSTE BCA-123	MS CONCE P 012	EPTS P 039				051	4	в	6	24
DATABASE MANAGE BCA-124	MENT SYS P 012					082	4	A+	9	36
COMPUTER ORGANIZ BCA-125	ZATION L	_ABORATO		р 029		035	1.5	А	8	12
ADVANCED C PROG BCA-126	RAMMING	LABORAT		р 027		042	1.5	A+	9	13.5
OPERATING SYSTE BCA-127	MS LABOR	RATORY	р 007	р 029		036	1.5	A	8	12
DATABASE MANAGE BCA-128	MENT SYS	STEMS - 1		TORY P 022		029	1.5	B+	7	10.5
Second Seme Total Credit Po			18 Credi	ts Earne	ed/Tot	al : 22/	22			
First Year Tota	l Credit	ts Earne	d : 44/4	4						
ONLINE CERTIFIC/ 13419-GR9VA-A	ATE COUR	RSES/MOO	C COURSE	S/ CAREE	ER ADV	ANCEMENT "A"	COURS 4	E UP	т0	
PHYSICAL EDUCAT: G-1	ION (GRO	DUP-I, S	EM-II) 			"A"	2			

CAAP010790-MCE S	ΟΟΙΕΤΥ ΑΒΙ		MDARS	Leager ENIOR C PUNE .	OLLEGE	-	S,SCIE	NCE A	AND C	COMMERCE	E AZAM	CAMPUS
Min Max	012 ( 030 (	028 070	INT 006 015	PR 014 035	INT 000 000	Tot	Crd		Grd Pnt	Pnt		
PRN: 1342000575	Seat no.					PATWEKA			~~~ - IR	~~~ RFANA		
FUNDAMENTALS OF CO BCA-111	OMPUTERS P 025 P (	053				078	4	A+	9	36		
PROBLEM SOLVING AN BCA-112		RAMMING 053				081	4	A+	9	36		
APPLIED MATHEMATIC BCA-113		052				080	4	A+	9	36		
BUSINESS COMMUNIC BCA-114	ATION P 028 P (	046				074	4	A	8	32		
FUNDAMENTALS OF CO BCA-115				033		047	1.5	0	10	15		
C PROGRAMMING LAB BCA-116		P (	014 P	029		043	1.5	A+	9	13.5		
APPLIED MATHEMATIO BCA-117			014 P	027		041	1.5	A+	9	13.5		
BUSINESS COMMUNIC BCA-118	-		015 P	031		046	1.5	0	10	15		
First Semeste Total Credit Poin		8.955 C	redits	Earned	/Tota]	: 22/2	2					
COMPUTER ORGANIZA BCA-121	TION * 028 * (	057				085	4	A+	9	36		
ADVANCED C PROGRAM BCA-122	MMING * 023 * (	053				076	4	A+	9	36		
OPERATING SYSTEMS BCA-123	CONCEPTS * 022 * (	059				081	4	A+	9	36		
DATABASE MANAGEMEI BCA-124	NT SYSTEMS * 029 * (					096	4	0	10	40		
COMPUTER ORGANIZA BCA-125			014 *	025		039	1.5	A+	9	13.5		
ADVANCED C PROGRAM BCA-126	-		014 *	027		041	1.5	A+	9	13.5		
OPERATING SYSTEMS BCA-127		RY * (	014 *	023		037	1.5	А	8	12		
DATABASE MANAGEMEI BCA-128		S - I L/ * (				035	1.5	A	8	12		
Second Semesto Total Credit Poin		9.045	Credits	s Earne	d/Tota	al : 22/	22					
First Year Total (	Credits Ea	arned :	44/44									
DEMOCRACY, ELECTIO	ON AND GO	VERNANC	E 		*	'"A+"	2					
PHYSICAL EDUCATION G-1	N (GROUP-:	I, SEM-1	II) 		*	<sup>.</sup> "0"	2					
											•••	

Page 2

			55			_/						
CAAP010790-MCE SOCIETY	ABEDA	INAMDAR	SENIOR	COLLEGE	0F	ARTS	SCIENCE	AND	COMMERCE	AZAM	CAMPUS	
			PUNE	. (022	21)							

				PUNE .	(0	221)				
Min Max	INT 012 030	TH 028 070	INT 006 015	PR 014 035	INT 000 000	Tot	Crd	Grd	Grd Pnt	
PRN: 1342000576		no.: 523						er -	WAS]	~~~ IYA
FUNDAMENTALS OF BCA-111	COMPUTE P 022	rs p 059				081	4	A+	9	36
PROBLEM SOLVING BCA-112	AND C P P 023	ROGRAMMIN P 045	G			068	4	A	8	32
APPLIED MATHEMAT BCA-113	TICS P 024	р 031				055	4	B+	7	28
BUSINESS COMMUNI BCA-114	CATION P 028	P 042				070	4	А	8	32
FUNDAMENTALS OF BCA-115		RS LABORA		031		045	1.5	0	10	15
C PROGRAMMING LA BCA-116		Y		029		043	1.5	O A+		13.5
APPLIED MATHEMAT	ICS LAB	ORATORY					-		-	
BCA-117 BUSINESS COMMUNI	CATION	LABORATOR	Y	031		043	1.5	A+	-	13.5
BCA-118 First Semest				031		046 1	1.5	0	10	15
Total Credit Po	oints: 1	85	creatts	Earned	/ TOTA	1:22/2	Ζ			
COMPUTER ORGANIZ BCA-121	ATION * 030	* 028 \$				058	4	B+	7	28
ADVANCED C PROGE BCA-122	AMMING * 022	* 038				060	4	А	8	32
OPERATING SYSTEM BCA-123	1S_CONCE * 025	PTS * 046				071	4	A	8	32
DATABASE MANAGEN BCA-124	1ENT SYS * 028	TEMS-I * 046				074	4	А	8	32
COMPUTER ORGANIZ BCA-125	ATION L			020		035	1.5	А	8	12
ADVANCED C PROGE BCA-126	AMMING			027		041	1.5	A+	9	13.5
OPERATING SYSTEM BCA-127	IS LABOR		014 *	023		037	1.5	А	8	12
DATABASE MANAGEM				0RY 022		035	1.5	A	8	12
Second Semes Total Credit Po	ster SGP. Dints: 1	A : 7.886			d/Tot		-		C	
First Year Total	Credit	s Earned	: 44/44							
DEMOCRACY, ELECT 22999	ION AND	GOVERNAN	CE 			*"0"	2			
PHYSICAL EDUCATI G-1	ON (GRO	UP-I, SEM	-II) 			*"0"	2			
\$ 0.1										

### Savitribai Phule Pune University Pune-411 007 BCA\_Sc\_2019Pattern (CREDIT PATTERN)

	BCA_	College									
CAAP010790-MCE SO	CIETY ABEDA			COLLEG	E OF		ENCE /	AND (		E AZAM	CAMPUS
Min Max	INT TH 012 028 030 070	INT 006 015	PR 014 035	INT 000 000		Crd		Grd Pnt	Pnt		
PRN: 1342000577	Seat no.: 52					Mother -					
FUNDAMENTALS OF COM											
	026 P 060				086	4	A+	9	36		
-	027 P 055	ING 			082	4	A+	9	36		
APPLIED MATHEMATICS BCA-113 P	5 029 р045				074	4	A	8	32		
BUSINESS COMMUNICA BCA-114 P	TION 029 P 043				072	4	A	8	32		
FUNDAMENTALS OF COM BCA-115	MPUTERS LABO		033		045	1.5	0	10	15		
C PROGRAMMING LABON BCA-116		P 012 F	029		041	1.5	A+	9	13.5		
APPLIED MATHEMATICS BCA-117		P 014 F	029		043	1.5	A+	9	13.5		
BUSINESS COMMUNICA BCA-118		ORY P 015 F	032		047	1.5	0	10	15		
First Semester Total Credit Point		3 Credits	Earne	ed/Tota	1:2	22/22					
COMPUTER ORGANIZATI BCA-121 *	ION 029 * 031				060	4	А	8	32		
ADVANCED C PROGRAMM BCA-122 *	MING 025 * 046				071	4	A	8	32		
OPERATING SYSTEMS ( BCA-123 *	CONCEPTS 027 * 050				077	4	A+	9	36		
DATABASE MANAGEMEN <sup>-</sup> BCA-124 *	T SYSTEMS-I 028 * 067				095	4	0	10	40		
COMPUTER ORGANIZAT: BCA-125	ION LABORATO		032		046	1.5	0	10	15		
ADVANCED C PROGRAMM BCA-126	MING LABORAT		030		044	1.5	A+	9	13.5		
OPERATING SYSTEMS I BCA-127	LABORATORY	* 013 *	027		040	1.5	A+	9	13.5		
DATABASE MANAGEMEN BCA-128					046	1.5	0	10	15		
Second Semester Total Credit Point		55 Credit	s Earr	ned/Tot	al :	22/22					
First Year Total C	redits Earne	d : 44/44	Ļ								
DEMOCRACY, ELECTION 22999	N AND GOVERN	ANCE			*''A+'	' 2					
PHYSICAL EDUCATION G-1	(GROUP-I, S	EM-II)			*"0"	2					

CAN DO 10700 MCE				Ledger								
CAAP010790-MCE	SOCIETY A	SEDA IN		PUNE .		E OF AF 221)	(IS, SCIE	NCE A	AND C	OMMERCE	AZAM (	LAMPUS
Min Max	INT 012 030	тн 028 070	INT 006 015	PR 014 035	INT 000 000	Tot	Crd	Grd	Grd Pnt			
PRN: 1342000578	Seat no.	.: 525		ANSARI			~~~~ HUSSAIN	~~~ Mo	other	~~~ - ABEDA	•	
FUNDAMENTALS OF BCA-111	COMPUTERS * 017 *	070				087	4	A+	9	36		
PROBLEM SOLVING BCA-112		GRAMMIN 049	G 			064	4	A	8	32		
APPLIED MATHEMA BCA-113	FICS P 014 P	048				062	4	A	8	32		
BUSINESS COMMUN BCA-114		057				083	4	A+	9	36		
FUNDAMENTALS OF BCA-115	COMPUTERS			033		047	1.5	0	10	15		
C PROGRAMMING LA BCA-116	ABORATORY	P	014 P	026		040	1.5	A+	9	13.5		
APPLIED MATHEMA BCA-117	TICS LABORA		012 р	029		041	1.5	A+	9	13.5		
BUSINESS COMMUN BCA-118	CATION LAE			031		046	1.5	0	10	15		
First Semest Total Credit Po		8.773	Credits	Earned,	/Tota	1 : 22/	/22					
COMPUTER ORGANIZ BCA-121		055				085	4	A+	9	36		
ADVANCED C PROG BCA-122		059				082	4	A+	9	36		
OPERATING SYSTEM BCA-123	4S CONCEPTS * 027 *					094	4	0	10	40		
DATABASE MANAGEN BCA-124	MENT SYSTEN * 029 *					099	4	0	10	40		
COMPUTER ORGANIZ BCA-125	ZATION LABO			020		035	1.5	А	8	12		
ADVANCED C PROG BCA-126	RAMMING LAE			025		039	1.5	A+	9	13.5		
OPERATING SYSTEM BCA-127	IS LABORATO		013 *	025		038	1.5	A+	9	13.5		
DATABASE MANAGEN BCA-128			LABORAT 014 *			039	1.5	A+	9	13.5		
Second Semes Total Credit Po			Credit	s Earneo	d/Tota	al : 22	2/22					
First Year Tota	l Credits E	Earned	: 44/44									
DEMOCRACY, ELEC 22999	FION AND GO	OVERNAN	CE 		:	*"0"	2					
PHYSICAL EDUCAT: G-1	ION (GROUP-	-I, SEM 	-II) 		:	*''0''	2					

СААР010790-МСЕ	SOCIETY	ABEDA		ge Leag SENIOR			-	ENCE A	ND (	COMMERC	E AZAM	CAMPL	JS
	<b>T</b> 11 <b>T</b>			PUNE .	-	221)	Circl	Crad	د به ما	Circle			
Min	INT 012	TH 028	INT 006	PR 014	INT 000	Tot	Crd	Grd		Pnt			
							~~~ ~~~	~~~					
PRN: 1342000579		no.: 52	16 NAM	E: ANTUL	LE NUMA	IK MU	STAFA	Mother	' – r	NARGIS			
FUNDAMENTALS OF BCA-111	P 028					088	4	A+	9	36			
PROBLEM SOLVING BCA-112	and c p p 028	ROGRAMM P 064	IING 			092	4	0	10	40			
APPLIED MATHEMAT BCA-113	ICS P 028	P 043				071	4	А	8	32			
BUSINESS COMMUNI BCA-114		P 060				088	4	A+	9	36			
FUNDAMENTALS OF BCA-115	COMPUTE	RS LABC	RATORY P 015	Р 033		048	1.5	0	10	15			
C PROGRAMMING LA BCA-116	BORATOR	Y	P 015	р 023		038	1.5	A+	9	13.5			
APPLIED MATHEMAT BCA-117	ICS LAB	ORATORY	, Р 015	Р 034		049	1.5	0	10	15			
BUSINESS COMMUNI BCA-118	CATION	LABORAT	ORY P 015	Р 034		049	1.5	0	10	15			
First Semest Total Credit Po			)5 Credi	ts Earne	ed/Tota	1:2	2/22						
COMPUTER ORGANIZ BCA-121	ATION * 028	* 049				077	4	A+	9	36			
ADVANCED C PROGR BCA-122		* 052				081	4	A+	9	36			
OPERATING SYSTEM BCA-123	s conce * 029					096	4	0	10	40			
DATABASE MANAGEM BCA-124	ENT SYS * 030					100	4	0	10	40			
COMPUTER ORGANIZ BCA-125	ATION L			* 035		050	1.5	0	10	15			
ADVANCED C PROGR BCA-126	AMMING	LABORAT		* 034		049	1.5	0	10	15			
OPERATING SYSTEM BCA-127	S LABOR		* 015	* 034		049	1.5	0	10	15			
DATABASE MANAGEM BCA-128	ENT SYS		I LABOR * 015			049	1.5	0	10	15			
Second Semes Total Credit Po			36 Cred	its Earr	ned/Tot	al :	22/22						
First Year Total	Credit	s Earne	ed : 44/	44									
DEMOCRACY, ELECT 22999	ION AND	GOVERN	IANCE			*"A"	2						
PHYSICAL EDUCATI G-1	ON (GRO 	UP-I, S 	EM-II)			*"0"	2						
									••••				

				Ledger							
CAAP010790-MCE S	SOCIETY ABE	EDA INA		ENIOR CO PUNE .	OLLEGI (02	E OF AF 221)	RTS,SCIE	NCE A	AND C	COMMERCE AZAM CAMPU	JS
Min Max	012 0 030 0	TH )28 )70	INT 006 015	PR 014 035	INT 000 000	Tot	Crd		Grd Pnt	Pnt	
PRN: 1342000580	Seat no.:			ASHARAI		ALLABA	~~~~ KSHA SH		~~~ Mot	~~~ her - SHABANA	
FUNDAMENTALS OF ( BCA-111	COMPUTERS P 026 P (	)67				093	4	0	10	40	
PROBLEM SOLVING A BCA-112	NDCPROGE P024 P0		; 			088	4	A+	9	36	
APPLIED MATHEMATI BCA-113	Р 029 Р 0	)48				077	4	A+	9	36	
BUSINESS COMMUNIC BCA-114	CATION P 029 P 0	)57				086	4	A+	9	36	
FUNDAMENTALS OF G BCA-115				031		046	1.5	0	10	15	
C PROGRAMMING LAB BCA-116		P	015 P	029		044	1.5	A+	9	13.5	
APPLIED MATHEMATI BCA-117			015 P	034		049	1.5	0	10	15	
BUSINESS COMMUNIC BCA-118				034		049	1.5	0	10	15	
First Semeste Total Credit Pot			redits	Earned,	/Tota	: 22/	22				
COMPUTER ORGANIZA BCA-121	ATION * 028 * 0	)49				077	4	A+	9	36	
ADVANCED C PROGRA BCA-122	AMMING * 029 * 0	)53				082	4	A+	9	36	
OPERATING SYSTEMS BCA-123	5 CONCEPTS * 029 * 0	)63				092	4	0	10	40	
DATABASE MANAGEME BCA-124	NT SYSTEMS * 030 * 0					100	4	0	10	40	
COMPUTER ORGANIZA BCA-125			015 *	028		043	1.5	A+	9	13.5	
ADVANCED C PROGRA BCA-126				033		048	1.5	0	10	15	
OPERATING SYSTEMS BCA-127			015 *	033		048	1.5	0	10	15	
DATABASE MANAGEME BCA-128			ABORATO			049	1.5	0	10	15	
Second Semest Total Credit Pot	er SGPA : nts: 210.5	9.568	Credit	s Earneo	d/Tota	al : 22	2/22				
First Year Total	Credits Ea	rned :	44/44								
DEMOCRACY, ELECT 22999	ON AND GOV	/ERNANC	СЕ 		•	*"A+"	2				
PHYSICAL EDUCATIO G-1	ON (GROUP-1	, SEM-	·II) 		;	<sup>*</sup> "0"	2				

						/							
СААРО10790-МСЕ	SOCIETY	ABEDA I	NAMDAR	SENIOR ( PUNE .		e of ar 221)	rs,scie	NCE	AND (	COMMERCE	AZAM	CAMPUS	
Min Max	INT 012 030	TH 028 070	INT 006 015	PR 014 035	INT 000 000	Tot	Crd	Grd	Grd Pnt	Crd Pnt			
PRN: 1342000581	Seat	~~~~~~ ~ no.: 528	NAME	· ATTAR	~~~~ NOMAAI	N SAMEER	R Mot	her	~~~ - SH/	AHIN			
FUNDAMENTALS OF BCA-111	COMPUTE P 026					093	4	0	10	40			
PROBLEM SOLVING BCA-112	AND C P P 027	ROGRAMMI P 067	NG 			094	4	0	10	40			
APPLIED MATHEMAT BCA-113	FICS P 029	р 060				089	4	A+	9	36			

DEA III	025 1	000					005	•		5	50
BUSINESS COMMUNICA BCA-114 P	TION 029 P	059					088	4	A+	9	36
FUNDAMENTALS OF CO BCA-115	MPUTERS		-	P (	033		047	1.5	0	10	15
C PROGRAMMING LABO BCA-116	RATORY	P	014	P (	029		043	1.5	A+	9	13.5
APPLIED MATHEMATIC BCA-117	S LABOR		013	P (	030		043	1.5	A+	9	13.5
BUSINESS COMMUNICA BCA-118	TION LA			P (	033		048	1.5	0	10	15
First Semester Total Credit Poin		9.500 (	Credit	S	Earned/	Total	: 22/22	2			
COMPUTER ORGANIZAT BCA-121 *		048					078	4	A+	9	36
ADVANCED C PROGRAM BCA-122 *		056					081	4	A+	9	36
OPERATING SYSTEMS BCA-123 *	CONCEPTS 026 *						085	4	A+	9	36
DATABASE MANAGEMEN BCA-124 *	t system 029 *						099	4	0	10	40
COMPUTER ORGANIZAT BCA-125	ION LAB		014	* (	035		049	1.5	0	10	15
ADVANCED C PROGRAM BCA-126	MING LA			* (	033		047	1.5	0	10	15
OPERATING SYSTEMS BCA-127	LABORAT		013	* (	026		039	1.5	A+	9	13.5
DATABASE MANAGEMEN BCA-128							036	1.5	A	8	12
Second Semeste Total Credit Poin			Credi	ts	Earnec	/Tota	al : 22/2	22			
First Year Total C	redits I	Earned	: 44/4	4							
DEMOCRACY, ELECTIO 22999	N AND GO	OVERNANO	CE 			%	<sup>•</sup> "0"	2			
PHYSICAL EDUCATION G-1	(GROUP		-II) 			*	<sup>•</sup> "0"	2			

		College									
CAAP010790-MCE S	SOCIETY ABEDA I	NAMDAR S	SENIOR ( PUNE .		e of ar 221)	TS,SCIE	NCE A	ND C	COMMERCE	AZAM	CAMPUS
Min Max	INT TH 012 028 030 070	INT 006 015	PR 014 035	INT 000 000	Tot	Crd	Grd	Grd Pnt			
PRN: 1342000582	Seat no.: 529						ther	- S⊦	AGUFTA		
FUNDAMENTALS OF ( BCA-111	COMPUTERS P 023 P 057				080	4	A+	9	36		
PROBLEM SOLVING A BCA-112	AND C PROGRAMMI P 029 P 048	NG 			077	4	A+	9	36		
APPLIED MATHEMATI BCA-113	ICS P 029 P 034				063	4	A	8	32		
BUSINESS COMMUNIC BCA-114	CATION P 029 P 042				071	4	A	8	32		
FUNDAMENTALS OF C BCA-115			o 033		048	1.5	0	10	15		
C PROGRAMMING LAB BCA-116		P 015 F	o29		044	1.5	A+	9	13.5		
APPLIED MATHEMATI BCA-117		P 012 F	o 028		040	1.5	A+	9	13.5		
BUSINESS COMMUNIC BCA-118			o 032		047	1.5	0	10	15		
First Semeste Total Credit Pot	er SGPA : 8.773 ints: 193	Credits	Earneo	d/Tota	1 : 22/	22					
COMPUTER ORGANIZA BCA-121	ATION * 028 * 050				078	4	A+	9	36		
ADVANCED C PROGRA BCA-122	AMMING * 027 * 050				077	4	A+	9	36		
OPERATING SYSTEMS BCA-123	5 CONCEPTS * 026 * 045				071	4	A	8	32		
DATABASE MANAGEME BCA-124	ENT SYSTEMS-I * 029 * 066				095	4	0	10	40		
COMPUTER ORGANIZA BCA-125			· 020		034	1.5	A	8	12		
ADVANCED C PROGRA BCA-126			028		042	1.5	A+	9	13.5		
OPERATING SYSTEMS BCA-127		* 013 *	027		040	1.5	A+	9	13.5		
DATABASE MANAGEME BCA-128		LABORAT * 014 *			041	1.5	A+	9	13.5		
Second Semest Total Credit Pot	ter SGPA : 8.93 ints: 196.5	2 Credit	s Earne	ed/Tot	al : 22	/22					
First Year Total	Credits Earned	: 44/44	ŀ								
DEMOCRACY, ELECT 22999	ION AND GOVERNA	NCE			*"0"	2					
PHYSICAL EDUCATIO G-1	ON (GROUP-I, SE				*"0"	2					

College Ledger(Apr-2021) CAAP010790-MCE SOCIETY ABEDA INAMDAR SENIOR COLLEGE OF ARTS,SCIENCE	AND COMMERCE AZAM CAMPUS
PUNE . (0221) INT TH INT PR INT TOT Crd Grd	l Grd Crd
Min 012 028 006 014 000 Max 030 070 015 035 000	Pnt Pnt
PRN: 1342000583 Seat no.: 530 NAME: FAKIR SHOIBSHAHA MUSTAMSHAHA	Mother - AFSANA
FUNDAMENTALS OF COMPUTERS BCA-111 P 023 P 063 086 4 A+	9 36
PROBLEM SOLVING AND C PROGRAMMING BCA-112 P 024 P 038 062 4 A	8 32
APPLIED MATHEMATICS BCA-113 P 025 P 032 057 4 B+	7 28
BUSINESS COMMUNICATION BCA-114 P 026 P 041 067 4 A	8 32
FUNDAMENTALS OF COMPUTERS LABORATORY BCA-115 P 014 P 033 047 1.5 0	10 15
C PROGRAMMING LABORATORY BCA-116 P 012 P 029 041 1.5 A+	9 13.5
APPLIED MATHEMATICS LABORATORY BCA-117 P 014 P 027 041 1.5 A+	9 13.5
BUSINESS COMMUNICATION LABORATORY BCA-118 P 015 P 032 047 1.5 0	10 15
First Semester SGPA : 8.409 Credits Earned/Total : 22/22 Total Credit Points: 185	
COMPUTER ORGANIZATION BCA-121 * 029 * 046 075 4 A+	9 36
ADVANCED C PROGRAMMING BCA-122 * 026 * 048 074 4 A	8 32
OPERATING SYSTEMS CONCEPTS           BCA-123         * 025         * 053           078         4         A+	9 36
DATABASE MANAGEMENT SYSTEMS-I BCA-124 * 028 * 066 094 4 0	10 40
COMPUTER ORGANIZATION LABORATORY BCA-125	8 12
ADVANCED C PROGRAMMING LABORATORY BCA-126 * 014 * 027 041 1.5 A+	9 13.5
OPERATING SYSTEMS LABORATORY           BCA-127          * 013         * 027          040         1.5         A+	9 13.5
DATABASE MANAGEMENT SYSTEMS - I LABORATORY BCA-128 * 014 * 029 043 1.5 A+	9 13.5
Second Semester SGPA : 8.932 Credits Earned/Total : 22/22 Total Credit Points: 196.5	
First Year Total Credits Earned : 44/44	
DEMOCRACY, ELECTION AND GOVERNANCE 22999 *"0" 2	
PHYSICAL EDUCATION (GROUP-I, SEM-II) G-1 *"0" 2	

a			-	Ledger	· ·							
CAAP010790-MCE	SOCIETY ABE	EDA INAM		ENIOR C PUNE .		E OF 221)	ARTS, SCI	ENCE A	AND (	COMMERCE	: AZAM	CAMPUS
Min Max	012 0 030 0	)28 0 )70 0	NT 06 15	PR 014 035	000 000	Tot	Crd	Grd	Pnt	Pnt		
PRN: 1342000584	Seat no.:						~~~ ~~~ VIJAY	Mother				
FUNDAMENTALS OF BCA-111	COMPUTERS P 026 P 0	)56 -				082	4	A+	9	36		
PROBLEM SOLVING BCA-112	AND C PROGR P 026 P 0					071	4	A	8	32		
APPLIED MATHEMAT BCA-113	пся Р 026 Р 0	)41 -				067	4	А	8	32		
BUSINESS COMMUNI BCA-114	CATION P 029 P 0	)46 -				075	4	A+	9	36		
FUNDAMENTALS OF BCA-115		ABORATO		033		047	1.5	0	10	15		
C PROGRAMMING LA BCA-116		РО	14 P	029		043	1.5	A+	9	13.5		
APPLIED MATHEMAT BCA-117	ICS LABORAT	ORY P 0	12 P	031		043	1.5	A+	9	13.5		
BUSINESS COMMUNI BCA-118			15 P	032		047	1.5	0	10	15		
First Semest Total Credit Po		8.773 Cr	edits	Earned,	/Tota	1:2	2/22					
COMPUTER ORGANIZ BCA-121	ATION * 029 * 0	)43 –				072	4	А	8	32		
ADVANCED C PROGE BCA-122	AMMING * 025 * 0	)36 -				061	4	А	8	32		
OPERATING SYSTEM BCA-123	IS CONCEPTS * 027 * 0	)62 –				089	4	A+	9	36		
DATABASE MANAGEN BCA-124	IENT SYSTEMS * 027 * 0					086	4	A+	9	36		
COMPUTER ORGANIZ BCA-125		RATORY * 0	14 *	020		034	1.5	A	8	12		
ADVANCED C PROGE BCA-126		RATORY * 0	12 *	027		039	1.5	A+	9	13.5		
OPERATING SYSTEM BCA-127		RY * 0	13 *	032		045	1.5	0	10	15		
DATABASE MANAGEN BCA-128		5 - I LA * 0				034	1.5	A	8	12		
Second Semes Total Credit Po			redit	s Earne	d/Tot	al :	22/22					
First Year Total	Credits Ea	rned :	44/44									
DEMOCRACY, ELECT 22999	ION AND GOV	/ERNANCE				*"A+"	2					
PHYSICAL EDUCATI G-1	ON (GROUP-I	, SEM-I	I) 			*"0"	2					

### Savitribai Phule Pune University

### BCA\_Sc\_2019Pattern (CREDIT PATTERN)

College Ledger(Apr-2021) CAAP010790-MCE SOCIETY ABEDA INAMDAR SENIOR COLLEGE OF ARTS, SCIENCE AND COMMERCE AZAM CAMPUS PUNE . (0221) INT TOT INT ΤН INT PR Crd Grd Grd Crd Min 012 028 006 014 000 Pnt Pnt Мах 030 070 015 035 000 ~~~~ ~~~ ~~~ ~~~  $\sim \sim \sim$ ~~~~  $\sim \sim \sim$  $\sim \sim \sim \sim$ ~~~ ~~~ ~~~ PRN: 1342000585 NAME: GHARADE M YASEEN MAINUDDIN Seat no.: 532 Mother - RUKIYA FUNDAMENTALS OF COMPUTERS BCA-111 P 029 P 067 \_\_\_ \_\_\_ \_\_\_ 096 4 0 10 40 PROBLEM SOLVING AND C PROGRAMMING P 029 P 070 099 4 0 10 40 BCA-112 \_\_\_ \_ \_ \_ APPLIED MATHEMATICS P 029 P 049 BCA-113 078 4 A+ 9 36 \_\_\_ \_\_\_ \_\_\_ BUSINESS COMMUNICATION P 028 P 064 BCA-114 092 4 0 10 40 \_\_\_ \_\_\_ \_\_\_ FUNDAMENTALS OF COMPUTERS LABORATORY P 033 048 1.5 10 15 --- P 015 0 BCA-115 \_\_\_ \_ \_ \_ C PROGRAMMING LABORATORY P 015 P 029 \_\_\_ 044 1.5 9 13.5 BCA-116 \_\_\_ \_\_\_ A+ APPLIED MATHEMATICS LABORATORY P 015 BCA-117 \_\_\_ \_\_\_ P 029 \_\_\_ 044 1.5 A+ 9 13.5 BUSINESS COMMUNICATION LABORATORY BCA-118 \_\_\_ --- Р 015 Р 033 \_\_\_ 048 1.5 0 10 15 First Semester SGPA : 9.682 Credits Earned/Total : 22/22 Total Credit Points: 213 COMPUTER ORGANIZATION BCA-121 \* 030 \* 039 069 4 А 8 32 \_ \_ \_ ADVANCED C PROGRAMMING \* 029 \* 039 068 4 8 32 BCA-122 А \_ \_ \_ ---\_\_\_ OPERATING SYSTEMS CONCEPTS \* 029 \* 070 099 4 10 40 0 BCA-123 \_ \_ \_ \_\_\_ \_\_\_ DATABASE MANAGEMENT SYSTEMS-I \* 028 098 \* 070 4 10 40 BCA-124 \_\_\_ 0 \_ \_ \_ \_ \_ \_ COMPUTER ORGANIZATION LABORATORY \* 014 \_\_\_ BCA-125 ---\* 033 \_\_\_ 047 1.5 0 10 15 ADVANCED C PROGRAMMING LABORATORY BCA-126 \_\_\_ \* 014 \* 030 \_ \_ \_ 044 1.5 A+ 9 13.5 OPERATING SYSTEMS LABORATORY --- \* 014 \* 029 043 BCA-127 ---\_\_\_ 1.5 A+ 9 13.5 DATABASE MANAGEMENT SYSTEMS - I LABORATORY --- \* 015 \* 028 --- 043 1.5 9 13.5 BCA-128 A+ Second Semester SGPA : 9.068 Credits Earned/Total : 22/22 Total Credit Points: 199.5 First Year Total Credits Earned : 44/44 DEMOCRACY, ELECTION AND GOVERNANCE --- \*"0" 22999 2 \_\_\_ \_\_\_ PHYSICAL EDUCATION (GROUP-I, SEM-II) --- \*"0" 2 G-1 \_ \_ \_ \_\_\_ \_\_\_ \_\_\_ 

CAAP010790-MCE SOC		NAMDAR S	-	COLLEG			ENCE A	AND C	COMMERCE AZAM CAMPU	JS
Min ( Max (	INT TH 012 028 030 070	INT 006 015	PR 014 035	INT 000 000	Tot	Crd	Grd	Pnt	Pnt	
	~~~ ~~~~~ ~~ eat no.: 533					ASIF	~~~ Mothe		~~~ TABASSUM	
FUNDAMENTALS OF COM BCA-111 P (	PUTERS 028 P 067				095	4	0	10	40	
PROBLEM SOLVING AND BCA-112 P	C PROGRAMMIN 025 P 062	NG 			087	4	A+	9	36	
APPLIED MATHEMATICS BCA-113 P (	028 P 049				077	4	A+	9	36	
BUSINESS COMMUNICAT: BCA-114 P (	ION 029 P 052				081	4	A+	9	36	
FUNDAMENTALS OF COM BCA-115			031		045	1.5	0	10	15	
C PROGRAMMING LABORA BCA-116		P 014 P	032		046	1.5	0	10	15	
APPLIED MATHEMATICS BCA-117		P 015 P	032		047	1.5	0	10	15	
BUSINESS COMMUNICAT: BCA-118	ION LABORATOF		033		048	1.5	0	10	15	
First Semester S Total Credit Points		Credits	Earne	d/Tota	1:22	/22				
COMPUTER ORGANIZATIO BCA-121 * (	ON 030 * 046				076	4	A+	9	36	
ADVANCED C PROGRAMM BCA-122 * (	ING 027 * 057				084	4	A+	9	36	
OPERATING SYSTEMS CO BCA-123 * (	ONCEPTS 029 * 056				085	4	A+	9	36	
DATABASE MANAGEMENT BCA-124 * (	SYSTEMS-I 029 * 070				099	4	0	10	40	
COMPUTER ORGANIZATIO			028		043	1.5	A+	9	13.5	
ADVANCED C PROGRAMM			032		047	1.5	0	10	15	
OPERATING SYSTEMS LA BCA-127	*		034		049	1.5	0	10	15	
	*	* 015 *	034			1.5	0	10	15	
Second Semester Total Credit Point:	s: 206.5			ed/Tot	al : 2	2/22				
First Year Total Cro	edits Earned	: 44/44	Ļ							
DEMOCRACY, ELECTION 22999					*"0"	2				
PHYSICAL EDUCATION G-1	(GROUP-I, SEN	1-II) 			*"0"	2				

			Colle	ge Ledge	er(Apr	-2021	L)					
CAAP010790-MCE S	SOCIET	Y ABEDA	INAMDAR	SENIOR PUNE .		E OF 221)	ARTS,SCIE	NCE	AND C	OMMERCE	AZAM	CAMPUS
Min Max	INT 012 030	028 070	INT 006 015	PR 014 035	000 000	Tot			l Grd Pnt	Pnt		
PRN: 1342000587							ASIFIQBAL		other			
FUNDAMENTALS OF C BCA-111		ers p 064				090	4	0	10	40		
PROBLEM SOLVING A BCA-112	NDCI P023		ING 			071	4	A	8	32		
APPLIED MATHEMATI BCA-113	CS P 029	Р 028 \$				057	4	B+	7	28		
BUSINESS COMMUNIC BCA-114	CATION P 027					073	4	A	8	32		
FUNDAMENTALS OF C BCA-115	COMPUTI 	ERS LABO		P 033		048	1.5	0	10	15		
C PROGRAMMING LAE BCA-116	BORATO		р 014	P 032		046	1.5	0	10	15		
APPLIED MATHEMATI BCA-117	CS LAI	BORATORY		P 030		044	1.5	A+	9	13.5		
BUSINESS COMMUNIC BCA-118	CATION			P 034		048	1.5	0	10	15		
First Semeste Total Credit Poi			9 Credi	ts Earne	d/Tota	1:2	22/22					
COMPUTER ORGANIZA BCA-121	ATION * 028	* 050				078	4	A+	9	36		
ADVANCED C PROGRA BCA-122	AMMING * 027	* 053				080	4	A+	9	36		
OPERATING SYSTEMS BCA-123	5 CONCI * 028					090	4	0	10	40		
DATABASE MANAGEME BCA-124		STEMS-I * 070				099	4	0	10	40		
COMPUTER ORGANIZA BCA-125	ATION I	LABORATO	RY * 015	* 030		045	1.5	0	10	15		
ADVANCED C PROGRA BCA-126		LABORAT	ORY * 015	* 020		035	1.5	A	8	12		
OPERATING SYSTEMS BCA-127	LABO		* 015	* 030		045	1.5	0	10	15		
DATABASE MANAGEME BCA-128	ENT SYS			ATORY * 030		045	1.5	0	10	15		
Second Semest Total Credit Poi			00 Cred <sup>.</sup>	its Earn	ed/Tot	al :	22/22					
First Year Total	Credit	ts Earne	d : 44/4	44								
DEMOCRACY, ELECTI 22999	ON ANI	D GOVERN	ANCE			*"A"	2					
PHYSICAL EDUCATIO	ON (GRO	OUP-I, S 	EM-II) 			*"0"	2					
\$ 0.1												

CAAP010790-MCE SO	CIETY ABEDA I	NAMDAR S	-	OLLEG			ENCE A	AND (	COMMERCE	AZAM (	CAMPUS
Min Max	INT TH 012 028 030 070	INT 006 015	PR 014 035	INT 000 000	Tot	Crd		Grd Pnt	Pnt		
	~~~~ ~~~~~ ~~ Seat no.: 535					~~ ~~~ A AMAR		ner -	- SARIKA		
FUNDAMENTALS OF CO BCA-111 P	MPUTERS 026 P 066				092	4	0	10	40		
PROBLEM SOLVING AN BCA-112 P	D C PROGRAMMI 023 P 050	NG 			073	4	A	8	32		
APPLIED MATHEMATIC BCA-113 P	s 028 p 039				067	4	A	8	32		
BUSINESS COMMUNICA BCA-114 P	TION 027 P 055				082	4	A+	9	36		
FUNDAMENTALS OF CO BCA-115			033		048	1.5	0	10	15		
C PROGRAMMING LABO BCA-116		Р 014 Р	026		040	1.5	A+	9	13.5		
APPLIED MATHEMATIC BCA-117		Р 014 Р	027		041	1.5	A+	9	13.5		
BUSINESS COMMUNICA BCA-118		RY P 015 P	032		047	1.5	0	10	15		
First Semester Total Credit Poin		Credits	Earned	l/Tota	1:22	/22					
COMPUTER ORGANIZAT BCA-121 *	ION 030 * 042				072	4	A	8	32		
ADVANCED C PROGRAM BCA-122 *	MING 028 * 053				081	4	A+	9	36		
OPERATING SYSTEMS BCA-123 *	CONCEPTS 027 * 060				087	4	A+	9	36		
DATABASE MANAGEMEN BCA-124 *	T SYSTEMS-I 029 * 070				099	4	0	10	40		
COMPUTER ORGANIZAT BCA-125			035		050	1.5	0	10	15		
ADVANCED C PROGRAM BCA-126			022		037	1.5	А	8	12		
OPERATING SYSTEMS BCA-127		* 015 *	028		043	1.5	A+	9	13.5		
DATABASE MANAGEMEN BCA-128	T SYSTEMS - I	LABORAT * 015 *	ORY 024		039	1.5	A+	9	13.5		
Second Semeste Total Credit Poin		) Credit	s Earne	d/Tot	al : 2	2/22					
First Year Total C	redits Earned	: 44/44									
DEMOCRACY, ELECTIO 22999	N AND GOVERNAM	NCE			*"A"	2					
PHYSICAL EDUCATION G-1	(GROUP-I, SEN	M-II) 			*"0"	2					

CAAP010790-MCE S	OCIETY AB		AMDARS	Ledger ENIOR CO PUNE .	OLLEG		S,SCIE	NCE A	ND C	OMMERCE AZAM CAMPUS
Min Max	012 030	TH 028 070	INT 006 015	PR 014 035	INT 000 000	Tot	Crd	Grd	Pnt	Pnt
PRN: 1342000589	Seat no.			KAMBOO		AZ ABDUL				~~~ - FARHAT
FUNDAMENTALS OF CO BCA-111	OMPUTERS P 027 P	064				091	4	0	10	40
PROBLEM SOLVING A	NDCPROG P025P		G 			095	4	0	10	40
APPLIED MATHEMATIO BCA-113		049				078	4	A+	9	36
BUSINESS COMMUNIC BCA-114	ATION P 030 P	059				089	4	A+	9	36
FUNDAMENTALS OF CO BCA-115				033		048	1.5	0	10	15
C PROGRAMMING LAB BCA-116		P	015 P	035		050	1.5	0	10	15
APPLIED MATHEMATI BCA-117			015 P	031		046	1.5	0	10	15
BUSINESS COMMUNIC BCA-118	-			035		050	1.5	0	10	15
First Semeste Total Credit Poi		9.636	Credits	Earned,	/Tota	1 : 22/22	2			
COMPUTER ORGANIZA BCA-121		049				078	4	A+	9	36
ADVANCED C PROGRAM BCA-122		060				090	4	0	10	40
OPERATING SYSTEMS BCA-123		069				099	4	0	10	40
DATABASE MANAGEME BCA-124		S-I 070				100	4	0	10	40
COMPUTER ORGANIZA BCA-125			013 *	035		048	1.5	0	10	15
ADVANCED C PROGRAM BCA-126				034		049	1.5	0	10	15
OPERATING SYSTEMS BCA-127			015 *	034		049	1.5	0	10	15
DATABASE MANAGEME BCA-128			LABORATO 015 *			049	1.5	0	10	15
Second Semest Total Credit Poi		9.818	Credit	s Earneo	d/Tota	al : 22/2	22			
First Year Total	Credits E	arned	: 44/44							
DEMOCRACY, ELECTIO	ON AND GO	VERNAN	CE 		:	*"A+"	2			
PHYSICAL EDUCATIO	N (GROUP-	I, SEM 	-II) 		:	*"0"	2			

CAAP010790-MCE SO	OCIETY ABEDA I	5	SENIOR C PUNE .	OLLEG	-	S,SCIE	NCE A	ND C	COMMERCE	AZAM	CAMPUS
Min Max	INT TH 012 028 030 070	INT 006 015	PR 014 035	INT 000 000	Tot	Crd	Grd	Grd Pnt			
PRN: 1342000590	Seat no.: 537				H VYANKA		ther	~~~ - DE	EVI		
FUNDAMENTALS OF CO BCA-111 P	MPUTERS 024 P 057				081	4	A+	9	36		
PROBLEM SOLVING AN BCA-112 P	ID C PROGRAMMIN 024 P 046	۱G 			070	4	А	8	32		
APPLIED MATHEMATIC BCA-113 P	S 026 P 028				054	4	В	6	24		
BUSINESS COMMUNICA BCA-114 P					078	4	A 1	9	36		
FUNDAMENTALS OF CO	MPUTERS LABOR						A+	-			
BCA-115 C PROGRAMMING LABO	RATORY		o 033		047	1.5	0	10	15		
BCA-116 APPLIED MATHEMATIC		P 014 F	o 029		043	1.5	A+	9	13.5		
BCA-117		P 012 F	o 31		043	1.5	A+	9	13.5		
BUSINESS COMMUNICA BCA-118			o 032		047	1.5	0	10	15		
First Semester Total Credit Poin		Credits	5 Earned	/Tota	1 : 22/2	2					
COMPUTER ORGANIZAT BCA-121 *	ION 029 * 039				068	4	А	8	32		
ADVANCED C PROGRAM BCA-122 *	MING 023 * 001				024 FFF	4	F	0	0		
OPERATING SYSTEMS BCA-123 *	CONCEPTS 025 * 060				085	4	A+	9	36		
DATABASE MANAGEMEN BCA-124 *	IT SYSTEMS-I 029 * 059				088	4	A+	9	36		
COMPUTER ORGANIZAT BCA-125			• 020		034	1.5	A	8	12		
ADVANCED C PROGRAM BCA-126			* 026		038	1.5	A+	9	13.5		
OPERATING SYSTEMS BCA-127		* 013  *	* 027		040	1.5	A+	9	13.5		
DATABASE MANAGEMEN BCA-128	IT SYSTEMS - I				034	1.5		-	12		
Second Semeste Total Credit Poin	er SGPA :					-		-			
First Year Result	: Fail А.Т.К. <sup>-</sup>	r. Tot	al Cred	its E	arned :	40/44					
DEMOCRACY, ELECTIO 22999	N AND GOVERNA	NCE 			*"A"	2					
PHYSICAL EDUCATION G-1	GROUP-I, SEN	(II-N			*"A+"	2					
\$ 0.1											

СААР010790-МСЕ	SOCTETY	ΔΒΕΠΔ			er(Apr-				אים כ		Ε ΔΖΔΜ		
CAR DID JU HEL	JUCILII	ABLDA	INAMUAR	PUNE		221)	ARTS, SCIL	NCL 7				CAMP 03	
Min Max	INT 012 030	TH 028 070	INT 006 015	PR 014 035	INT 000 000	Tot	Crd	Grd	Grd Pnt				
PRN: 1342000591		no.: 53			GOUSIY		~~~ ~~~ AHIM MO		~~~ - RI	~~~ JWANA			
FUNDAMENTALS OF BCA-111	COMPUTEI P 027					090	4	0	10	40			
PROBLEM SOLVING BCA-112	AND C PI P 024		ING 			091	4	0	10	40			
APPLIED MATHEMA BCA-113	FICS P 026	P 041				067	4	А	8	32			
BUSINESS COMMUNI BCA-114		P 055				080	4	A+	9	36			
FUNDAMENTALS OF BCA-115	COMPUTEI	RS LABO 	ratory p 015	P 031		046	1.5	0	10	15			
C PROGRAMMING LA BCA-116	ABORATOR	Y	р 015	P 035		050	1.5	0	10	15			
APPLIED MATHEMAT BCA-117	FICS LAB	ORATORY	P 015	P 027		042	1.5	A+	9	13.5			
BUSINESS COMMUNI BCA-118	CATION I	LABORAT	ORY P 015	P 033		048	1.5	0	10	15			
First Semest Total Credit Po			6 Credi	ts Earno	ed/Tota	1:2	2/22						
COMPUTER ORGANIZ BCA-121		* 049				077	4	A+	9	36			
ADVANCED C PROGE BCA-122	RAMMING * 028	* 060				088	4	A+	9	36			
OPERATING SYSTEM BCA-123		PTS * 064				092	4	0	10	40			
DATABASE MANAGEN BCA-124	4ENT SYS * 029					098	4	0	10	40			
COMPUTER ORGANIZ BCA-125	ZATION L	ABORATO		* 035		050	1.5	0	10	15			
ADVANCED C PROGE BCA-126	RAMMING I	LABORAT	ORY * 015	* 034		049	1.5	0	10	15			
OPERATING SYSTEM BCA-127			* 015			049	1.5	0	10	15			
DATABASE MANAGEM BCA-128	MENT SYS		I LABOR/ * 015			049	1.5	0	10	15			
Second Semes Total Credit Po			36 Cred <sup>-</sup>	its Earı	ned/Tota	al :	22/22						
First Year Tota	l Credit	s Earne	d : 44/4	44									
DEMOCRACY, ELECT 22999	FION AND	GOVERN	ANCE		:	*"B+"	2						
PHYSICAL EDUCATI G-1	EON (GROU	UP-I, S 	EM-II) 		:	*"0"	2						
								• • • • •					

СААР010790-МСЕ	SOCIETY	ABEDA 1	COTTE INAMDAR	SEN		LLEG		S,SCIE	NCE A	AND C	OMMERC	E AZAM	CAMF	ึงบร
Min Max	030	TH 028 070	INT 006 015	03	L4 35	INT 000 000		Crd		Grd Pnt	Pnt			
PRN: 1342000592		no.: 539					A AFZAL	Moth		~~~ AYES				
FUNDAMENTALS OF BCA-111		rs p 069					097	4	0	10	40			
PROBLEM SOLVING BCA-112	AND C P P 023	ROGRAMMI P 064	ING 				087	4	A+	9	36			
APPLIED MATHEMA BCA-113	TICS P 030	P 060					090	4	0	10	40			
BUSINESS COMMUN BCA-114	ICATION P 028	Р 064					092	4	0	10	40			
FUNDAMENTALS OF BCA-115	COMPUTE	RS LABOR	RATORY P 015	Р 03	33		048	1.5	0	10	15			
C PROGRAMMING L BCA-116	ABORATOR	Y	р 014	Р 02	26		040	1.5	A+	9	13.5			
APPLIED MATHEMA BCA-117	TICS LAB	ORATORY	р 014	Р 03	32		046	1.5	0	10	15			
BUSINESS COMMUN BCA-118	ICATION	LABORATO	DRY P 015	Р 03	34		049	1.5	0	10	15			
First Semes Total Credit P			) Credi	ts Ea	arned/	Tota	1 : 22/2	2						
COMPUTER ORGANI BCA-121	ZATION * 030	* 046					076	4	A+	9	36			
ADVANCED C PROG BCA-122	RAMMING * 029	* 056					085	4	A+	9	36			
OPERATING SYSTE BCA-123		PTS * 063					091	4	0	10	40			
DATABASE MANAGE BCA-124		TEMS-I * 070					100	4	0	10	40			
COMPUTER ORGANI BCA-125	ZATION L		<pre>XY  * 013</pre>	* 03	35		048	1.5	0	10	15			
ADVANCED C PROG BCA-126	RAMMING	LABORATO	DRY * 015	* 03	34		049	1.5	0	10	15			
OPERATING SYSTE BCA-127			* 015				046	1.5	0	10	15			
DATABASE MANAGE BCA-128			* 015	* 03	32			1.5	0	10	15			
Second Seme Total Credit P			86 Cred	its I	Earned	/Tota	al : 22/2	22						
First Year Tota	l Credit	s Earned	1 : 44/	14										
DEMOCRACY, ELEC 22999	TION AND	GOVERNA	NCE 			:	*"A+"	2						
PHYSICAL EDUCAT G-1	ION (GRO	UP-I, SE 	EM-II) 			:	*"0"	2						

CAAPO10790-MCE SOCTETY AF	DA TNAMDAR SENTOR COLLEGE	OF ARTS, SCIENCE AND COMMERCE AZAM CAMPUS								
CARIOIOTIO MEL SOCIETT AL										
	PUNE . (022	1)								

				FUNE	•	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,				
Min Max	030	ТН 028 070	INT 006 015	PR 014 035	000 000	Tot			_	Pnt
PRN: 1342000593		no.: 540							~~~ 4JAD/	
FUNDAMENTALS OF		-				070			•	26
BCA-111 PROBLEM SOLVING						078	4	A+	9	36
BCA-112	P 025	P 043				068	4	А	8	32
APPLIED MATHEMA	TICS P 027	P 031				058	4	в.	7	28
BCA-113 BUSINESS COMMUN		P 031				038	4	B+	1	20
BCA-114	P 025	P 050				075	4	A+	9	36
FUNDAMENTALS OF BCA-115	COMPUTE			<b>•</b> 031		045	1.5	0	10	15
C PROGRAMMING L	ABORATOR	-	014 1	051		045	1.5	U	10	13
BCA-116		F	• 014 F	P 029		043	1.5	A+	9	13.5
APPLIED MATHEMA BCA-117	TICS LAB		9014 F	P 028		042	1.5	A+	9	13.5
BUSINESS COMMUN	ICATION			010		• • =			0	
BCA-118		-		o 032		047	1.5	0	10	15
First Semes Total Credit P			Credits	s Earn	ed/Tota	al : 22	2/22			
COMPUTER ORGANI	ZATION									
BCA-121	* 024	* 043				067	4	A	8	32
ADVANCED C PROG BCA-122	RAMMING * 024	* 048				072	4	А	8	32
OPERATING SYSTE									_	
BCA-123		* 062				087	4	A+	9	36
DATABASE MANAGE BCA-124		TEMS-I * 069				096	4	0	10	40
COMPUTER ORGANI									_	
BCA-125				* 030		044	1.5	A+	9	13.5
ADVANCED C PROG BCA-126	RAMMING			* 033		047	1.5	0	10	15
OPERATING SYSTE								_	-	4 <b>-</b> -
BCA-127				* 024		038	1.5	A+	9	13.5
DATABASE MANAGE BCA-128		IEMS - 1 *				035	1.5	А	8	12
Second Seme Total Credit P	ster SGP oints: 1	A : 8.818 94	Credi	ts Ear	ned/Tot	al : 2	22/22			
First Year Tota	l Credit	s Earned	: 44/44	1						
DEMOCRACY, ELEC 22999	TION AND	GOVERNAN	ICE			*"0"	2			
PHYSICAL EDUCAT	ION (GRO	UP-I, SEM	1-II)			*"^ ·	2			
G-1						" A+	2			
			• • • • • • •			••••			• • • •	

College Ledger(Apr CAAP010790-MCE SOCIETY ABEDA INAMDAR SENIOR COLLEG PUNE . (0	
INT TH INT PR INT Min 012 028 006 014 000 Max 030 070 015 035 000	Tot Crd Grd Grd Crd Pnt Pnt
PRN: 1342000594 Seat no.: 541 NAME: KHAN FARHAN	
FUNDAMENTALS OF COMPUTERS BCA-111 P 027 P 069	096 4 0 10 40
PROBLEM SOLVING AND C PROGRAMMING BCA-112 P 023 P 064	087 4 A+ 9 36
APPLIED MATHEMATICS BCA-113 P 028 P 043	071 4 A 8 32
BUSINESS COMMUNICATION BCA-114 P 028 P 055	083 4 A+ 9 36
FUNDAMENTALS OF COMPUTERS LABORATORY BCA-115 P 014 P 031	045 1.5 0 10 15
C PROGRAMMING LABORATORY BCA-116 P 014 P 029	043 1.5 A+ 9 13.5
APPLIED MATHEMATICS LABORATORY BCA-117 P 014 P 030	044 1.5 A+ 9 13.5
BUSINESS COMMUNICATION LABORATORY BCA-118 P 015 P 031	046 1.5 0 10 15
First Semester SGPA : 9.136 Credits Earned/Tota Total Credit Points: 201	al : 22/22
COMPUTER ORGANIZATION BCA-121 * 028 * 042	070 4 A 8 32
ADVANCED C PROGRAMMING BCA-122 * 028 * 057	085 4 A+ 9 36
OPERATING SYSTEMS CONCEPTS BCA-123 * 028 * 057	085 4 A+ 9 36
DATABASE MANAGEMENT SYSTEMS-I BCA-124 * 029 * 070	099 4 0 10 40
COMPUTER ORGANIZATION LABORATORY BCA-125 * 014 * 025	039 1.5 A+ 9 13.5
ADVANCED C PROGRAMMING LABORATORY BCA-126 * 014 * 034	048 1.5 0 10 15
OPERATING SYSTEMS LABORATORY BCA-127 * 014 * 032	046 1.5 0 10 15
DATABASE MANAGEMENT SYSTEMS - I LABORATORY BCA-128 + 013 * 034	047 1.5 0 10 15
Second Semester SGPA : 9.205 Credits Earned/Tot Total Credit Points: 202.5	cal : 22/22
First Year Total Credits Earned : 44/44	
DEMOCRACY, ELECTION AND GOVERNANCE 22999	*"A+" 2
PHYSICAL EDUCATION (GROUP-I, SEM-II) G-1	*"0" 2

### Savitribai Phule Pune University

### BCA\_Sc\_2019Pattern (CREDIT PATTERN)

College Ledger(Apr-2021) CAAP010790-MCE SOCIETY ABEDA INAMDAR SENIOR COLLEGE OF ARTS, SCIENCE AND COMMERCE AZAM CAMPUS PUNE . (0221) INT INT ΤН INT PR Tot Crd Grd Grd Crd Min 012 028 006 000 014 Pnt Pnt Мах 030 070 015 035 000  $\sim \sim \sim$ ~~~~ ~~~~  $\sim \sim \sim$  $\sim \sim \sim \sim$ ~~~ ~~~  $\sim \sim \sim$ ~~~ ~~~ ~~~ PRN: 1342000595 Seat no.: 542 NAME: KHAN HAMZA MUBARAK Mother - SHAKEELA KHATOON FUNDAMENTALS OF COMPUTERS BCA-111 P 023 P 059 \_\_\_ 082 4 A+ 9 36 \_\_\_ \_ \_ \_ PROBLEM SOLVING AND C PROGRAMMING P 023 P 059 082 4 9 36 BCA-112 \_\_\_ \_ \_ \_ A+ APPLIED MATHEMATICS P 025 P 042 4 BCA-113 067 А 8 32 \_\_\_ \_\_\_ \_\_\_ BUSINESS COMMUNICATION P 028 P 045 BCA-114 073 4 8 32 \_\_\_ \_\_\_ \_\_\_ А FUNDAMENTALS OF COMPUTERS LABORATORY 10 P 033 047 1.5 15 --- P 014 0 BCA-115 \_\_\_ \_ \_ \_ C PROGRAMMING LABORATORY P 014 \_\_\_ P 029 043 1.5 9 13.5 BCA-116 \_\_\_ \_\_\_ A+ APPLIED MATHEMATICS LABORATORY P 014 BCA-117 \_\_\_ \_\_\_ P 029 \_\_\_ 043 1.5 A+ 9 13.5 BUSINESS COMMUNICATION LABORATORY BCA-118 \_\_\_ --- P 015 P 033 \_\_\_ 048 1.5 0 10 15 First Semester SGPA : 8.773 Credits Earned/Total : 22/22 Total Credit Points: 193 COMPUTER ORGANIZATION BCA-121 \* 027 \* 031 058 4 B+ 7 28 \_\_\_ ADVANCED C PROGRAMMING \* 027 \* 045 072 4 8 32 BCA-122 Α \_ \_ \_ ---\_\_\_ OPERATING SYSTEMS CONCEPTS \* 027 082 4 9 \* 055 36 BCA-123 \_ \_ \_ \_\_\_ \_\_\_ A+ DATABASE MANAGEMENT SYSTEMS-I \* 028 \* 063 091 10 4 40 BCA-124 \_\_\_ \_ \_ \_ 0 \_ \_ \_ COMPUTER ORGANIZATION LABORATORY \* 012 \* 020 \_\_\_ BCA-125 ---\_\_\_ 032 1.5А 8 12 ADVANCED C PROGRAMMING LABORATORY BCA-126 \_\_\_ \* 013 \* 026 \_\_\_ 039 1.5 A+ 9 13.5 OPERATING SYSTEMS LABORATORY --- \* 014 \* 034 048 10 BCA-127 ---\_\_\_ 1.5 0 15 DATABASE MANAGEMENT SYSTEMS - I LABORATORY --- \* 013 \* 029 --- 042 1.5 9 13.5 BCA-128 A+ Second Semester SGPA : 8.636 Credits Earned/Total : 22/22 Total Credit Points: 190 First Year Total Credits Earned : 44/44 DEMOCRACY, ELECTION AND GOVERNANCE --- \*"0" 22999 2 \_\_\_ \_\_\_ PHYSICAL EDUCATION (GROUP-I, SEM-II) --- \*"0" 2 G-1 \_ \_ \_ \_\_\_ \_\_\_ \_\_\_ 

		College	e Ledg	er(Apr	-2021	L)					
CAAP010790-MCE SOC	IETY ABEDA	INAMDAR S	SENIOR PUNE		GE OF	ARTS,SCIE	ENCE	AND C	COMMERCE	AZAM	CAMPUS
Min	INT TH 012 028 030 070	INT 006 015	PR 014 035	000 000	Tot	Crd			Pnt		
PRN: 1342000596 S	eat no.: 54	43 NAME:				~~~ ~~~ Mother		~~~ MAS	~~~		
FUNDAMENTALS OF COM BCA-111 P	IPUTERS 029 P 062				091	4	0	10	40		
PROBLEM SOLVING AND BCA-112 P	C PROGRAM 025 P 050	MING 			075	4	A+	9	36		
APPLIED MATHEMATICS BCA-113 P	028 P 028 \$				056	4	B+	7	28		
BUSINESS COMMUNICAT BCA-114 P					073	4	А	8	32		
FUNDAMENTALS OF COM BCA-115	IPUTERS LAB		o 033		048	1.5	0	10	15		
C PROGRAMMING LABOR BCA-116	ATORY	P 015 F	029		044	1.5	A+	9	13.5		
		P 015 F	o 034		049	1.5	0	10	15		
BUSINESS COMMUNICAT BCA-118			o 034		049	1.5	0	10	15		
First Semester Total Credit Point	SGPA : 8.84 s: 194.5	41 Credits	5 Earn	ed/Tota	เ] : 2	2/22					
COMPUTER ORGANIZATI BCA-121 *	ON 028 * 039				067	4	А	8	32		
ADVANCED C PROGRAMM BCA-122 *	IING 028 * 050				078	4	A+	9	36		
OPERATING SYSTEMS C BCA-123 *	ONCEPTS 027 * 063				090	4	0	10	40		
DATABASE MANAGEMENT BCA-124 *	SYSTEMS-I 030 * 070				100	4	0	10	40		
COMPUTER ORGANIZATI BCA-125	ON LABORATO		• 030		045	1.5	0	10	15		
ADVANCED C PROGRAMM BCA-126	IING LABORA		6 033		048	1.5	0	10	15		
OPERATING SYSTEMS L BCA-127	ABORATORY	* 015 *	• 033		048	1.5	0	10	15		
DATABASE MANAGEMENT BCA-128		I LABORAT * 015 *	ORY 033		048	1.5	0	10	15		
Second Semester Total Credit Point		455 Credit	s Ear	ned/Tot	:al :	22/22					
First Year Total Cr	edits Earne	ed : 44/44	Ļ								
DEMOCRACY, ELECTION 22999	AND GOVER	NANCE			*"A"	2					
PHYSICAL EDUCATION G-1	(GROUP-I, 9	SEM-II) 			*"0"	2					
\$ 0.1											
									• • • • • • • • •	•••	

### Savitribai Phule Pune University

### BCA\_Sc\_2019Pattern (CREDIT PATTERN)

College Ledger(Apr-2021) CAAP010790-MCE SOCIETY ABEDA INAMDAR SENIOR COLLEGE OF ARTS, SCIENCE AND COMMERCE AZAM CAMPUS PUNE . (0221) INT INT ΤН INT PR Tot Crd Grd Grd Crd Min 012 028 006 000 014 Pnt Pnt Мах 030 070 015 035 000 ~~~ ~~~ ~~~  $\sim \sim \sim$ ~~~~  $\sim \sim \sim$  $\sim \sim \sim \sim$ ~~~~ ~~~ ~~~ ~~~ PRN: 1342000597 NAME: KHAN MOHAMMED UMAR SAMIR Mother - ALIYA Seat no.: 544 FUNDAMENTALS OF COMPUTERS BCA-111 P 027 P 050 \_\_\_ \_\_\_ \_\_\_ 077 4 A+ 9 36 PROBLEM SOLVING AND C PROGRAMMING P 026 P 046 072 4 8 32 BCA-112 \_\_\_ \_ \_ \_ А APPLIED MATHEMATICS P 028 P 036 4 BCA-113 064 А 8 32 \_\_\_ \_\_\_ \_\_\_ BUSINESS COMMUNICATION P 028 P 034 BCA-114 062 4 А 8 32 \_\_\_ \_\_\_ \_\_\_ FUNDAMENTALS OF COMPUTERS LABORATORY 10 P 033 047 1.5 15 --- P 014 0 BCA-115 \_\_\_ \_ \_ \_ C PROGRAMMING LABORATORY P 014 \_\_\_ P 029 043 1.5 9 13.5 BCA-116 \_\_\_ \_\_\_ A+ APPLIED MATHEMATICS LABORATORY P 014 BCA-117 \_\_\_ \_\_\_ P 026 \_\_\_ 040 1.5 A+ 9 13.5 BUSINESS COMMUNICATION LABORATORY BCA-118 \_\_\_ --- Р 014 Р 032 \_\_\_ 046 1.5 0 10 15 First Semester SGPA : 8.591 Credits Earned/Total : 22/22 Total Credit Points: 189 COMPUTER ORGANIZATION BCA-121 \* 027 \* 046 073 4 А 8 32 ADVANCED C PROGRAMMING \* 025 \* 053 078 4 9 36 BCA-122 A+ \_ \_ \_ ---\_ \_ \_ OPERATING SYSTEMS CONCEPTS \* 026 092 4 10 40 \* 066 0 BCA-123 \_ \_ \_ \_\_\_ \_\_\_ DATABASE MANAGEMENT SYSTEMS-I \* 028 \* 064 092 4 10 40 BCA-124 \_ \_ \_ \_\_\_ \_\_\_ 0 COMPUTER ORGANIZATION LABORATORY \* 014 \_\_\_ BCA-125 ---\* 033 \_\_\_ 047 1.5 0 10 15 ADVANCED C PROGRAMMING LABORATORY BCA-126 \_\_\_ \* 013 \* 033 \_\_\_ 046 1.5 0 10 15 OPERATING SYSTEMS LABORATORY --- \* 014 \* 024 038 9 13.5 BCA-127 ---\_\_\_ 1.5 A+ DATABASE MANAGEMENT SYSTEMS - I LABORATORY --- \* 013 \* 022 --- 035 1.5 A 8 12 BCA-128 Second Semester SGPA : 9.250 Credits Earned/Total : 22/22 Total Credit Points: 203.5 First Year Total Credits Earned : 44/44 DEMOCRACY, ELECTION AND GOVERNANCE --- \*"A+" 22999 2 \_\_\_ \_\_\_ PHYSICAL EDUCATION (GROUP-I, SEM-II) --- \*"0" \_\_\_ 2 G-1 \_ \_ \_ \_\_\_ \_\_\_ 

				ge Ledg									
СААР010790-МСЕ	SOCIETY	ABEDA	INAMDAR	SENIOR PUNE		E OF 221)	ARTS,SCIE	INCE	AND (	COMMER	CE AZAM	I CAMPU	S
Min Max	INT 012 030	ТН 028 070	INT 006 015	PR 014 035	INT 000 000	Tot	Crd	Grd	Grd Pnt	Crd Pnt			
PRN: 1342000598	~~~~~	~~~~~	~~~~~~~ 5 NAME		~~~~~		~~~ ~~~	her	~~~ _ SII(				
FUNDAMENTALS OF					HUJAHL			.nei	500	JINA			
BCA-111	P 026					089	4	A+	9	36			
PROBLEM SOLVING BCA-112	and c p p 027	ROGRAMM P 055	ING 			082	4	A+	9	36			
APPLIED MATHEMAT BCA-113	ICS P 026	р 049				075	4	A+	9	36			
BUSINESS COMMUNI BCA-114	CATION P 029	P 052				081	4	A+	9	36			
FUNDAMENTALS OF BCA-115				P 033		047	1.5	0	10	15			
C PROGRAMMING LA BCA-116	BORATOR	Y	P 014	р 029		043	1.5	A+	9	13.5			
APPLIED MATHEMAT BCA-117	ICS LAB		P 014	P 030		044	1.5	A+	9	13.5			
BUSINESS COMMUNI BCA-118	CATION	LABORAT	ORY P 015	р 031		046	1.5	0	10	15			
First Semest Total Credit Po			6 Credit	s Earne	ed/Tota	1:2	2/22						
COMPUTER ORGANIZ BCA-121	ATION * 029	* 049				078	4	A+	9	36			
ADVANCED C PROGR BCA-122	AMMING * 026	* 053				079	4	A+	9	36			
OPERATING SYSTEM BCA-123	s conce * 025					082	4	A+	9	36			
DATABASE MANAGEM BCA-124	ENT SYS * 029					099	4	0	10	40			
COMPUTER ORGANIZ BCA-125				* 025		039	1.5	A+	9	13.5			
ADVANCED C PROGR BCA-126	AMMING			* 027		040	1.5	A+	9	13.5			
OPERATING SYSTEM BCA-127	S LABOR	ATORY 	* 013	* 021		034	1.5	A	8	12			
DATABASE MANAGEM BCA-128	ENT SYS		I LABORA * 014			035	1.5	А	8	12			
Second Semes Total Credit Po			45 Credi	its Earı	ned/Tot	al :	22/22						
First Year Total	Credit	s Earne	d : 44/4	14									
DEMOCRACY, ELECT 22999	ION AND	GOVERN	ANCE			*"A+"	2						
PHYSICAL EDUCATI G-1	ON (GRO	UP-I, S	EM-II) 			*"0"	2						

a		Colleg			-						
CAAP010790-MCE	SOCIETY ABEDA	INAMDAR S	SENIOR PUNE .		E OF AR1 221)	rs,scie	ENCE A	ND C	OMMERCE	. AZAM	CAMPUS
Min Max	INT TH 012 028 030 070	015	PR 014 035	000 000	Tot	Crd	Grd	Grd Pnt	Pnt		
PRN: 1342000600	Seat no.: 5	46 NAME					er – N				
FUNDAMENTALS OF BCA-111	COMPUTERS P 029 P 053				082	4	A+	9	36		
PROBLEM SOLVING BCA-112	AND C PROGRAM P 026 P 041	-			067	4	A	8	32		
APPLIED MATHEMAT BCA-113	ICS P 029 P 028				057	4	B+	7	28		
BUSINESS COMMUNI BCA-114	CATION P 028 P 039				067	4	A	8	32		
FUNDAMENTALS OF BCA-115	COMPUTERS LAB		<b>&gt;</b> 031		045	1.5	0	10	15		
C PROGRAMMING LA BCA-116	BORATORY 	P 014 I	<b>029</b>		043	1.5	A+	9	13.5		
APPLIED MATHEMAT BCA-117	ICS LABORATOR		<b>•</b> 033		047	1.5	0	10	15		
BUSINESS COMMUNI BCA-118	CATION LABORA		<b>&gt;</b> 031		046	1.5	0	10	15		
First Semest Total Credit Po	er SGPA : 8.4 ints: 186.5	77 Credits	s Earne	ed/Tota	1 : 22/2	22					
COMPUTER ORGANIZ BCA-121	ATION * 030 * 048				078	4	A+	9	36		
ADVANCED C PROGR BCA-122	AMMING * 028 * 055				083	4	A+	9	36		
OPERATING SYSTEM BCA-123	S CONCEPTS * 027 * 052				079	4	A+	9	36		
DATABASE MANAGEM BCA-124	ENT SYSTEMS-I * 028 * 063				091	4	0	10	40		
COMPUTER ORGANIZ BCA-125	ATION LABORAT		* 020		034	1.5	A	8	12		
ADVANCED C PROGR BCA-126	AMMING LABORA		* 027		041	1.5	A+	9	13.5		
OPERATING SYSTEM BCA-127		* 014	* 030		044	1.5	A+	9	13.5		
DATABASE MANAGEM BCA-128		I LABORA * 013			047	1.5	0	10	15		
Second Semes Total Credit Po	ter SGPA : 9. ints: 202	182 Credit	ts Earr	ned/Tota	al : 22,	/22					
First Year Total	Credits Earn	ed : 44/44	1								
DEMOCRACY, ELECT 22999	ION AND GOVER	NANCE			*"0"	2					
PHYSICAL EDUCATI G-1	ON (GROUP-I, 	SEM-II) 			*"0"	2					

CAAP010790-MCE SO	DCIETY	ABEDA II		-	OLLEG		RTS,SCIE	NCE A	AND C	COMMERCE AZAM CAMPUS
Min Max	INT 012 030	TH 028 070	INT 006 015	PR 014 035	000 000	Tot	Crd	Grd	Pnt	Pnt
PRN: 1342000601										~~~ - REHANABI
FUNDAMENTALS OF CO BCA-111	OMPUTER P 027					087	4	A+	9	36
PROBLEM SOLVING AN BCA-112		OGRAMMIN P 042	NG 			068	4	A	8	32
APPLIED MATHEMATIC BCA-113		P 041				069	4	A	8	32
BUSINESS COMMUNICA BCA-114		P 041				068	4	A	8	32
FUNDAMENTALS OF CO BCA-115	OMPUTER			033		048	1.5	0	10	15
C PROGRAMMING LABO BCA-116	DRATORY		Р 015 Р	029		044	1.5	A+	9	13.5
APPLIED MATHEMATIC BCA-117	CS LABO	-	Р 015 Р	033		048	1.5	0	10	15
BUSINESS COMMUNICA BCA-118	ATION L		RY P 015 P	034		049	1.5	0	10	15
First Semester Total Credit Poir			Credits	Earneo	l/Tota	1:22,	/22			
COMPUTER ORGANIZAT		* 038				068	4	A	8	32
ADVANCED C PROGRAM BCA-122		* 035				064	4	A	8	32
OPERATING SYSTEMS BCA-123	CONCEP * 029					093	4	0	10	40
DATABASE MANAGEMEN BCA-124	NT SYST * 029					099	4	0	10	40
COMPUTER ORGANIZAT BCA-125	FION LA	BORATOR	r * 014  *	030		044	1.5	A+	9	13.5
ADVANCED C PROGRAM BCA-126	MMING L			027		042	1.5	A+	9	13.5
OPERATING SYSTEMS BCA-127	LABORA		* 015 *	034		049	1.5	0	10	15
DATABASE MANAGEMEN BCA-128	NT SYST		LABORAT * 015 *	ORY 028		043	1.5	A+	9	13.5
Second Semeste Total Credit Poir	er SGPA nts: 19	(; 9.068 9.5	3 Credit	s Earne	ed/Tot	al : 22	2/22			
First Year Total (	Credits	Earned	: 44/44							
DEMOCRACY, ELECTIO	ON AND	GOVERNA	NCE 			*"C"	2			
PHYSICAL EDUCATION G-1	N (GROU	IP-I, SEN 	M-II) 			*"0"	2			
									••••	

CAAP010790-MCE	SOCIETY	ABEDA I		SENIOR		ARTS, SCI	ENCE	AND C	OMME	RCE AZAM	
	INT	TH	INT	PUNE PR	INT TO		Grd	Grd			
Min Max	012 030	028 070	006 015	014 035	000 000 ~~~~~ ~~			Pnt	_		
PRN: 1342000602					HMAD RAZA N					HUSNEARA	
FUNDAMENTALS OF BCA-111	COMPUTE P 026				078	3 4	A+	9	36		
PROBLEM SOLVING BCA-112	AND C P P 025	ROGRAMMI P 055	NG 		080	) 4	A+	9	36		
APPLIED MATHEMAT BCA-113	P 027	р 042			069	) 4	A	8	32		
BUSINESS COMMUNI BCA-114	CATION P 029	р 049			078	3 4	A+	9	36		
FUNDAMENTALS OF BCA-115	COMPUTE	RS LABOR		р 033	047	7 1.5	0	10	15		
C PROGRAMMING LA BCA-116	BORATOR		р 012	р 029	042	L 1.5	A+	9	13.5		
APPLIED MATHEMAT BCA-117	ICS LAB	ORATORY	P 013	P 028	041	L 1.5	A+	9	13.5		
BUSINESS COMMUNI BCA-118	CATION			P 031	046	5 1.5	0	10	15		
First Semest Total Credit Po			Credi	ts Earn	ed/Total :	22/22					
COMPUTER ORGANIZ BCA-121	ATION * 029	* 035			064	4 4	А	8	32		
ADVANCED C PROGE BCA-122	RAMMING * 025	* 039			064	4 4	A	8	32		
OPERATING SYSTEM BCA-123	1S CONCE * 024				076	5 4	A+	9	36		
DATABASE MANAGEM BCA-124	1ENT SYS * 027				084	4 4	A+	9	36		
COMPUTER ORGANIZ BCA-125	ATION L	ABORATOR	Y * 014	* 022	036	5 1.5	А	8	12		
ADVANCED C PROGE BCA-126	RAMMING		RY * 014	* 028	042	2 1.5	A+	9	13.5		
OPERATING SYSTEM BCA-127	IS LABOR		* 014	* 029	043	3 1.5	A+	9	13.5		
DATABASE MANAGEN BCA-128					043	3 1.5	A+	9	13.5		
Second Semes Total Credit Po			8 Cred	its Ear	ned/Total	22/22					
First Year Tota	Credit	s Earned	: 44/	44							
DEMOCRACY, ELECT	ION AND	GOVERNA	NCE		*"0'	' 2					
PHYSICAL EDUCATI G-1	ON (GRO	UP-I, SE 	M-II) 		*"A-	-" 2	2				

CAAP010790-MCE SC	CIETY ABEDA		JE LEAGO SENIOR				ENCE A	AND (		E AZAM	CAMPUS
			PUNE .	(0	221)						
Min	INT TH 012 028 030 070		PR 014 035	000	Tot	Crd	Grd	Grd Pnt	Crd Pnt		
	~~~~ ~~~~~	~~~~~ ~	~~~~~ ~			~~~ ~~~		~~~			
PRN: 1342000603	Seat no.: 5	649 NAME	E: MEMON	MUSHT	AQ MOH	IAMMED	Mothe	er -	SALMA		
FUNDAMENTALS OF CO BCA-111 F	026 P 055	;			081	4	A+	9	36		
PROBLEM SOLVING AN BCA-112 F	ND C PROGRAM P 026 P 042				068	4	A	8	32		
APPLIED MATHEMATIC BCA-113 F	CS 2027 P042	2			069	4	А	8	32		
BUSINESS COMMUNICA BCA-114 F	ATION 2028 P 038	3			066	4	А	8	32		
FUNDAMENTALS OF CC BCA-115	MPUTERS LAE		P 033		048	1.5	0	10	15		
C PROGRAMMING LABC BCA-116	RATORY	• р 015	Р 029		044	1.5	A+	9	13.5		
APPLIED MATHEMATIC BCA-117	S LABORATOR		P 031		045	1.5	0	10			
BUSINESS COMMUNICA BCA-118	TION LABORA	TORY			049	1.5	0	10	15		
First Semester	<sup>-</sup> SGPA : 8.6					-	0	10	T		
Total Credit Poir											
-	* 030 * 053	s			083	4	A+	9	36		
ADVANCED C PROGRAM BCA-122 *	MING * 022 * 053	}			075	4	A+	9	36		
OPERATING SYSTEMS BCA-123	CONCEPTS	s			086	4	A+	9	36		
DATABASE MANAGEMEN BCA-124	NT SYSTEMS-1 025 * 069				094	4	0	10	40		
COMPUTER ORGANIZAT BCA-125	ION LABORAT		* 035		050	1.5	0	10	15		
ADVANCED C PROGRAM BCA-126	MING LABORA		* 027		041	1.5	A+	9	13.5		
OPERATING SYSTEMS BCA-127	LABORATORY	· * 013	* 030		043	1.5	A+	9	13.5		
DATABASE MANAGEMEN BCA-128		· I LABORA · * 014			038	1.5	A+	9	13.5		
Second Semeste Total Credit Poir		250 Credi	ts Earn								
First Year Total C		ned : 44/4	14								
DEMOCRACY, ELECTIC 22999					*"A"	2					
PHYSICAL EDUCATION	↓ (GROUP-I,	SEM-II)			*"A+"	2					
						-					

CAAP010790-MCE SOCIETY	ABEDA INAMDAR SENIOR	COLLEGE OF ARTS, SC	CIENCE AND COMMERCE	AZAM CAMPUS								
	PUNE	. (0221)										

				PUNE .	()	221)				
Min Max	INT 012 030	TH 028 070	INT 006 015	PR 014 035	INT 000 000	Tot	Crd		Grd Pnt	Crd Pnt
PRN: 1342000604		~~~~~ ~~ no.: 550						er -	~~~ AFRE	EEN
FUNDAMENTALS OF BCA-111		rs P 066				092	4	0	10	40
PROBLEM SOLVING BCA-112	-	ROGRAMMIN P 053	G 			072	4	А	8	32
APPLIED MATHEMAT BCA-113	ICS P 028	P 041				069	4	А	8	32
BUSINESS COMMUNI BCA-114	CATION P 027	P 056				083	4	A+	9	36
FUNDAMENTALS OF BCA-115		P	-	031		045	1.5	0	10	15
C PROGRAMMING LA BCA-116		P	014 Р	026		040	1.5	A+	9	13.5
APPLIED MATHEMAT BCA-117		P		022		036	1.5	A	8	12
BUSINESS COMMUNI BCA-118		P	015 P	034		049	1.5	0	10	15
First Semest Total Credit Po	ints: 19		Credits	Earne	d/Tota	1:22/2	2			
COMPUTER ORGANIZ BCA-121	* 030	* 053				083	4	A+	9	36
ADVANCED C PROGR BCA-122	* 029	* 055				084	4	A+	9	36
OPERATING SYSTEM BCA-123	* 028	* 052				080	4	A+	9	36
DATABASE MANAGEM BCA-124	ENT SYS * 030	-				087	4	A+	9	36
COMPUTER ORGANIZ BCA-125	ATION L			035		050	1.5	0	10	15
ADVANCED C PROGR BCA-126	AMMING			034		049	1.5	0	10	15
OPERATING SYSTEM BCA-127	IS LABOR		015 *	034		049	1.5	0	10	15
DATABASE MANAGEM BCA-128		*	015 *	034		049	1.5	0	10	15
Second Semes Total Credit Po			Credit	s Earn	ed/Tot	al : 22/	22			
First Year Total										
DEMOCRACY, ELECT 22999						*"A+"	2			
PHYSICAL EDUCATI G-1	ON (GROU	JP-I, SEM 				*"0"	2			
									• • • •	

				je Leage									
СААР010790-МСЕ	SOCIETY	ABEDA	INAMDAR	SENIOR PUNE .		E OF / )221)	ARTS, SCI	ENCE A	AND (	COMMERC	E AZAM	CAMPL	JS
Min Max	INT 012 030	TH 028 070	INT 006 015	PR 014 035	INT 000 000	Tot	Crd	Grd	Pnt	Pnt			
PRN: 1342000605		no.: 55		E: MISHR				~~~ Mother					
FUNDAMENTALS OF BCA-111	COMPUTE P 028					087	4	A+	9	36			
PROBLEM SOLVING BCA-112	AND C P P 027		ING 			072	4	А	8	32			
APPLIED MATHEMAT BCA-113	ICS P 026	P 034				060	4	А	8	32			
BUSINESS COMMUNI BCA-114	CATION P 029	P 052				081	4	A+	9	36			
FUNDAMENTALS OF BCA-115	COMPUTE	RS LABOI		P 033		048	1.5	0	10	15			
C PROGRAMMING LA BCA-116	BORATOR	Y	P 014	р 029		043	1.5	A+	9	13.5			
APPLIED MATHEMAT BCA-117	ICS LAB	ORATORY	P 014	P 031		045	1.5	0	10	15			
BUSINESS COMMUNI BCA-118	CATION	LABORAT	ORY P 015	P 032		047	1.5	0	10	15			
First Semest Total Credit Po			1 Credit	ts Earne	d/Tota	1 : 22	2/22						
COMPUTER ORGANIZ BCA-121		* 041				071	4	А	8	32			
ADVANCED C PROGR BCA-122	AMMING * 026	* 045				071	4	А	8	32			
OPERATING SYSTEM BCA-123	IS CONCE * 027					083	4	A+	9	36			
DATABASE MANAGEM BCA-124	IENT SYS * 028					098	4	0	10	40			
COMPUTER ORGANIZ BCA-125	ATION L	ABORATOI		* 035		050	1.5	0	10	15			
ADVANCED C PROGR BCA-126	AMMING	LABORAT(	ORY * 015	* 033		048	1.5	0	10	15			
OPERATING SYSTEM BCA-127			020	* 029		044	1.5	A+	9	13.5			
DATABASE MANAGEM BCA-128			* 014	* 033		047		0	10	15			
Second Semes Total Credit Po			23 Credi	its Earn	ed/⊤ot	al : 2	22/22						
First Year Total	Credit	s Earne	d : 44/4	14									
DEMOCRACY, ELECT 22999	ION AND	GOVERN	ANCE			*"A+"	2	2					
PHYSICAL EDUCATI G-1	ON (GRO	UP-I, SI 	EM-II) 			*"0"	2						

### Savitribai Phule Pune University

### BCA\_Sc\_2019Pattern (CREDIT PATTERN)

College Ledger(Apr-2021) CAAP010790-MCE SOCIETY ABEDA INAMDAR SENIOR COLLEGE OF ARTS, SCIENCE AND COMMERCE AZAM CAMPUS PUNE . (0221) INT INT ΤН INT PR Tot Crd Grd Grd Crd Min 012 028 006 014 000 Pnt Pnt Мах 030 070 015 035 000 ~~~~ ~~~ ~~~ ~~~  $\sim \sim \sim$ ~~~~  $\sim \sim \sim$  $\sim \sim \sim \sim$ ~~~ ~~~ ~~~ PRN: 1342000606 NAME: MOH AAKIB Seat no.: 552 MOH HANIF KACHCHHI Mother - SHABANA BANO FUNDAMENTALS OF COMPUTERS BCA-111 P 025 P 056 \_\_\_ 081 4 A+ 9 36 \_\_\_ \_ \_ \_ PROBLEM SOLVING AND C PROGRAMMING P 024 P 038 062 4 8 32 BCA-112 \_\_\_ \_ \_ \_ А APPLIED MATHEMATICS P 029 P 035 4 BCA-113 064 А 8 32 \_\_\_ \_\_\_ \_\_\_ BUSINESS COMMUNICATION P 029 P 057 BCA-114 086 4 9 36 \_\_\_ \_\_\_ \_\_\_ A+ FUNDAMENTALS OF COMPUTERS LABORATORY 10 P 033 047 1.5 0 15 --- P 014 BCA-115 \_\_\_ \_ \_ \_ C PROGRAMMING LABORATORY P 014 \_\_\_ P 023 037 1.5 8 12 BCA-116 \_\_\_ \_\_\_ А APPLIED MATHEMATICS LABORATORY P 014 10 15 BCA-117 \_\_\_ \_\_\_ P 031 \_\_\_ 045 1.5 0 BUSINESS COMMUNICATION LABORATORY BCA-118 \_\_\_ --- P 015 P 033 \_\_\_ 048 1.5 0 10 15 First Semester SGPA : 8.773 Credits Earned/Total : 22/22 Total Credit Points: 193 COMPUTER ORGANIZATION BCA-121 \* 030 \* 036 066 4 A 8 32 \_ \_ \_ ADVANCED C PROGRAMMING \* 028 \* 057 085 4 9 36 BCA-122 A+ \_ \_ \_ ---\_ \_ \_ OPERATING SYSTEMS CONCEPTS \* 028 095 4 10 \* 067 40 0 BCA-123 \_ \_ \_ \_\_\_ \_\_\_ DATABASE MANAGEMENT SYSTEMS-I \* 029 099 \* 070 4 10 40 BCA-124 \_\_\_ \_\_\_ 0 \_ \_ \_ COMPUTER ORGANIZATION LABORATORY \* 015 \_\_\_ BCA-125 \_\_\_ \* 020 \_\_\_ 035 1.5 А 8 12 ADVANCED C PROGRAMMING LABORATORY BCA-126 \_\_\_ \* 014 \* 030 \_ \_ \_ 044 1.5 A+ 9 13.5 OPERATING SYSTEMS LABORATORY --- \* 014 \* 032 046 10 BCA-127 ---\_\_\_ 1.5 0 15 DATABASE MANAGEMENT SYSTEMS - I LABORATORY --- \* 015 \* 030 --- 045 1.5 0 10 15 BCA-128 \_\_\_ Second Semester SGPA : 9.250 Credits Earned/Total : 22/22 Total Credit Points: 203.5 First Year Total Credits Earned : 44/44 DEMOCRACY, ELECTION AND GOVERNANCE --- \*"0" 22999 2 \_\_\_ \_\_\_ PHYSICAL EDUCATION (GROUP-I, SEM-II) --- \*"0" 2 G-1 \_\_\_ \_\_\_ \_\_\_ \_\_\_ 

COITEGE LEAGER(Ap CAAP010790-MCE SOCIETY ABEDA INAMDAR SENIOR COLL PUNE .	
INT TH INT PR IN Min 012 028 006 014 000 Max 030 070 015 035 000	T Tot Crd Grd Grd Crd 0 Pnt Pnt 0
PRN: 1342000607 Seat no.: 553 NAME: MOMIN ALI	
FUNDAMENTALS OF COMPUTERS BCA-111 P 028 P 052	- 080 4 A+ 9 36
PROBLEM SOLVING AND C PROGRAMMING BCA-112 P 026 P 052	- 078 4 A+ 9 36
APPLIED MATHEMATICS BCA-113 P 028 P 034	- 062 4 A 8 32
BUSINESS COMMUNICATION BCA-114 P 026 P 036	- 062 4 A 8 32
FUNDAMENTALS OF COMPUTERS LABORATORYBCA-115P014P033	- 047 1.5 0 10 15
C PROGRAMMING LABORATORY BCA-116 P 013 P 029	- 042 1.5 A+ 9 13.5
APPLIED MATHEMATICS LABORATORY BCA-117 P 014 P 029	- 043 1.5 A+ 913.5
BUSINESS COMMUNICATION LABORATORY BCA-118 P 015 P 033	- 048 1.5 0 10 15
First Semester SGPA : 8.773 Credits Earned/To Total Credit Points: 193	tal : 22/22
COMPUTER ORGANIZATION BCA-121 * 030 * 039	- 069 4 A 8 32
ADVANCED C PROGRAMMING BCA-122 * 027 * 042	- 069 4 A 8 32
OPERATING SYSTEMS CONCEPTS BCA-123 * 028 * 056	- 084 4 A+ 9 36
DATABASE MANAGEMENT SYSTEMS-I BCA-124 * 029 * 066	- 095 4 0 10 40
COMPUTER ORGANIZATION LABORATORY BCA-125 + 015 * 032	- 047 1.5 0 10 15
ADVANCED C PROGRAMMING LABORATORY BCA-126 * 015 * 032	- 047 1.5 0 10 15
OPERATING SYSTEMS LABORATORY BCA-127 * 015 * 033	- 048 1.5 0 10 15
DATABASE MANAGEMENT SYSTEMS - I LABORATORY BCA-128 * 015 * 032	- 047 1.5 0 10 15
Second Semester SGPA : 9.091 Credits Earned/To Total Credit Points: 200	otal : 22/22
First Year Total Credits Earned : 44/44	
DEMOCRACY, ELECTION AND GOVERNANCE 22999	- *"0" 2
PHYSICAL EDUCATION (GROUP-I, SEM-II) G-1	- *"0" 2

СААР010790-МСЕ	SOCIETY	ABEDA		ge Ledg SENIOR PUNE	COLLEG		TS,SCIE	NCE /	AND (	COMMERCE	AZAM	CAMPUS
Min Max		ТН 028 070	INT 006 015	PR 014 035	INT 000 000	Tot	Crd		Grd Pnt	Pnt		
PRN: 1342000609		no.: 55		E: MULL		RAFIK	~ ~~~ Mothe					
FUNDAMENTALS OF BCA-111		rs P 062				088	4	A+	9	36		
PROBLEM SOLVING BCA-112	AND C P P 027		IING 			087	4	A+	9	36		
APPLIED MATHEMA BCA-113	TICS P 028	P 041				069	4	А	8	32		
BUSINESS COMMUN BCA-114	ICATION P 028	P 042				070	4	А	8	32		
FUNDAMENTALS OF BCA-115	COMPUTE	RS LABO	RATORY P 014	P 033		047	1.5	0	10	15		
C PROGRAMMING L BCA-116	ABORATOR	Y	P 014	р 024		038	1.5	A+	9	13.5		
APPLIED MATHEMA BCA-117	TICS LAB	ORATORY	P 014	P 033		047	1.5	0	10	15		
BUSINESS COMMUN BCA-118			P 015	P 032		047	1.5	0	10	15		
First Semes Total Credit P			1 Credi	ts Earn	ed/Tota	1 : 22/	22					
COMPUTER ORGANI BCA-121	ZATION * 030	* 046				076	4	A+	9	36		
ADVANCED C PROG BCA-122	RAMMING * 027	* 041				068	4	А	8	32		
OPERATING SYSTE BCA-123	MS CONCE * 027					090	4	0	10	40		
DATABASE MANAGE BCA-124	MENT SYS * 029					098	4	0	10	40		
COMPUTER ORGANI BCA-125	ZATION L		RY * 014	* 020		034	1.5	А	8	12		
ADVANCED C PROG BCA-126				* 028		042	1.5	A+	9	13.5		
OPERATING SYSTE BCA-127			0±.	* 027		041	1.5	A+	9	13.5		
DATABASE MANAGE BCA-128			* 013	* 029			1.5	A+	9	13.5		
Second Seme Total Credit P	oints: 2	00.5			ned/Tot	al : 22	/22					
First Year Tota				44								
DEMOCRACY, ELEC 22999	TION AND	GOVERN	ANCE			*"0"	2					
PHYSICAL EDUCAT G-1	ION (GRO	UP-I, S 	EM-II) 			*"0"	2					
								• • • •				

CAAP010790-MCE SOCI		NAMDAR S	ENIOR C	OLLEG	E OF AR	TS,SCI	ENCE A	ND (	COMMERCE	AZAM	CAMPUS
Min O	NT TH 12 028 30 070	INT 006 015	PUNE . PR 014 035	(0 INT 000 000	221) Tot	Crd	Grd	Grd Pnt			
	~~ ~~~~~ ~~ at no.: 555				A MOULA		~~~ Mother				
FUNDAMENTALS OF COMP BCA-111 P 0	UTERS 24 P 060				084	4	A+	9	36		
PROBLEM SOLVING AND BCA-112 P 0	C PROGRAMMIN 21 P 032	IG 			053	4	В	6	24		
APPLIED MATHEMATICS BCA-113 P 0	25 P 043				068	4	A	8	32		
BUSINESS COMMUNICATI BCA-114 P 0	on 24 p 049				073	4	A	8	32		
FUNDAMENTALS OF COMP BCA-115 -			033		047	1.5	о	10	15		
C PROGRAMMING LABORA BCA-116 -		Р 014 Р	026		040	1.5	A+	9	13.5		
APPLIED MATHEMATICS BCA-117 -		Р 014 Р	032		046	1.5	о	10	15		
BUSINESS COMMUNICATIO		RY 2 015 Ρ	032		047	1.5	0	10	15		
First Semester So Total Credit Points		Credits	Earneo	d/Tota	1 : 22/	22					
COMPUTER ORGANIZATIO	N 27 * 042				069	4	А	8	32		
ADVANCED C PROGRAMMI BCA-122 * 0					080	4	A+	9	36		
OPERATING SYSTEMS CO BCA-123 * 0	NCEPTS 25 * 062				087	4	A+	9	36		
DATABASE MANAGEMENT BCA-124 * 0					098	4	0	10	40		
COMPUTER ORGANIZATIO			030		043	1.5	A+	9	13.5		
ADVANCED C PROGRAMMI BCA-126 -			027		041	1.5	A+	9	13.5		
OPERATING SYSTEMS LA BCA-127 -		* 014 *	029		043	1.5	A+	9	13.5		
DATABASE MANAGEMENT : BCA-128 -	SYSTEMS - I *	LABORAT * 014 *	ORY 025		039	1.5	A+	9	13.5		
Second Semester Total Credit Points		) Credit	s Earne	ed/Tot	al : 22	/22					
First Year Total Cre	dits Earned	: 44/44									
DEMOCRACY, ELECTION / 22999 -	AND GOVERNAM	ICE 			*"B"	2					
PHYSICAL EDUCATION ( G-1	GROUP-I, SEN 	1-II) 			*"A+"	2	2				
								••••			

Savitribai Phule Pune University Pune-411 007 BCA\_Sc\_2019Pattern (CREDIT PATTERN) College Ledger(Apr-2021) CAAP010790-MCE SOCIETY ABEDA INAMDAR SENIOR COLLEGE OF ARTS, SCIENCE AND COMMERCE AZAM CAMPUS PUNE . (0221)

PUNE . (0221)										
Min Max	INT 012 030	TH 028 070	INT 006 015	PR 014 035	INT 000 000	Tot	Crd		Grd Pnt	Pnt
PRN: 1342000611	Seat no						EEN SIKA			ther - ZAKERA
FUNDAMENTALS OF C BCA-111		055				083	4	A+	9	36
PROBLEM SOLVING A BCA-112		GRAMMIN 064	G 			089	4	A+	9	36
APPLIED MATHEMATI BCA-113		050				078	4	A+	9	36
BUSINESS COMMUNIC BCA-114		045				075	4	A+	9	36
FUNDAMENTALS OF C BCA-115	OMPUTERS			р 033		048	1.5	0	10	15
C PROGRAMMING LAB BCA-116	ORATORY	P	015	р 029		044	1.5	A+	9	13.5
APPLIED MATHEMATI BCA-117	CS LABOR		015	р 031		046	1.5	0	10	15
BUSINESS COMMUNIC BCA-118		P	015	р 034		049	1.5	0	10	15
First Semester SGPA : 9.205 Credits Earned/Total : 22/22 Total Credit Points: 202.5										
COMPUTER ORGANIZA BCA-121		049				079	4	A+	9	36
ADVANCED C PROGRA BCA-122		048				077	4	A+	9	36
OPERATING SYSTEMS BCA-123		S 063				092	4	0	10	40
DATABASE MANAGEME BCA-124		MS-I 067				097	4	0	10	40
COMPUTER ORGANIZA BCA-125	TION LAB			* 035		050	1.5	0	10	15
ADVANCED C PROGRA BCA-126	MMING LA			* 034		049	1.5	0	10	15
OPERATING SYSTEMS BCA-127	LABORAT	-	015	* 032		047	1.5	0	10	15
DATABASE MANAGEME BCA-128	NT SYSTE			TORY * 034		049	1.5	0	10	15
Second Semester SGPA : 9.636 Credits Earned/Total : 22/22 Total Credit Points: 212										
First Year Total Credits Earned : 44/44										
DEMOCRACY, ELECTI 22999	ON AND G	OVERNAN	CE 			*"A+"	2			
PHYSICAL EDUCATIO G-1	N (GROUP	P-I, SEM	-II) 			*"0"	2			

CAAP010790-MCE SC	CIETY A				OLLEG		S,SCIE	NCE A	AND C	OMMERCE	AZAM	CAMPUS
Min Max	INT 012 030	TH 028 070	INT 006 015	PR 014 035	INT 000 000	Tot	Crd		Grd Pnt	Pnt		
	Seat no					YA SADAF				~~~ ' - FARZA	NA	
FUNDAMENTALS OF CC BCA-111 F		062				089	4	A+	9	36		
PROBLEM SOLVING AN BCA-112 F	IDCPRC 022F		G 			072	4	A	8	32		
	027 F	o 039				066	4	A	8	32		
BUSINESS COMMUNICA BCA-114 F	TION 029 F	9 041				070	4	A	8	32		
FUNDAMENTALS OF CC BCA-115	MPUTERS			033		047	1.5	0	10	15		
C PROGRAMMING LABC BCA-116	RATORY	P	014 P	032		046	1.5	0	10	15		
APPLIED MATHEMATIC BCA-117	S LABOR	-	014 P	030		044	1.5	A+	9	13.5		
BUSINESS COMMUNICA BCA-118	TION LA			033		048	1.5	0	10	15		
First Semester Total Credit Poin			Credits	Earned,	/Tota	1 : 22/22	2					
COMPUTER ORGANIZAT BCA-121 *		• 045				075	4	A+	9	36		
ADVANCED C PROGRAM BCA-122 *		• 060				088	4	A+	9	36		
OPERATING SYSTEMS BCA-123 *		⁻s ∮ 060				087	4	A+	9	36		
DATABASE MANAGEMEN BCA-124 *	IT SYSTE 029 *					099	4	0	10	40		
COMPUTER ORGANIZAT BCA-125	ION LAE			035		049	1.5	0	10	15		
ADVANCED C PROGRAM BCA-126	IMING LA			030		045	1.5	0	10	15		
OPERATING SYSTEMS BCA-127	LABORAT	-	014 *	031		045	1.5	0	10	15		
DATABASE MANAGEMEN BCA-128	IT SYSTE		LABORAT 015 *			044	1.5	A+	9	13.5		
Second Semeste Total Credit Poin	er SGPA its: 206	: 9.386 5.5	Credit	s Earneo	d/Tota	al : 22/2	22					
First Year Total C	redits	Earned	: 44/44									
DEMOCRACY, ELECTIC 22999	ON AND 0	OVERNAN	CE 		'	*"A"	2					
PHYSICAL EDUCATION G-1	I (GROUF	P-I, SEM	-II) 		:	*"0"	2					
											•••	

CAAP010790-MCE SO	CIETY ABE		ARS		COLLEG	-2021) E OF AF 221)	RTS,SCIE	NCE AN	ND (	COMMER	CE AZAM	CAMPUS
Min Max	030 0	28 00 70 01	6 5	PR 014 035	000 000	Tot	Crd		nt	Pnt		
	Seat no.:							NAZIF			Mother	-
FUNDAMENTALS OF CO BCA-111 P	MPUTERS 024 P 0	62	-			086	4	A+	9	36		
PROBLEM SOLVING AND BCA-112 P	DCPROGR 025P0	-	-			081	4	A+	9	36		
APPLIED MATHEMATIC BCA-113 P	s 029 p 0	48	-			077	4	A+	9	36		
BUSINESS COMMUNICA BCA-114 P	TION 028 P0	39	-			067	4	A	8	32		
FUNDAMENTALS OF CO BCA-115		ABORATOR P 01		033		047	1.5	0	10	15		
C PROGRAMMING LABO		р 01	.4 P	029		043	1.5	A+	9	13.5		
APPLIED MATHEMATIC BCA-117		ORY P 01	.4 P	031		045	1.5	0	10	15		
BUSINESS COMMUNICA BCA-118			.4 P	033		047	1.5	0	10	15		
First Semester Total Credit Poin		.023 Cre	dits	Earne	d/Tota	.1 : 22,	/22					
COMPUTER ORGANIZAT: BCA-121 *	ION 030 * 0	46	-			076	4	A+	9	36		
ADVANCED C PROGRAMI BCA-122 *	MING 028 * 0	53	-			081	4	A+	9	36		
OPERATING SYSTEMS BCA-123 *	CONCEPTS 027 * 0	57	-			084	4	A+	9	36		
DATABASE MANAGEMEN BCA-124 *	T SYSTEMS 029 * 0		-			095	4	0	10	40		
COMPUTER ORGANIZAT: BCA-125		ATORY * 01	.5 *	020		035	1.5	A	8	12		
ADVANCED C PROGRAMI BCA-126		RATORY * 01	.4 *	029		043	1.5	A+	9	13.5		
OPERATING SYSTEMS BCA-127		Y * 01	.4 *	029		043	1.5	A+	9	13.5		
DATABASE MANAGEMEN BCA-128		- I LAB * 01		ORY 029		043	1.5	A+	9	13.5		
Second Semeste Total Credit Poin		9.114 Cr	edit	s Earn	ed/Tot	al : 22	2/22					
First Year Total C	redits Ea	rned : 4	4/44									
DEMOCRACY, ELECTION 22999	N AND GOV	ERNANCE	-			*"0"	2					
PHYSICAL EDUCATION G-1	(GROUP-I 	, SEM-II 	) -			*"0"	2					
						•••••	•••••		•••			

			Correg	je Leuy	er (Apr	-202.	L)						
CAAP010790-MCE	SOCIETY	ABEDA	INAMDAR	SENIOR	COLLEG	E OF	ARTS.SCI	ENCE	AND	COMMERCE	AZAM	CAMPUS	5
				PUNE		221)	-,						
	INT	тн	INT	PR	INT	Tot	Crd	Grd	Grd	Crd			

Min Max	INT 012 030	TH 028 070	INT 006 015	PR 014 035	INT 000 000	Tot	Crd		Grd Pnt ~~~	
PRN: 1342000615		no.: 559				IR ANWAR			~~~ - AN	JUM
FUNDAMENTALS OF BCA-111	COMPUTE P 024	ers p 055				079	4	A+	9	36
PROBLEM SOLVING BCA-112	AND C F P 023	PROGRAMMI P 035	NG 			058	4	B+	7	28
APPLIED MATHEMA BCA-113	FICS P 027	P 038				065	4	А	8	32
BUSINESS COMMUN BCA-114	ICATION P 027	P 035				062	4	А	8	32
FUNDAMENTALS OF BCA-115			-	029		044	1.5	A+	9	13.5
C PROGRAMMING LA BCA-116	ABORATOF		* 015 *	020		035	1.5	A	8	12
APPLIED MATHEMA BCA-117	TICS LAE		* 012 *	023		035	1.5	A	8	12
BUSINESS COMMUN BCA-118	ICATION			033		047	1.5	0	10	15
First Semes Total Credit Po			Credits	Earne	d/Tota	l : 22/22				
COMPUTER ORGANIZ BCA-121	ZATION * 023	* 028				051	4	в	6	24
ADVANCED C PROGI BCA-122	RAMMING * 023	* 028				051	4	в	6	24
OPERATING SYSTEM BCA-123	MS_CONCE * 023	\$ EPTS * 039				062	4	A	8	32
DATABASE MANAGEN BCA-124	MENT SYS * 026	STEMS-I * 046				072	4	A	8	32
COMPUTER ORGANIZ BCA-125	ZATION L			022		036	1.5	А	8	12
ADVANCED C PROGI BCA-126	RAMMING			028		042	1.5	A+	9	13.5
OPERATING SYSTEM BCA-127	MS LABOR		* 013 *	029		042	1.5	A+	9	13.5
DATABASE MANAGEM BCA-128	MENT SYS	STEMS - I 		ORY 030		044	1.5	A+	9	13.5
Second Semes Total Credit Po	ster SGF pints: 1	PA : 7.47 164.5	7 Credit	s Earn	ed/Tota	al : 22/2	2			
First Year Tota	l Credit	ts Earned	: 44/44							
DEMOCRACY, ELEC 22999	TION AND	D GOVERNA	NCE		*	<sup>;</sup> "В"	2			
PHYSICAL EDUCAT: G-1	ION (GRO	DUP-I, SE	M-II) 		*	<sup>;</sup> "А+"	2			
\$ 0.1										

CAAP010790-MCE SO	CIETY AB	BEDA IN	-	JE LEAGE SENIOR ( PUNE .	OLLEG	-		ENCE A	ND C	COMMERCE	AZAM	CAMPUS
Min Max	012 030	TH 028 070	INT 006 015	PR 014 035	INT 000 000	Tot	Crd	Grd	Pnt	Pnt		
	~~~~ ~~~ Seat no.			ROWTHE			~~ ~~~ SHEER	~~~ Mothe		~~~ ASIYA		
FUNDAMENTALS OF CO BCA-111 P	MPUTERS 025 P	064				089	4	A+	9	36		
PROBLEM SOLVING AN BCA-112 P		RAMMIN 055	IG 			080	4	A+	9	36		
APPLIED MATHEMATIC BCA-113 P		038				063	4	A	8	32		
BUSINESS COMMUNICA BCA-114 P		048				071	4	A	8	32		
FUNDAMENTALS OF CO BCA-115	MPUTERS			* 033		048	1.5	0	10	15		
C PROGRAMMING LABO BCA-116	RATORY	*	• 015	* 029		044	1.5	A+	9	13.5		
APPLIED MATHEMATIC BCA-117		*		* 030		044	1.5	A+	9	13.5		
BUSINESS COMMUNICA BCA-118		*	* 015	* 033		048	1.5	0	10	15		
First Semester Total Credit Poin	SGPA : ts: 193	8.773	Credit	s Earneo	l/Tota	1 : 22	/22					
COMPUTER ORGANIZAT BCA-121 *	ION 027 *	050				077	4	A+	9	36		
ADVANCED C PROGRAM BCA-122 *		052				079	4	A+	9	36		
OPERATING SYSTEMS BCA-123 *	CONCEPTS 026 *					096	4	0	10	40		
DATABASE MANAGEMEN BCA-124 *	T SYSTEM 029 *					095	4	0	10	40		
COMPUTER ORGANIZAT BCA-125				* 033		048	1.5	0	10	15		
ADVANCED C PROGRAM BCA-126	MING LAB			* 032		047	1.5	0	10	15		
OPERATING SYSTEMS BCA-127		*		* 029		044	1.5	A+	9	13.5		
DATABASE MANAGEMEN BCA-128			LABORA 015			044	1.5	A+	9	13.5		
Second Semeste Total Credit Poin		9.500	) Credi	ts Earne	ed/Tot	al : 2	2/22					
First Year Total C	redits E	arned	: 44/4	4								
DEMOCRACY, ELECTIO 22999	N AND GO	VERNAN	ICE 			*"A+"	2					
PHYSICAL EDUCATION G-1	(GROUP-	I, SEN	1-II) 			*"A+"	2					

### Savitribai Phule Pune University Pune-411 007 BCA\_Sc\_2019Pattern (CREDIT PATTERN)

		DCA_3	College									
CAAP010790-MCE S	OCIETY	ABEDA I		ENIOR CO PUNE .	OLLEG (0)	E OF ART 221)	S,SCIE	NCE A	AND (	COMMERCE	AZAM	CAMPUS
Min Max	INT 012 030	TH 028 070	INT 006 015	PR 014 035	000 000	Tot	Crd		Grd Pnt	Pnt		
PRN: 1342000617			NAME:						~~~ 5HAH]			
FUNDAMENTALS OF CO												
-	P 027					091	4	0	10	40		
PROBLEM SOLVING A BCA-112	NDCPF P028	ROGRAMMI P 038	NG 			066	4	A	8	32		
APPLIED MATHEMATIO BCA-113	cs P 029	P 049				078	4	A+	9	36		
BUSINESS COMMUNIC BCA-114	ATION P 029	P 046				075	4	A+	9	36		
FUNDAMENTALS OF CO BCA-115				033		047	1.5	0	10	15		
C PROGRAMMING LAB BCA-116	DRATOR	( 	Р 014 Р	029		043	1.5	A+	9	13.5		
APPLIED MATHEMATIO BCA-117	CS LABO	DRATORY	Р 014 Р	033		047	1.5	0	10	15		
BUSINESS COMMUNIC BCA-118	ATION L		RY P 014 P	033		047	1.5	0	10	15		
First Semeste Total Credit Poi		: 9.205					-	C				
COMPUTER ORGANIZA		215										
	* 030	* 045				075	4	A+	9	36		
ADVANCED C PROGRAM BCA-122	MMING * 028	* 049				077	4	A+	9	36		
OPERATING SYSTEMS BCA-123	CONCEF * 026	PTS * 059				085	4	A+	9	36		
DATABASE MANAGEME BCA-124	NT SYST * 029					099	4	0	10	40		
COMPUTER ORGANIZA BCA-125	TION LA			020		034	1.5	A	8	12		
ADVANCED C PROGRAM BCA-126				031		045	1.5	0	10	15		
OPERATING SYSTEMS BCA-127	LABORA		* 014 *	029		043	1.5	A+	9	13.5		
DATABASE MANAGEME	NT SYST	FEMS - I	LABORAT	ORY			-		-			
BCA-128 Second Semest	 er SGP4		* 015  * 2 Credit				1.5 22	A+	9	13.5		
Total Credit Poir												
First Year Total												
DEMOCRACY, ELECTIO					:	<sup>*</sup> "0"	2					
PHYSICAL EDUCATIO	N (GROU	JP-I, SE	M-II) 		:	*"0"	2					
									• • • •			

		-	e Ledge						OMMEDICE	0 7 A M	CAMPUC
CAAP010790-MCE SC	CIETY ABED	A INAMDAR	PUNE .		221)	RIS, SCIE	NCE A	AND C	OMMERCE	AZAM	CAMPUS
Min Max	INT TH 012 02 030 07	8 006 0 015	PR 014 035	INT 000 000	Tot	Crd	Grd	Grd Pnt			
PRN: 1342000618	Seat no.:	~ ~~~~~ ~ 562 NAME	SAYED			WAR MO	ther	~~~ - SH	~~~ AGUFTA		
FUNDAMENTALS OF CC BCA-111 F	MPUTERS 028 P 05	9			087	4	A+	9	36		
PROBLEM SOLVING AN BCA-112 F	ID C PROGRA 027 P 05				080	4	A+	9	36		
APPLIED MATHEMATIC BCA-113 F	сs 2029 р03	9			068	4	A	8	32		
BUSINESS COMMUNICA BCA-114 F	TION 029 P 06	2			091	4	0	10	40		
FUNDAMENTALS OF CC BCA-115	MPUTERS LA		р 033		048	1.5	0	10	15		
C PROGRAMMING LABC BCA-116	RATORY	- Р 015	Р 035		050	1.5	0	10	15		
APPLIED MATHEMATIC BCA-117	S LABORATO		р 030		045	1.5	0	10	15		
BUSINESS COMMUNICA BCA-118	TION LABOR		р 034		049	1.5	0	10	15		
First Semester Total Credit Poir		273 Credit	s Earne	ed/Tota	1 : 22	/22					
COMPUTER ORGANIZAT BCA-121	TION 030 * 04	5			075	4	A+	9	36		
ADVANCED C PROGRAM BCA-122	MING 029 * 06	0			089	4	A+	9	36		
OPERATING SYSTEMS BCA-123	CONCEPTS 027 * 06	3			090	4	0	10	40		
DATABASE MANAGEMEN BCA-124 *	IT SYSTEMS- 030 * 07				100	4	0	10	40		
COMPUTER ORGANIZAT BCA-125	ION LABORA		* 035		050	1.5	0	10	15		
ADVANCED C PROGRAM BCA-126	MING LABOR		* 034		049	1.5	0	10	15		
OPERATING SYSTEMS BCA-127	LABORATORY	- * 015	* 031		046	1.5	0	10	15		
DATABASE MANAGEMEN BCA-128		- I LABORA - * 015			045	1.5	0	10	15		
Second Semeste Total Credit Poir		.636 Credi	ts Earn	ed/Tota	al : 2	2/22					
First Year Total C	redits Ear	ned : 44/4	4								
DEMOCRACY, ELECTIC 22999	ON AND GOVE	RNANCE 		*	*"A"	2					
PHYSICAL EDUCATION G-1	GROUP-I,	SEM-II) 		*	<sup>*</sup> "0"	2					

Correge Ledger (Apr-2021)												
CAAP010790-MCF SOCTETY ARE	A TNAMDAR SENTOR COLLEGE	E OF ARTS, SCIENCE AND COMMERCE AZAM CAMPUS										
	PUNE . (02											
	FUNE. (UZ	.21)										

Min Max	INT 012 030	тн 028 070	INT 006 015	PR 014 035	INT 000 000	Tot	Crd	Grd	Pnt	Pnt
PRN: 1342000619						AB AFZAL		her -		
FUNDAMENTALS OF BCA-111	COMPUTERS P 027 F					084	4	A+	9	36
PROBLEM SOLVING BCA-112	P 027 F	GRAMMIN 057	G 			084	4	A+	9	36
APPLIED MATHEMAT BCA-113		o 034				062	4	A	8	32
BUSINESS COMMUNI BCA-114		o 053				082	4	A+	9	36
FUNDAMENTALS OF BCA-115	COMPUTERS	-	-	033		047	1.5	0	10	15
C PROGRAMMING LA BCA-116	BORATORY	P	014 P	026		040	1.5	A+	9	13.5
APPLIED MATHEMAT BCA-117	ICS LABOR		014 P	033		047	1.5	0	10	15
BUSINESS COMMUNI BCA-118	CATION LA		Y 015 P	031		046	1.5	0	10	15
First Semest Total Credit Po			Credits	Earned	/Tota	1 : 22/22	2			
COMPUTER ORGANIZ BCA-121		<sup>-</sup> 048				078	4	A+	9	36
ADVANCED C PROGR BCA-122		• 053				080	4	A+	9	36
OPERATING SYSTEM BCA-123		⁻s ⁵ 066				092	4	0	10	40
DATABASE MANAGEM BCA-124	ENT SYSTE * 029 *					089	4	A+	9	36
COMPUTER ORGANIZ	ATION LAE			025		039	1.5	A+	9	13.5
ADVANCED C PROGR BCA-126	AMMING LA			033		047	1.5	0	10	15
OPERATING SYSTEM BCA-127	S LABORAT	-	014 *	026		040	1.5	A+	9	13.5
DATABASE MANAGEM BCA-128	ENT SYSTE			ORY 022		037	1.5	A	8	12
Second Semes Total Credit Po			Credit	s Earne	d/Tot	al : 22/2	22			
First Year Total			: 44/44							
DEMOCRACY, ELECT 22999	ION AND G	OVERNAN	CE			*"0"	2			
PHYSICAL EDUCATI	•	Р-I, SEM				*"0"	2			

		-	e Ledge							
CAAP010790-MCE SC	OCIETY ABEDA	INAMDAR S	SENIOR C PUNE .		E OF / 221)	ARTS,SCIE	NCE /	AND (	COMMERCE AZA	M CAMPUS
Min Max	INT TH 012 028 030 070	INT 006 015	PR 014 035	000 000	Tot	Crd		_	Pnt	
PRN: 1342000620	Seat no.: 56							~~~ <htaf< td=""><td></td><td>FARIDA</td></htaf<>		FARIDA
FUNDAMENTALS OF CC BCA-111 F	MPUTERS P 028 P 069				097	4	0	10	40	
PROBLEM SOLVING AN BCA-112 F	ND C PROGRAMM P 023 P 041	IING 			064	4	А	8	32	
APPLIED MATHEMATIC BCA-113 F	CS P 028 P 034				062	4	А	8	32	
BUSINESS COMMUNICA BCA-114 F	ATION P 028 P 046				074	4	А	8	32	
FUNDAMENTALS OF CC BCA-115	MPUTERS LABC		• 033		047	1.5	0	10	15	
C PROGRAMMING LABC BCA-116	DRATORY	P 014 F	• 029		043	1.5	A+	9	13.5	
APPLIED MATHEMATIC BCA-117	LABORATORY		032		046	1.5	0	10	15	
BUSINESS COMMUNICA BCA-118	ATION LABORAT	ORY P 015 F	• 031		046	1.5	0	10	15	
First Semester Total Credit Poir		1 Credits	Earned	/Tota	1:2	2/22				
COMPUTER ORGANIZAT BCA-121 *	FION * 030 * 043				073	4	A	8	32	
ADVANCED C PROGRAM BCA-122	MING * 027 * 046				073	4	А	8	32	
OPERATING SYSTEMS BCA-123	CONCEPTS * 027 * 052				079	4	A+	9	36	
DATABASE MANAGEMEN BCA-124	NT SYSTEMS-I * 028 * 056				084	4	A+	9	36	
COMPUTER ORGANIZAT BCA-125	TION LABORATO		• 030		044	1.5	A+	9	13.5	
ADVANCED C PROGRAM BCA-126	MING LABORAT		034		047	1.5	0	10	15	
OPERATING SYSTEMS BCA-127		* 014 *	034		048	1.5	0	10	15	
DATABASE MANAGEMEN BCA-128	NT SYSTEMS -				048	1.5	0	10	15	
Second Semeste Total Credit Poir		41 Credit	s Earne	d/Tot	al : 2	22/22				
First Year Total C	credits Earne	ed : 44/44	ŀ							
DEMOCRACY, ELECTIC 22999	ON AND GOVERN	IANCE			*"A+"	2				
PHYSICAL EDUCATION G-1	N (GROUP-I, S	EM-II) 			*"0"	2				

CAAP010790-MCE SOCIETY ABEDA IN	-			NCE AND	COMMERCE AZAM CAMPUS
INT TH Min 012 028 Max 030 070	INT PR 006 014 015 035	INT Tot 000 000	Crd		t Pnt
PRN: 1342000621 Seat no.: 565		YED ALIFIYA AJ	AZ ALI	Mother	- SHAHIN
FUNDAMENTALS OF COMPUTERS BCA-111 P 027 P 055		082	4	A+	9 36
PROBLEM SOLVING AND C PROGRAMMIN BCA-112 P 023 P 053	IG 	076	4	A+	9 36
APPLIED MATHEMATICS BCA-113 P 028 P 028		056	4	B+	7 28
BUSINESS COMMUNICATION BCA-114 P 029 P 056		085	4	A+	9 36
FUNDAMENTALS OF COMPUTERS LABORA BCA-115 P	TORY 015 P 031	046	1.5	0 1	0 15
C PROGRAMMING LABORATORY BCA-116 P	9 015 р 029	044	1.5	A+	9 13.5
APPLIED MATHEMATICS LABORATORY BCA-117 P	9 015 Р 034	049	1.5	0 1	0 15
BUSINESS COMMUNICATION LABORATOR BCA-118 P	Y 9 015 P 034	049	1.5	0 1	0 15
First Semester SGPA : 8.841 Total Credit Points: 194.5	Credits Ear	ned/Total : 22	2/22		
COMPUTER ORGANIZATION BCA-121 * 029 * 036		065	4	A	8 32
ADVANCED C PROGRAMMING BCA-122 * 028 * 045		073	4	A	8 32
OPERATING SYSTEMS CONCEPTS BCA-123 * 029 * 064		093	4	0 1	0 40
DATABASE MANAGEMENT SYSTEMS-I BCA-124 * 030 * 070		100	4	0 1	0 40
COMPUTER ORGANIZATION LABORATORY BCA-125 *	, 014 * 035	049	1.5	0 1	0 15
ADVANCED C PROGRAMMING LABORATOR BCA-126 *	Y 015 * 034	049	1.5	0 1	0 15
OPERATING SYSTEMS LABORATORY BCA-127 *	015 * 034	049	1.5	0 1	0 15
DATABASE MANAGEMENT SYSTEMS - I BCA-128 *	014 * 034	048	1.5	0 1	0 15
Second Semester SGPA : 9.273 Total Credit Points: 204	Credits Ea	rned/Total : 2	2/22		
First Year Total Credits Earned	: 44/44				
DEMOCRACY, ELECTION AND GOVERNAN 22999	ICE 	*"A+"	2		
PHYSICAL EDUCATION (GROUP-I, SEM G-1	1-II) 	*"0"	2		

Page 45

СААР010790-МСЕ	SOCIETY ABE		ege Ledge R SENIOR	COLLEG	E OF		ENCE A	ND (	COMMERCE	AZAM	CAMPUS
	INT T	ГН ІNТ	PUNE .		)221) Tot	Crd	Grd	Crd	Crd		
Min Max	012 0 030 0	TH         INT           028         006           070         015           ~~~         ~~~~~~~	014 035	000 000	Tot	Crd		Pnt	Pnt		
PRN: 1342000622		: 566 NA							PARVEEN		
FUNDAMENTALS OF BCA-111	COMPUTERS P 029 P 0	)53			082	4	A+	9	36		
PROBLEM SOLVING BCA-112	AND C PROGR P 025 P 0	-			064	4	А	8	32		
APPLIED MATHEMAT BCA-113	FICS PO26 PO	036			062	4	А	8	32		
BUSINESS COMMUNI BCA-114	CATION P 029 P (	)50			079	4	A+	9	36		
FUNDAMENTALS OF BCA-115		_ABORATORY P 014			045	1.5	ο	10	15		
C PROGRAMMING LA BCA-116		Р 013	Р 029		042	1.5	A+	9	13.5		
APPLIED MATHEMA BCA-117	TICS LABORAT	FORY P 014	Р 026		040	1.5	A+	9	13.5		
BUSINESS COMMUN BCA-118			P 033		048	1.5	0	10	15		
First Semest Total Credit Po		3.773 Cred	lits Earne	d/Tota	1 : 2	2/22					
COMPUTER ORGANIZ BCA-121	ZATION * 030 * 0	)36			066	4	A	8	32		
ADVANCED C PROGE BCA-122	RAMMING * 028 * 0	)56			084	4	A+	9	36		
OPERATING SYSTEM BCA-123	4S CONCEPTS * 026 * 0	)59			085	4	A+	9	36		
DATABASE MANAGEM BCA-124	1ENT SYSTEMS * 030 * 0				099	4	0	10	40		
COMPUTER ORGANIZ BCA-125		RATORY * 014	* 032		046	1.5	0	10	15		
ADVANCED C PROGE BCA-126		DRATORY * 015	* 034		049	1.5	0	10	15		
OPERATING SYSTEM BCA-127		RY * 015	* 034		049	1.5	0	10	15		
DATABASE MANAGEN BCA-128		5 - I LABO * 015			047	1.5	0	10	15		
Second Semes Total Credit Po		9.273 Cre	dits Earn	ed/⊤ot	al :	22/22					
First Year Tota	l Credits Ea	arned : 44	/44								
DEMOCRACY, ELECT 22999	TION AND GOV	/ERNANCE			*"A"	2					
PHYSICAL EDUCATI G-1	ION (GROUP-1	[, SEM-II) 			*"0"	2					
								•••			

Savitribai Phule Pune University Pune-411 007 BCA\_Sc\_2019Pattern (CREDIT PATTERN) College Ledger(Apr-2021) CAAP010790-MCE SOCIETY ABEDA INAMDAR SENIOR COLLEGE OF ARTS, SCIENCE AND COMMERCE AZAM CAMPUS PUNE . (0221) INT INT ΤН INT PR Tot Crd Grd Grd Crd Min 012 028 006 014 000 Pnt Pnt Мах 030 070 015 035 000 ~~~ ~~~~ ~~~ ~~~ ~~~ ~~~ ~~~  $\sim \sim \sim$ ~~~~  $\sim \sim \sim$ PRN: 1342000623 NAME: SAYYED MOHAMMED FURQUAN ABDUL AZIZ Mother - NUSRAT Seat no.: 567 FUNDAMENTALS OF COMPUTERS 32 BCA-111 P 015 P 056 \_\_\_ \_\_\_ \_\_\_ 071 4 A 8 PROBLEM SOLVING AND C PROGRAMMING P 015 P 029 044 4 4 16 BCA-112 \_\_\_ \_ \_ \_ D APPLIED MATHEMATICS \* 015 \* 039 4 BCA-113 054 В 6 24 \_\_\_ \_\_\_ \_\_\_ BUSINESS COMMUNICATION P 026 P 048 BCA-114 074 4 А 8 32 \_\_\_ \_\_\_ \_\_\_ FUNDAMENTALS OF COMPUTERS LABORATORY Р 029 041 1.5 9 13.5 BCA-115 --- P 012 \_\_\_ \_ \_ \_ A+C PROGRAMMING LABORATORY P 012 P 029 \_\_\_ 041 1.5 9 13.5 BCA-116 \_\_\_ \_\_\_ A+ APPLIED MATHEMATICS LABORATORY P 012 BCA-117 \_\_\_ \_\_\_ P 031 \_\_\_ 043 1.5 A+ 9 13.5 BUSINESS COMMUNICATION LABORATORY BCA-118 \_\_\_ --- Р 015 Р 031 \_\_\_ 046 1.5 0 10 15 First Semester SGPA : 7.250 Credits Earned/Total : 22/22 Total Credit Points: 159.5 COMPUTER ORGANIZATION BCA-121 \* 028 \* 041 069 4 А 8 32

ADVANCED C PROGRAMMING \* 025 \* 053 078 4 9 36 BCA-122 A+ \_ \_ \_ ---\_\_\_ OPERATING SYSTEMS CONCEPTS \* 023 4 \* 050 073 8 32 BCA-123 \_ \_ \_ \_\_\_ \_\_\_ Δ DATABASE MANAGEMENT SYSTEMS-I \* 026 \* 063 089 4 9 36 BCA-124 \_ \_ \_ \_\_\_ \_\_\_ A+ COMPUTER ORGANIZATION LABORATORY \* 014 \_\_\_ BCA-125 \_\_\_ \* 020 \_\_\_ 034 1.5 А 8 12 ADVANCED C PROGRAMMING LABORATORY BCA-126 \_\_\_ \* 014 \* 030 \_\_\_ 044 1.5 A+ 9 13.5 OPERATING SYSTEMS LABORATORY --- \* 014 \* 031 045 10 15 BCA-127 ---\_\_\_ 1.5 0 DATABASE MANAGEMENT SYSTEMS - I LABORATORY --- \* 014 \* 031 ------ 045 1.5 0 10 15 BCA-128 Second Semester SGPA : 8.705 Credits Earned/Total : 22/22 Total Credit Points: 191.5 First Year Total Credits Earned : 44/44 DEMOCRACY, ELECTION AND GOVERNANCE --- \*"B" 22999 2 \_\_\_ \_\_\_ PHYSICAL EDUCATION (GROUP-I, SEM-II) --- \*"0" \_\_\_ 2 G-1 \_\_\_ \_\_\_ \_\_\_ 

CAAP010790-MCE SOCIETY	ABEDA INAMDAR SENI	OR COLLEGE OF	ARTS, SCIENCE AND	COMMERCE AZAM CAMPUS							
	PUN	NE. (0221)									

				PUNE	. (0	221)				
Min Max	030	TH 028 070	INT 006 015	PR 014 035	INT 000 000				Grd Pnt	Crd Pnt
PRN: 1342000624		no.: 568				A MASOOD		ther ·	~~~ - YAS	~~~ SMIN
FUNDAMENTALS OF BCA-111	COMPUTE P 024	RS P 056				080	4	A+	9	36
PROBLEM SOLVING BCA-112	AND C F P 024	PROGRAMMIN P 050	IG 			074	4	A	8	32
APPLIED MATHEMA BCA-113	TICS P 027	P 039				066	4	A	8	32
BUSINESS COMMUN BCA-114	ICATION P 029	P 057				086	4	A+	9	36
FUNDAMENTALS OF BCA-115	COMPUTE			• 031		045	1.5	0	10	15
C PROGRAMMING L BCA-116	ABORATOR		Р 013 F	o 029		042	1.5	A+	9	13.5
APPLIED MATHEMA BCA-117	TICS LAE		Р 013 F	• 027		040	1.5	A+	9	13.5
BUSINESS COMMUN BCA-118	ICATION			o 033		048	1.5	0	10	15
First Semes Total Credit P			Credits	5 Earn	ed/Tota	1 : 22/2	2			
COMPUTER ORGANI BCA-121	ZATION * 027	* 038				065	4	А	8	32
ADVANCED C PROG BCA-122	RAMMING * 027	* 050				077	4	A+	9	36
OPERATING SYSTE	MS_CONCE * 026	EPTS * 059				085	4	A+	9	36
DATABASE MANAGE BCA-124		STEMS-I * 066				095	4	0	10	40
COMPUTER ORGANI		ABORATORY		• 030		043	1.5	A+		13.5
ADVANCED C PROG BCA-126	RAMMING	LABORATOR	RY	• 021		036	1.5	A	8	12
OPERATING SYSTE BCA-127		ATORY		• 031		045	1.5	0	10	15
DATABASE MANAGE		STEMS - I	LABORAT			043	1.5	0 A+		13.5
Second Seme Total Credit P	ster SGF	PA : 9.000					-	A+	9	т <b>э</b> .)
First Year Tota			: 44/44	Ļ						
DEMOCRACY, ELEC 22999						*"B"	2			
PHYSICAL EDUCAT G-1	ION (GRC	UP-I, SEN	1-II) 			*"0"	2			

СААР010790-МСЕ	SOCTETY A			Je Ledge							A7AM	
CAAPOIO7 90-MCE	SUCLETT A	DEDA IN		PUNE .		221)	AK15,5	CIENCE	AND	COMMERCE	AZA™	CAMPUS
Min Max	INT 012 030	тн 028 070	INT 006 015	PR 014 035	INT 000 000		Cr			Pnt		
PRN: 1342000625	Seat no			E: SHAHB					· ~~~ · - M/	~~~ AHEJABIN		
FUNDAMENTALS OF BCA-111	COMPUTERS P 027 P	066				093		4 0	10	40		
PROBLEM SOLVING BCA-112		GRAMMIN 056	IG 			076		4 A+	9	36		
APPLIED MATHEMAT BCA-113		052				077		4 A+	9	36		
BUSINESS COMMUNI BCA-114	CATION P 029 P	053				082		4 A+	9	36		
FUNDAMENTALS OF BCA-115	COMPUTERS		TORY 014	P 033		047	1.	5 O	10	15		
C PROGRAMMING LA BCA-116	BORATORY	F	• 014	P 029		043	1.	5 A+	9	13.5		
APPLIED MATHEMAT BCA-117	ICS LABOR		• 012	P 029		041	1.	5 A+	9	13.5		
BUSINESS COMMUNI BCA-118	CATION LA		Y 9 015	P 031		046	1.	5 O	10	15		
First Semest Total Credit Po		9.318	Credit	s Earne	ed/⊤ota	1:2	2/22					
COMPUTER ORGANIZ BCA-121		ΑΑΑ				030	FFF	4 F	0	0		
ADVANCED C PROGE BCA-122		AAA				022	FFF	4 F	0	0		
OPERATING SYSTEM BCA-123	1S CONCEPT: * 023 *					023	FFF	4 F	0	0		
DATABASE MANAGEM BCA-124	IENT SYSTE * 027 *					027	FFF	4 F	0	0		
COMPUTER ORGANIZ BCA-125	ATION LAB		, 012	* 030		042	1.	5 A+	9	13.5		
ADVANCED C PROGE BCA-126	RAMMING LA	BORATOF		* 021		034	1.	5 A	8	12		
OPERATING SYSTEM BCA-127	IS LABORAT		013	* 024		037	1.	5 A	8	12		
DATABASE MANAGEN BCA-128		MS - I *				036	1.	5 A	8	12		
Second Semes Total Credit Po			Credi	ts Earn	ed/Tot	al :	6/22					
First Year Resu	lt : Fail /	А.Т.К.Т	. то	otal Cre	dits E	arnec	l : 28/	44				
DEMOCRACY, ELECT 22999	ION AND G	OVERNAN	ICE			*"0"		2				
PHYSICAL EDUCATI G-1	ON (GROUP	-I, SEM 	1-II) 			*AAA	FFF	2				
										•••••		

		c_2019P	Pune-411 Pattern	L 007 (CRED	Univer DIT PATTE	-	,			15-Sep-2	2021
CAAP010790-MCE	SOCIETY ABEDA I	College	e Ledge	r(Apr OLLEG	-2021)		ENCE A	AND C	OMMERCE	AZAM CAMP	US
Min Max	INT TH 012 028 030 070	INT 006 015	PR 014 035	INT 000 000		Crd	Grd	Grd Pnt			
PRN: 1342000626	Seat no.: 570				L HANNAN		~~~ ORUDE	~~~ DIN	Mother	- HUSNEAR	A
FUNDAMENTALS OF BCA-111	COMPUTERS P 028 P 059				087	4	A+	9	36		
PROBLEM SOLVING BCA-112	AND C PROGRAMMI P 027 P 045	NG 			072	4	А	8	32		
APPLIED MATHEMAT BCA-113	TICS P 028 P 039				067	4	А	8	32		
BUSINESS COMMUNI BCA-114	P 023 P 052				075	4	A+	9	36		
FUNDAMENTALS OF BCA-115		-	<b>&gt;</b> 033		047	1.5	0	10	15		
C PROGRAMMING LA BCA-116		P 014 F	<b>0</b> 24		038	1.5	A+	9	13.5		
APPLIED MATHEMAT BCA-117			<b>0</b> 32		046	1.5	0	10	15		
BUSINESS COMMUNI BCA-118		P 015 F			047	1.5	0	10	15		
First Semest Total Credit Po	cer SGPA : 8.841 pints: 194.5	Credits	s Earnec	l/Tota	1:22/2	2					
COMPUTER ORGANIZ BCA-121	ZATION * 028 * 041				069	4	А	8	32		
ADVANCED C PROGF BCA-122	RAMMING * 026 * 053				079	4	A+	9	36		
OPERATING SYSTEM BCA-123	1S CONCEPTS * 026 * 057				083	4	A+	9	36		
DATABASE MANAGEN BCA-124	MENT SYSTEMS-I * 027 * 064				091	4	0	10	40		
COMPUTER ORGANIZ BCA-125	ZATION LABORATOR		* 020		034	1.5	А	8	12		
ADVANCED C PROGE BCA-126		RY * 013 *	* 028		041	1.5	A+	9	13.5		
OPERATING SYSTEM BCA-127		* 014 *	* 032		046	1.5	0	10	15		
DATABASE MANAGEN BCA-128		* 013 *	* 016		029	1.5	B+	7	10.5		
Second Semes Total Credit Po	ster SGPA : 8.86 Dints: 195	4 Credit	ts Earne	d/Tot	al : 22/	22					
First Year Total	Credits Earned	: 44/44	1								
DEMOCRACY, ELECT 22999	ION AND GOVERNA	NCE			*"0"	2					
PHYSICAL EDUCATI G-1	ION (GROUP-I, SE	M-II) 			*"0"	2					

.....

### Savitribai Phule Pune University

Sav	itribai Pl	hule Pl Pune-411 (		nivers	ıty			15-Sep-2021
ВС	A_Sc_2019Pa College	ttern (0	CREDIT		1)			13 366 2021
CAAP010790-MCE SOCIETY ABE			LEGE ( (0221		SCIENCE	AND C	OMMERCE AZ	ZAM CAMPUS
INT TH Min 012 02 Max 030 07	8 006	014 ( 035 (	000			l Grd Pnt	Pnt	
	571 NAME:						~~~ er - SHAB4	١NA
FUNDAMENTALS OF COMPUTERS BCA-111 P 028 P 05	50		07	8	4 A+	9	36	
PROBLEM SOLVING AND C PROGRA BCA-112 P 026 P 05			07	'9	4 A+	9	36	
APPLIED MATHEMATICS BCA-113 P 027 P 03	8		06	5	4 A	8	32	
BUSINESS COMMUNICATION BCA-114 P 028 P 05	6		08	4	4 A+	9	36	
FUNDAMENTALS OF COMPUTERS LA BCA-115	BORATORY P 014 P	033 -	04	7 1	.5 0	10	15	
C PROGRAMMING LABORATORY BCA-116	P 014 P	029 -	04	3 1	.5 A+	9	13.5	
APPLIED MATHEMATICS LABORATO		032 -	04	6 1	.5 0	10	15	
BUSINESS COMMUNICATION LABOR BCA-118	ATORY - P 015 P	030 -	04	5 1	.5 0	10	15	
First Semester SGPA : 9. Total Credit Points: 198.5	023 Credits	Earned/1	rotal :	22/22				
COMPUTER ORGANIZATION BCA-121 * 029 * 04	5		07	4	4 A	8	32	
ADVANCED C PROGRAMMING BCA-122 * 027 * 06	52		08	9	4 A+	9	36	
OPERATING SYSTEMS CONCEPTS BCA-123 * 025 * 06	52		08	57	4 A+	9	36	
DATABASE MANAGEMENT SYSTEMS- BCA-124 * 028 * 07			09	8	4 0	10	40	
COMPUTER ORGANIZATION LABORA BCA-125		025 -	03	8 1	.5 A+	9	13.5	
ADVANCED C PROGRAMMING LABOR BCA-126		033 -	04	7 1	.5 0	10	15	
OPERATING SYSTEMS LABORATOR	, * 013 *	026 -	03	9 1.	.5 A+	9	13.5	
DATABASE MANAGEMENT SYSTEMS BCA-128	- I LABORATC * 014 *		03	8 1	.5 A+	9	13.5	
Second Semester SGPA : 9 Total Credit Points: 199.5		Earned/	/Total	: 22/22				
First Year Total Credits Ear	ned : 44/44							
DEMOCRACY, ELECTION AND GOVE	RNANCE		*"(	)''	2			
PHYSICAL EDUCATION (GROUP-I, G-1	SEM-II)		*"(	)''	2			

		College								
CAAP010790-MCE S	SOCIETY ABEDA I		ENIOR C PUNE .	OLLEG (0	e of art 221)	S,SCIE	INCE /	AND (	COMMERCE AZAN	M CAMPUS
Min Max	INT TH 012 028 030 070	INT 006 015	PR 014 035	INT 000 000	Tot	Crd			Pnt	
PRN: 1342000628	Seat no.: 572				YA ABDUL			~~~ Mothe	~~~ er – WAHIDAB:	Γ
FUNDAMENTALS OF ( BCA-111	COMPUTERS P 021 P 048				069	4	А	8	32	
PROBLEM SOLVING A BCA-112	AND C PROGRAMMIN P 026 P 031	NG 			057	4	B+	7	28	
APPLIED MATHEMATI BCA-113	P 025 P 034				059	4	B+	7	28	
BUSINESS COMMUNIC BCA-114	CATION P 028 P 034				062	4	А	8	32	
FUNDAMENTALS OF G BCA-115			029		043	1.5	A+	9	13.5	
C PROGRAMMING LAE BCA-116		P 014 P	029		043	1.5	A+	9	13.5	
APPLIED MATHEMATI BCA-117		P 014 P	030		044	1.5	A+	9	13.5	
BUSINESS COMMUNIC BCA-118			032		047	1.5	0	10	15	
First Semeste Total Credit Pot	er SGPA : 7.977 ints: 175.5	Credits	Earned	/Tota	1 : 22/2	2				
COMPUTER ORGANIZA BCA-121	ATION * 029 * 038				067	4	А	8	32	
ADVANCED C PROGRA BCA-122	AMMING * 026 * 042				068	4	А	8	32	
OPERATING SYSTEMS BCA-123	5 CONCEPTS * 024 * 048				072	4	А	8	32	
DATABASE MANAGEME BCA-124	ENT SYSTEMS-I * 028 * 059				087	4	A+	9	36	
COMPUTER ORGANIZA BCA-125			026		039	1.5	A+	9	13.5	
ADVANCED C PROGRA BCA-126			032		047	1.5	0	10	15	
OPERATING SYSTEMS BCA-127		* 015 *	029		044	1.5	A+	9	13.5	
DATABASE MANAGEME BCA-128		LABORAT * 015 *			040	1.5	A+	9	13.5	
Second Semest Total Credit Pot	ter SGPA : 8.523 ints: 187.5	3 Credit	s Earne	d/Tot	al : 22/	22				
First Year Total	Credits Earned	: 44/44								
DEMOCRACY, ELECT 22999	ION AND GOVERNA	NCE			*"0"	2				
PHYSICAL EDUCATIO	DN (GROUP-I, SEN	M-II) 			*"A+"	2				

СААР010790-МСЕ	SOCIETY	ABEDA		e Ledger SENIOR C PUNE .	OLLEG		S,SCIE	ENCE A	AND C	OMMERC	E AZAM	CAMF	งบร
Min Max	INT 012 030	TH 028 070	INT 006 015	PR 014 035	INT 000 000	Tot	Crd		Grd Pnt	Pnt			
PRN: 1342000629		no.: 57	4 NAME	SHAIKH			Mothe		~~~ NAZNE				
FUNDAMENTALS OF BCA-111	COMPUTE P 022					078	4	A+	9	36			
PROBLEM SOLVING BCA-112	AND C P P 021	ROGRAMM P 052	ING 			073	4	A	8	32			
APPLIED MATHEMA BCA-113	FICS P 025	Р 039				064	4	А	8	32			
BUSINESS COMMUNI BCA-114	CATION P 029	р 046				075	4	A+	9	36			
FUNDAMENTALS OF BCA-115	COMPUTE	RS LABO		o 029		043	1.5	A+	9	13.5			
C PROGRAMMING LA BCA-116	BORATOR	Y	P 014 I	P 023		037	1.5	A	8	12			
APPLIED MATHEMA BCA-117	TICS LAB	ORATORY	P 014 I	P 033		047	1.5	0	10	15			
BUSINESS COMMUNI BCA-118	CATION	LABORAT	ORY P 015 I	P 032		047	1.5	0	10	15			
First Semest Total Credit Po			5 Credits	5 Earned	/Tota	1 : 22/2	2						
COMPUTER ORGANIZ BCA-121		* 055				084	4	A+	9	36			
ADVANCED C PROGE BCA-122	RAMMING * 026	* 052				078	4	A+	9	36			
OPERATING SYSTEM BCA-123	4S CONCE * 027					087	4	A+	9	36			
DATABASE MANAGEM BCA-124	4ENT SYS * 029					092	4	0	10	40			
COMPUTER ORGANIZ BCA-125	ZATION L			* 020		035	1.5	А	8	12			
ADVANCED C PROGE BCA-126	RAMMING	LABORAT		* 034		048	1.5	0	10	15			
OPERATING SYSTEM BCA-127				* 023		037	1.5	А	8	12			
DATABASE MANAGEM BCA-128			* 014	* 017		031	1.5	А	8	12			
Second Semes Total Credit Po			45 Credi	ts Earne	d/Tot	al : 22/	22						
First Year Tota	l Credit	s Earne	d : 44/44	1									
DEMOCRACY, ELECT 22999	TION AND	GOVERN	ANCE			*"0"	2						
PHYSICAL EDUCATI G-1	ION (GRO	UP-I, S 	EM-II) 			*"0"	2						

### Savitribai Phule Pune University

### Pune-411 007 BCA\_Sc\_2019Pattern (CREDIT PATTERN)

College Ledger(Apr-2021) CAAP010790-MCE SOCIETY ABEDA INAMDAR SENIOR COLLEGE OF ARTS, SCIENCE AND COMMERCE AZAM CAMPUS PUNE . (0221) INT TOT INT ΤН INT PR Crd Grd Grd Crd Min 012 028 006 014 000 Pnt Pnt Мах 030 070 015 035 000  $\sim \sim \sim$ ~~~ ~~~~ ~~~ ~~~ ~~~ ~~~~  $\sim \sim \sim \sim$ ~~~ ~~~ ~~~ PRN: 1342000630 Seat no.: 575 NAME: SHAIKH AMESA MUSHTAQUE AHMED Mother - AYESHA FUNDAMENTALS OF COMPUTERS BCA-111 P 027 P 059 \_\_\_ \_\_\_ \_\_\_ 086 4 A+ 9 36 PROBLEM SOLVING AND C PROGRAMMING P 025 P 048 073 4 8 32 BCA-112 \_\_\_ \_ \_ \_ А APPLIED MATHEMATICS P 028 P 031 4 BCA-113 059 B+ 7 28 \_\_\_ \_\_\_ \_\_\_ BUSINESS COMMUNICATION BCA-114 P 029 P 046 075 4 9 36 \_\_\_ \_\_\_ \_\_\_ A+ FUNDAMENTALS OF COMPUTERS LABORATORY 10 P 033 045 1.5 0 15 BCA-115 --- P 012 \_\_\_ \_ \_ \_ C PROGRAMMING LABORATORY P 012 P 029 \_\_\_ 041 1.5 9 13.5 BCA-116 \_\_\_ \_\_\_ A+ APPLIED MATHEMATICS LABORATORY P 015 050 10 15 BCA-117 \_\_\_ \_\_\_ P 035 \_\_\_ 1.5 0 BUSINESS COMMUNICATION LABORATORY BCA-118 \_\_\_ --- Р 015 Р 032 \_\_\_ 047 1.5 0 10 15 First Semester SGPA : 8.659 Credits Earned/Total : 22/22 Total Credit Points: 190.5 COMPUTER ORGANIZATION BCA-121 \* 030 \* 038 068 4 А 8 32 ADVANCED C PROGRAMMING \* 027 \* 050 077 4 9 36 BCA-122 A+ \_ \_ \_ ---\_\_\_ OPERATING SYSTEMS CONCEPTS \* 028 4 9 \* 053 081 36 BCA-123 \_ \_ \_ \_\_\_ \_\_\_ A+ DATABASE MANAGEMENT SYSTEMS-I \* 070 \* 030 100 10 4 40 BCA-124 \_ \_ \_ \_\_\_ \_ \_ \_ 0 COMPUTER ORGANIZATION LABORATORY \* 015 \* 028 \_\_\_ BCA-125 ---\_\_\_ 043 1.5 A+ 9 13.5 ADVANCED C PROGRAMMING LABORATORY BCA-126 \_\_\_ \* 015 \* 027 \_\_\_ 042 1.5 A+ 9 13.5 OPERATING SYSTEMS LABORATORY --- \* 015 \* 028 043 BCA-127 ---\_\_\_ 1.5 A+ 9 13.5 DATABASE MANAGEMENT SYSTEMS - I LABORATORY --- -- \* 015 \* 027 --- 042 1.5 9 13.5 BCA-128 A+ Second Semester SGPA : 9.000 Credits Earned/Total : 22/22 Total Credit Points: 198 First Year Total Credits Earned : 44/44 DEMOCRACY, ELECTION AND GOVERNANCE --- \*"0" 22999 2 \_\_\_ \_\_\_ PHYSICAL EDUCATION (GROUP-I, SEM-II) --- \*"0" \_\_\_ 2 G-1 \_ \_ \_ \_\_\_ \_\_\_ 

CAAP010790-MCE SC	OCIETY ABE		AMDARS	Ledger ENIOR CO PUNE .	DLLEG		S,SCIE	NCE A	ND (	COMMERCE	AZAM	CAMPUS
Min Max	012 0 030 0	TH 028 070	INT 006 015	PR 014 035	INT 000 000	Tot	Crd		Pnt	Pnt		
PRN: 1342000631	Seat no.:			SHAIKH		~~~ ~~~ USMAN	~~~ Mothe	~~~ г – К				
FUNDAMENTALS OF CO BCA-111 F	MPUTERS P 027 P (	070				097	4	0	10	40		
PROBLEM SOLVING AN BCA-112 F	NDCPROGE 2027 P(		G 			080	4	A+	9	36		
APPLIED MATHEMATIC BCA-113	сs 2029 р(	035				064	4	А	8	32		
BUSINESS COMMUNICA BCA-114 F	ATION 2029 P (	055				084	4	A+	9	36		
FUNDAMENTALS OF CC BCA-115				033		047	1.5	0	10	15		
C PROGRAMMING LABC BCA-116		P	014 P	029		043	1.5	A+	9	13.5		
APPLIED MATHEMATIC BCA-117	S LABORAT		014 P	031		045	1.5	0	10	15		
BUSINESS COMMUNICA BCA-118		P	015 P			045	1.5	0	10	15		
First Semester Total Credit Poir			Credits	Earned,	/Tota	1 : 22/2	2					
COMPUTER ORGANIZAT BCA-121	TION 3030 * (	046				076	4	A+	9	36		
-	* 027 * (	052				079	4	A+	9	36		
	* 025 * (					094	4	0	10	40		
DATABASE MANAGEMEN BCA-124 *	NT SYSTEMS 029 * (					098	4	0	10	40		
COMPUTER ORGANIZAT BCA-125		RATORY *	014 *	020		034	1.5	А	8	12		
ADVANCED C PROGRAM BCA-126				033		046	1.5	0	10	15		
OPERATING SYSTEMS BCA-127		*		031		045	1.5	0	10	15		
DATABASE MANAGEMEN BCA-128		*	013 *	028			1.5	A+	9	13.5		
Second Semeste Total Credit Poir	nts: 207.5	5		s Earneo	d/Tota	al : 22/2	22					
First Year Total (												
DEMOCRACY, ELECTIC 22999	ON AND GO	/ERNANG	CE 		:	*"0"	2					
PHYSICAL EDUCATION G-1	(GROUP-]	I, SEM- 	-II) 		:	*"0"	2					
	•••••								• • • •			

CAAP010790-MCE SO	CIETY ABEDA			OLLEG			NCE A	AND (	COMMERCE	E AZAM	CAMPUS
Min Max	INT TH 012 028 030 070	INT 006 015	PR 014 035	INT 000 000	Tot	Crd		Grd Pnt	Pnt		
PRN: 1342000632	Seat no.: 57							~~~ - Sl	JLTANA		
FUNDAMENTALS OF CO BCA-111 P	MPUTERS 022 P 056				078	4	A+	9	36		
PROBLEM SOLVING AN BCA-112 P	ID C PROGRAMM 026 P 038	ING 			064	4	А	8	32		
APPLIED MATHEMATIC BCA-113 P	S 029 P 031				060	4	А	8	32		
BUSINESS COMMUNICA BCA-114 P	TION 029 P 050				079	4	A+	9	36		
FUNDAMENTALS OF CO BCA-115	MPUTERS LABO		031		046	1.5	0	10	15		
C PROGRAMMING LABO BCA-116	PRATORY	P 015 P	029		044	1.5	A+	9	13.5		
APPLIED MATHEMATIC BCA-117	S LABORATORY		033		047	1.5	0	10	15		
BUSINESS COMMUNICA BCA-118	TION LABORAT	ORY P 015 P	032		047	1.5	0	10	15		
First Semester Total Credit Poin		1 Credits	Earned	/Tota	1 : 22	/22					
COMPUTER ORGANIZAT BCA-121 *	ION 030 * 042				072	4	А	8	32		
ADVANCED C PROGRAM BCA-122 *	MING 028 * 042				070	4	А	8	32		
OPERATING SYSTEMS BCA-123 *	CONCEPTS 028 * 049				077	4	A+	9	36		
DATABASE MANAGEMEN BCA-124 *	IT SYSTEMS-I 029 * 069				098	4	0	10	40		
COMPUTER ORGANIZAT BCA-125			035		047	1.5	0	10	15		
ADVANCED C PROGRAM BCA-126			029		043	1.5	A+	9	13.5		
OPERATING SYSTEMS BCA-127			030		044	1.5	A+	9	13.5		
DATABASE MANAGEMEN BCA-128		I LABORAT * 014 *			048	1.5	0	10	15		
Second Semeste Total Credit Poin		55 Credit	s Earne	d/Tot	al : 2	2/22					
First Year Total C	redits Earne	d : 44/44									
DEMOCRACY, ELECTIO 22999	ON AND GOVERN	ANCE			*"0"	2					
PHYSICAL EDUCATION G-1	I (GROUP-I, S	EM-II) 			*"0"	2					
							••••				

CAAP010790-MCE SOC				OLLEG		rs,sci	ENCE A	ND C	OMMERCE	AZAM	CAMPL	JS
Min (	INT TH 012 028 030 070	INT 006 015	PR 014 035	INT 000 000	Tot	Crd		Pnt	Pnt			
PRN: 1342000633 Se	eat no.: 578				AZ ASHF		~~~ Mothe		~~~ SHIRIN			
FUNDAMENTALS OF COMP BCA-111 P (	PUTERS 026 P 060				086	4	A+	9	36			
PROBLEM SOLVING AND BCA-112 P (	C PROGRAMMIN 027 P 053	G 			080	4	A+	9	36			
APPLIED MATHEMATICS BCA-113 P (	028 P 043				071	4	A	8	32			
BUSINESS COMMUNICATI BCA-114 P (	ION 027 P 055				082	4	A+	9	36			
FUNDAMENTALS OF COMP BCA-115			033		047	1.5	0	10	15			
C PROGRAMMING LABORA BCA-116 -		014 P	020		034	1.5	A	8	12			
APPLIED MATHEMATICS BCA-117		014 P	031		045	1.5	0	10	15			
BUSINESS COMMUNICATI BCA-118 -		Y 015 P	031		046	1.5	0	10	15			
First Semester S Total Credit Points		Credits	Earned	/Tota	1:22/2	22						
COMPUTER ORGANIZATIO BCA-121 * (	ON 030 * 053				083	4	A+	9	36			
ADVANCED C PROGRAMM BCA-122 * (	ING 026 * 059				085	4	A+	9	36			
OPERATING SYSTEMS CO BCA-123 * (	ONCEPTS 026 * 063				089	4	A+	9	36			
DATABASE MANAGEMENT BCA-124 * (	SYSTEMS-I 028 * 069				097	4	0	10	40			
COMPUTER ORGANIZATIO			028		042	1.5	A+	9	13.5			
ADVANCED C PROGRAMM BCA-126			034		048	1.5	0	10	15			
OPERATING SYSTEMS LA BCA-127		014 *	021		035	1.5	A	8	12			
DATABASE MANAGEMENT BCA-128	SYSTEMS - I *	LABORAT 013 *	ORY 023		036	1.5	A	8	12			
Second Semester Total Credit Points		Credit	s Earne	d/Tot	al : 22,	/22						
First Year Total Cre	edits Earned	: 44/44										
DEMOCRACY, ELECTION 22999					*"A+"	2						
PHYSICAL EDUCATION G-1	(GROUP-I, SEM 	-II) 			*"0"	2						

CAADO10700_MCE SOCTETV AREDA	TNAMDAR SENTOR COLLECE (	OF ARTS, SCIENCE AND COMMERCE AZAM CAMPUS									
CAAPULUT SU-MICE SUCLETT ADEDA	INAMUAR SENIOR COLLEGE (	OF ARTS, SCIENCE AND COMMERCE AZAM CAMPUS									
	PUNE . (022)	11									
	PUNE . (022.	. 1 /									

				PUNE .	(U	221)				
Min Max	INT 012 030	TH 028 070	INT 006 015	PR 014 035	INT 000 000	Tot	Crd	Grd	Grd Pnt	
PRN: 1342000634						A AKHLAS		her -		SAR
FUNDAMENTALS OF BCA-111		035				060	4	A	8	32
PROBLEM SOLVING BCA-112		GRAMMIN 045	G			067	4	A	8	32
APPLIED MATHEMA BCA-113		029				055	4	B+	7	28
BUSINESS COMMUN BCA-114		042				069	4	A	8	32
FUNDAMENTALS OF BCA-115	COMPUTERS			035		049	1.5	0	10	15
C PROGRAMMING LA BCA-116	ABORATORY	P	013 P	024		037	1.5	А	8	12
APPLIED MATHEMA BCA-117	TICS LABOR	-	013 P	030		043	1.5	A+	9	13.5
BUSINESS COMMUN BCA-118	ICATION LA			033		048	1.5	0	10	15
First Semes <sup>.</sup> Total Credit Po			Credits	Earned	/Tota	1 : 22/2	2			
COMPUTER ORGANIZ BCA-121		028				057	4	B+	7	28
ADVANCED C PROG BCA-122		035				062	4	A	8	32
OPERATING SYSTE BCA-123		s 042				069	4	A	8	32
DATABASE MANAGE BCA-124		MS-I 045				074	4	A	8	32
COMPUTER ORGANIZ BCA-125	ZATION LAE			028		043	1.5	A+	9	13.5
ADVANCED C PROG BCA-126	RAMMING LA			028		043	1.5	A+	9	13.5
OPERATING SYSTE	MS LABORAT		014 *	030		044	1.5	A+	9	13.5
DATABASE MANAGE	MENT SYSTE			ORY 027		042	1.5	A+	9	13.5
Second Seme Total Credit Po	ster SGPA pints: 178	: 8.091			d/Tot				-	
First Year Tota	l Credits	Earned	: 44/44							
DEMOCRACY, ELEC 22999	TION AND G	OVERNAN	CE			*"A"	2			
PHYSICAL EDUCAT: G-1	ION (GROUF	P-I, SEM	-II) 			*"A+"	2			
\$ 0.1										

CAAP010790-MCE	SOCIETY	ABEDA 🗄			COLLEG	E OF A		NCE /	AND (	COMMERC	E AZAM	CAMPU	s
Min Max	INT 012 030	ТН 028 070	INT 006 015	PUNE . PR 014 035	INT 000 000	221) Tot	Crd		Grd Pnt	Pnt			
PRN: 1342000635		no.: 580		E: SHAIK					~~~ - TA	~~~ AIYABA			
FUNDAMENTALS OF C BCA-111	COMPUTE					081	4	A+	9	36			
PROBLEM SOLVING A BCA-112	NDCP P025	ROGRAMM: P 050	ING 			075	4	A+	9	36			
APPLIED MATHEMATI BCA-113	CS P 026	Р 036				062	4	А	8	32			
BUSINESS COMMUNIC BCA-114		P 048				075	4	A+	9	36			
FUNDAMENTALS OF C BCA-115		RS LABOI	ratory P 015	P 030		045	1.5	0	10	15			
C PROGRAMMING LAE BCA-116	BORATOR	Y	P 015	р 029		044	1.5	A+	9	13.5			
APPLIED MATHEMATI BCA-117	CS LAB	ORATORY	P 014	P 031		045	1.5	0	10	15			
BUSINESS COMMUNIC BCA-118	ATION	LABORAT	DRY P 015	P 032		047	1.5	0	10	15			
First Semeste Total Credit Poi			3 Credit	ts Earne	ed/Tota	1:22	2/22						
COMPUTER ORGANIZA BCA-121		* 048				078	4	A+	9	36			
ADVANCED C PROGRA BCA-122	AMMING * 029	* 049				078	4	A+	9	36			
OPERATING SYSTEMS BCA-123	5 CONCE * 026					089	4	A+	9	36			
DATABASE MANAGEME BCA-124	ENT SYS * 027					097	4	0	10	40			
COMPUTER ORGANIZA BCA-125	ATION L	ABORATO		* 025		039	1.5	A+	9	13.5			
ADVANCED C PROGRA BCA-126	AMMING	LABORAT		* 029		044	1.5	A+	9	13.5			
OPERATING SYSTEMS BCA-127	LABOR		* 013	* 029		042	1.5	A+	9	13.5			
DATABASE MANAGEME BCA-128	ENT SYS		I LABORA * 015			045	1.5	0	10	15			
Second Semest Total Credit Poi			50 Cred <sup>-</sup>	its Earn	ed/Tot	al : 2	22/22						
First Year Total	Credit	s Earne	d : 44/4	14									
DEMOCRACY, ELECTI 22999	ON AND	GOVERN	ANCE			*"A"	2						
PHYSICAL EDUCATIO G-1	ON (GRO	UP-I, SI 	EM-II) 			*"A+"	2						

CAAP010790-MCE SO	CIETY AE			-	DLLEGI		RTS, SCIE	NCE A	ND (	COMMERCE AZAM CAMPUS
Min Max	INT 012 030	TH 028 070	INT 006 015	PR 014 035	000 000	Tot	Crd		Pnt	Pnt
PRN: 1342000636	Seat no.		NAME:	SHAIKH			RAHMAN	~~~ Mot		- NAZNIN
FUNDAMENTALS OF CO BCA-111 P	MPUTERS 026 P	056				082	4	A+	9	36
PROBLEM SOLVING AN BCA-112 P	D C PROC 025 P		G 			075	4	A+	9	36
APPLIED MATHEMATIC BCA-113 P	-	039				066	4	А	8	32
BUSINESS COMMUNICA BCA-114 P		048				072	4	А	8	32
FUNDAMENTALS OF CO BCA-115				033		048	1.5	0	10	15
C PROGRAMMING LABO BCA-116	RATORY	P	015 P	026		041	1.5	A+	9	13.5
APPLIED MATHEMATIC BCA-117	S LABORA		015 P	029		044	1.5	A+	9	13.5
BUSINESS COMMUNICA BCA-118	TION LAE			034		049	1.5	0	10	15
First Semester Total Credit Poin		8.773	Credits	Earned,	/Tota	: 22,	/22			
COMPUTER ORGANIZAT BCA-121 *		045				071	4	A	8	32
ADVANCED C PROGRAM BCA-122 *		050				076	4	A+	9	36
OPERATING SYSTEMS BCA-123 *	CONCEPTS 026 *					088	4	A+	9	36
DATABASE MANAGEMEN BCA-124 *	T SYSTEM 028 *					084	4	A+	9	36
COMPUTER ORGANIZAT BCA-125				022		035	1.5	A	8	12
ADVANCED C PROGRAM BCA-126	MING LAE			033		048	1.5	0	10	15
OPERATING SYSTEMS BCA-127	LABORATO		015 *	031		046	1.5	0	10	15
DATABASE MANAGEMEN BCA-128			LABORATO 015 *			043	1.5	A+	9	13.5
Second Semeste Total Credit Poin	r SGPA : ts: 195.	8.886 5	Credit	s Earneo	d/Tota	al : 22	2/22			
First Year Total C	redits E	Earned	: 44/44							
DEMOCRACY, ELECTIO 22999	N AND GC	OVERNAN	CE 		'	"'A''	2			
PHYSICAL EDUCATION G-1	(GROUP- 	-I, SEM 			'	<sup>•</sup> "0"	2			

CAAP010790-MCE SO	CIETY ABEDA I			OLLEG		TS,SCIE	ENCE A	ND COMMERCE A	ZAM CAMPUS
Min Max	INT TH 012 028 030 070	INT 006 015	PR 014 035	INT 000 000	Tot	Crd		Grd Crd Pnt Pnt	
PRN: 1342000637	Seat no.: 582							er - SALEHA	
FUNDAMENTALS OF CO BCA-111 P	MPUTERS 015 P 057				072	4	А	8 32	
PROBLEM SOLVING AN BCA-112 P	ID C PROGRAMMI 024 P 050	NG 			074	4	A	8 32	
APPLIED MATHEMATIC BCA-113 P	сs 2023 р045				068	4	A	8 32	
BUSINESS COMMUNICA BCA-114 P	TION 9 015 P 038				053	4	В	6 24	
FUNDAMENTALS OF CO BCA-115			029		043	1.5	A+	9 13.5	
C PROGRAMMING LABO BCA-116		р 012 р	026		038	1.5	A+	9 13.5	
APPLIED MATHEMATIC BCA-117		Р 014 Р	028		042	1.5	A+	9 13.5	
BUSINESS COMMUNICA BCA-118		RY P 014 P	032		046	1.5	0	10 15	
First Semester Total Credit Poin		Credits	Earned	/Tota	1:22/	22			
COMPUTER ORGANIZAT BCA-121 *	ION 019 * 043				062	4	А	8 32	
ADVANCED C PROGRAM BCA-122 *	MING 021 * 042				063	4	A	8 32	
OPERATING SYSTEMS BCA-123 *	CONCEPTS 020 * 050				070	4	А	8 32	
DATABASE MANAGEMEN BCA-124 *	IT SYSTEMS-I 024 * 056				080	4	A+	9 36	
COMPUTER ORGANIZAT BCA-125			020		030	1.5	А	8 12	
ADVANCED C PROGRAM BCA-126			028		042	1.5	A+	9 13.5	
OPERATING SYSTEMS BCA-127		* 013 *	027		040	1.5	A+	9 13.5	
DATABASE MANAGEMEN BCA-128	IT SYSTEMS - I	LABORAT * 014 *			042	1.5	A+	9 13.5	
Second Semeste Total Credit Poin		6 Credit	s Earne	d/Tot	al : 22	/22			
First Year Total C	redits Earned	: 44/44							
DEMOCRACY, ELECTIO 22999	N AND GOVERNA	NCE 			*"C"	2			
PHYSICAL EDUCATION G-1	I (GROUP-I, SE	M-II) 			*"A+"	2			

College Ledger(Apr-2021) CAAP010790-MCE SOCIETY ABEDA INAMDAR SENIOR COLLEGE OF ART PUNE . (0221)	S,SCIE	NCE AND COMMERCE AZAM CAMPUS
INT TH INT PR INT TOT Min 012 028 006 014 000 Max 030 070 015 035 000	Crd	Grd Grd Crd Pnt Pnt
PRN: 1342000638 Seat no.: 583 NAME: SHAIKH HABIBA RAFIK		
FUNDAMENTALS OF COMPUTERS BCA-111 P 027 P 070 097	4	0 10 40
PROBLEM SOLVING AND C PROGRAMMING BCA-112 P 023 P 060 083	4	A+ 9 36
APPLIED MATHEMATICS BCA-113 P 026 P 048 074	4	A 8 32
BUSINESS COMMUNICATION BCA-114 P 029 P 057 086	4	A+ 9 36
FUNDAMENTALS OF COMPUTERS LABORATORY BCA-115 P 015 P 033 048	1.5	0 10 15
C PROGRAMMING LABORATORY BCA-116 P 013 P 029 042	1.5	A+ 9 13.5
APPLIED MATHEMATICS LABORATORY BCA-117 P 014 P 031 045	1.5	0 10 15
BUSINESS COMMUNICATION LABORATORY BCA-118 P 015 P 033 048	1.5	0 10 15
First Semester SGPA : 9.205 Credits Earned/Total : 22/2 Total Credit Points: 202.5	22	
COMPUTER ORGANIZATION BCA-121 * 030 * 045 075	4	A+ 9 36
ADVANCED C PROGRAMMING BCA-122 * 028 * 066 094	4	0 10 40
OPERATING SYSTEMS CONCEPTS BCA-123 * 029 * 070 099	4	o 10 40
DATABASE MANAGEMENT SYSTEMS-I BCA-124 * 030 * 070 100	4	o 10 40
COMPUTER ORGANIZATION LABORATORY BCA-125 * 015 * 028 043	1.5	A+ 9 13.5
ADVANCED C PROGRAMMING LABORATORY BCA-126 * 015 * 031 046	1.5	0 10 15
OPERATING SYSTEMS LABORATORY BCA-127 * 015 * 034 049	1.5	0 10 15
DATABASE MANAGEMENT SYSTEMS - I LABORATORY BCA-128 * 015 * 034 049	1.5	0 10 15
Second Semester SGPA : 9.750 Credits Earned/Total : 22/ Total Credit Points: 214.5	22	
First Year Total Credits Earned : 44/44		
DEMOCRACY, ELECTION AND GOVERNANCE 22999 *"A+"	2	
PHYSICAL EDUCATION (GROUP-I, SEM-II) G-1 *"0"	2	

CAAP010790-MCE	SOCIETY A				OLLEG	E OF /		ENCE /	AND (		E AZAM	CAMPU
	INT	тн	INT	PUNE . PR	INT	221) Tot	Crd	Grd	Grd			
Min Max	012 030	028 070 ~~~~~ ~~	006 015	014 035	000		~~~ ~~~		Pnt	-		
PRN: 1342000639		o.: 584					ALI ABID			ther - I	RUKSANA	
FUNDAMENTALS OF BCA-111	COMPUTER P 016					071	4	A	8	32		
PROBLEM SOLVING BCA-112	AND C PR P 016		G 			064	4	А	8	32		
APPLIED MATHEMAT BCA-113		P 038				053	4	в	6	24		
BUSINESS COMMUNI BCA-114		Р 049				071	4	А	8	32		
FUNDAMENTALS OF BCA-115		P		032		046	1.5	0	10	15		
C PROGRAMMING LA BCA-116	BORATORY		014 F	029		043	1.5	A+	9	13.5		
APPLIED MATHEMAT BCA-117	ICS LABO		014 F	• 020		034	1.5	А	8	12		
BUSINESS COMMUNI BCA-118	CATION L			o 032		047	1.5	0	10	15		
First Semest Total Credit Po	er SGPA	: 7.977 5.5	Credits	Earned	/Tota	1:2	2/22					
COMPUTER ORGANIZ BCA-121		* 043				070	4	A	8	32		
ADVANCED C PROGR BCA-122		* 049				074	4	A	8	32		
OPERATING SYSTEM BCA-123	IS CONCEP * 026					088	4	A+	9	36		
DATABASE MANAGEM BCA-124	IENT SYST * 027					097	4	0	10	40		
COMPUTER ORGANIZ BCA-125	ATION LA			• 030		042	1.5	A+	9	13.5		
ADVANCED C PROGE BCA-126	AMMING L			026		039	1.5	A+	9	13.5		
OPERATING SYSTEM BCA-127	IS LABORA		013 *	028		041	1.5	A+	9	13.5		
DATABASE MANAGEM BCA-128	IENT SYST	EMS - I *				037	1.5	A	8	12		
Second Semes Total Credit Po			Credit	s Earne	d/Tot	al : 2	22/22					
First Year Total	Credits	Earned	: 44/44	ŀ								
DEMOCRACY, ELECT 22999	ION AND	GOVERNAN	CE 			*"B+"	2					
PHYSICAL EDUCATI G-1	ON (GROU	P-I, SEM 	-II) 			*"0"	2					
									• • • •			

CAAP010790-MCE SO	CIETY A	BEDA II	-	e Ledger SENIOR CO PUNE .	OLLEG		RTS, SCIE	NCE A	ND (	COMMERCE AZAM CAMPUS
Min Max	INT 012 030	TH 028 070	INT 006 015	PR 014 035	000 000	Tot	Crd		Pnt	Pnt
	Seat no			SHAIKH				~~~ Mot		- FOUZIA
FUNDAMENTALS OF CO BCA-111 P	MPUTERS					083	4	A+	9	36
PROBLEM SOLVING AN BCA-112 P		GRAMMII 039	NG 			067	4	A	8	32
APPLIED MATHEMATIC BCA-113 P		050				077	4	A+	9	36
BUSINESS COMMUNICA BCA-114 P		052				082	4	A+	9	36
FUNDAMENTALS OF CO BCA-115	MPUTERS			031		046	1.5	0	10	15
C PROGRAMMING LABO BCA-116	RATORY	1	P 015 F	024		039	1.5	A+	9	13.5
APPLIED MATHEMATIC BCA-117	S LABOR		P 013 F	029		042	1.5	A+	9	13.5
BUSINESS COMMUNICA BCA-118	TION LA		RY P 015 P	033		048	1.5	0	10	15
First Semester Total Credit Poin			Credits	Earned,	/Tota	l : 22,	/22			
COMPUTER ORGANIZAT BCA-121 *		050				079	4	A+	9	36
ADVANCED C PROGRAM BCA-122 *		057				084	4	A+	9	36
OPERATING SYSTEMS BCA-123 *	CONCEPT 025 *					092	4	0	10	40
DATABASE MANAGEMEN BCA-124 *	T SYSTE 028 *					098	4	0	10	40
COMPUTER ORGANIZAT BCA-125	ION LAB			025		038	1.5	A+	9	13.5
ADVANCED C PROGRAM BCA-126	MING LA			033		047	1.5	0	10	15
OPERATING SYSTEMS BCA-127		'		034		047	1.5	0	10	15
DATABASE MANAGEMEN BCA-128			LABORAT * 014 *			042	1.5	A+	9	13.5
Second Semeste Total Credit Poin			) Credit	s Earne	d/Tota	al : 22	2/22			
First Year Total C	redits	Earned	: 44/44	÷						
DEMOCRACY, ELECTIO 22999	N AND G	OVERNAI	NCE		'	<sup>к</sup> "А"	2			
PHYSICAL EDUCATION G-1	(GROUP	-I, SEN 	M-II) 		;	<sup>;</sup> "0"	2			
									••••	

СААР010790-МСЕ	SOCIETY A	BEDA IN		ENIOR C	OLLEG	E OF ART	S,SCIE	NCE /	AND C		CE AZAM	CAMPUS	S
	INT	TH	INT	PUNE .	INT	221) Tot	Crd	Grd	Grd				
Min Max	012 030	028 070	006 015 ~~~~ ~~	014 035	000			~~~~	Pnt	-			
PRN: 1342000641			NAME:								HAMEEDA		
FUNDAMENTALS OF BCA-111	COMPUTERS P 027 P	067				094	4	0	10	40			
PROBLEM SOLVING BCA-112	P 026 P	GRAMMIN 060	NG 			086	4	A+	9	36			
APPLIED MATHEMAT BCA-113		045				073	4	A	8	32			
BUSINESS COMMUNI BCA-114		062				091	4	0	10	40			
FUNDAMENTALS OF BCA-115	COMPUTERS			033		048	1.5	0	10	15			
C PROGRAMMING LA BCA-116	BORATORY	I	Р 015 Р	032		047	1.5	0	10	15			
APPLIED MATHEMAT BCA-117	ICS LABOR		Р 012 Р	032		044	1.5	A+	9	13.5			
BUSINESS COMMUNI BCA-118	CATION LA		RY P 015 P	030		045	1.5	0	10	15			
First Semest Total Credit Po	er SGPA : ints: 206	9.386 .5	Credits	Earned,	/Tota	1 : 22/2	22						
COMPUTER ORGANIZ BCA-121		053				082	4	A+	9	36			
ADVANCED C PROGR BCA-122		062				089	4	A+	9	36			
OPERATING SYSTEM BCA-123	IS CONCEPT * 028 *					091	4	0	10	40			
DATABASE MANAGEM BCA-124	ENT SYSTE * 029 *					099	4	0	10	40			
COMPUTER ORGANIZ BCA-125	ATION LAB			020		035	1.5	А	8	12			
ADVANCED C PROGR BCA-126	AMMING LA			034		048	1.5	0	10	15			
OPERATING SYSTEM BCA-127	IS LABORAT		* 014 *	030		044	1.5	A+	9	13.5			
DATABASE MANAGEM BCA-128			LABORAT * 014 *			048	1.5	0	10	15			
Second Semes Total Credit Po			2 Credit	s Earne	d/Tot	al : 22/	22						
First Year Total	Credits	Earned	: 44/44										
DEMOCRACY, ELECT 22999	ION AND G	OVERNAN	NCE 			*"A+"	2						
PHYSICAL EDUCATI G-1	ON (GROUP	-I, SEN 	M-II) 			*"0"	2						

		2 G. L_	College	Ledge	er(Apr	-2021	L)						
CAAP010790-MCE SC	CIETY	ABEDA	INAMDAR S	ENIOR PUNE .	COLLEG (0	E OF 221)	ARTS,SCIE	NCE	AND (	COMMER	CE AZA	M CAM	۶US
Min Max	INT 012 030	ТН 028 070	INT 006 015	PR 014 035	INT 000 000				l Grd Pnt	Pnt			
PRN: 1342000642			~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~				NASIRODDI				AFISA		
FUNDAMENTALS OF CO BCA-111 F		rs P 060				087	4	A+	9	36			
PROBLEM SOLVING AN BCA-112 F	-	rogramm: p 060	ING 			086	4	A+	9	36			
APPLIED MATHEMATIC BCA-113 F		P 039				065	4	A	8	32			
BUSINESS COMMUNICA BCA-114 F		P 034				060	4	A	8	32			
FUNDAMENTALS OF CO BCA-115	MPUTER	RS LABOI		031		045	1.5	0	10	15			
C PROGRAMMING LABO BCA-116	RATOR		P 014 F	024		038	1.5	A+	9	13.5			
APPLIED MATHEMATIC BCA-117	S LABO		P 014 F	028		042	1.5	A+	9	13.5			
BUSINESS COMMUNICA BCA-118	TION I		ORY P 015 F	033		048	1.5	0	10	15			
First Semester Total Credit Poir			3 Credits	Earne	d/Tota	1:2	22/22						
COMPUTER ORGANIZAT BCA-121 *		* 046				075	4	A+	9	36			
ADVANCED C PROGRAM BCA-122	MING 025	* 046				071	4	A	8	32			
OPERATING SYSTEMS BCA-123		PTS * 062				086	4	A+	9	36			
DATABASE MANAGEMEN BCA-124 *		TEMS-I * 067				096	4	0	10	40			
COMPUTER ORGANIZAT BCA-125		ABORATO		028		041	1.5	A+	9	13.5			
ADVANCED C PROGRAM BCA-126		LABORAT		030		043	1.5	A+	9	13.5			
OPERATING SYSTEMS BCA-127			* 014 *	027		041	1.5	A+	9	13.5			
DATABASE MANAGEMEN BCA-128	IT SYST		I LABORAT * 013 *			033	1.5	A	8	12			
Second Semeste Total Credit Poir	nts: 19	96.5			ed/Tot	al :	22/22						
First Year Total (	redits	s Earne	d : 44/44	ŀ									
DEMOCRACY, ELECTIC 22999	N AND	GOVERN	ANCE			*''A+'	' 2						
PHYSICAL EDUCATION G-1	I (GROU	JP-I, SI 	EM-II) 			*"A"	2						

		College								
CAAP010790-MCE SOCIET	Y ABEDA I		ENIOR C PUNE .		e of a 221)	RTS,SCIE	NCE A	AND C	COMME	ERCE AZAM CAMPUS
INT Min 012 Max 030 ~~~~~~	TH 028 070	INT 006 015	PR 014 035	000 000	Tot	Crd		Grd Pnt	Pnt	
	no.: 588					IKH NASI				NAFISA BI
FUNDAMENTALS OF COMPUT BCA-111 P 024	ers p 050				074	4	A	8	32	
PROBLEM SOLVING AND C BCA-112 P 026		NG 			074	4	A	8	32	
APPLIED MATHEMATICS BCA-113 P 029	P 042				071	4	А	8	32	
BUSINESS COMMUNICATION BCA-114 P 028	P 036				064	4	A	8	32	
FUNDAMENTALS OF COMPUT BCA-115			031		046	1.5	0	10	15	
C PROGRAMMING LABORATO BCA-116		Р 015 Р	029		044	1.5	A+	9	13.5	5
APPLIED MATHEMATICS LA BCA-117		Р 015 Р	031		046	1.5	0	10	15	
BUSINESS COMMUNICATION BCA-118			033		047	1.5	0	10	15	
First Semester SGP. Total Credit Points:		Credits	Earned	/Tota	1 : 22	/22				
COMPUTER ORGANIZATION BCA-121 * 030	* 048				078	4	A+	9	36	
ADVANCED C PROGRAMMING BCA-122 * 029	* 046				075	4	A+	9	36	
OPERATING SYSTEMS CONC BCA-123 * 029	EPTS * 059				088	4	A+	9	36	
DATABASE MANAGEMENT SY BCA-124 * 029	STEMS-I * 064				093	4	0	10	40	
COMPUTER ORGANIZATION BCA-125			020		035	1.5	А	8	12	
ADVANCED C PROGRAMMING BCA-126			028		042	1.5	A+	9	13.5	5
OPERATING SYSTEMS LABO BCA-127		* 014 *	020		034	1.5	А	8	12	
DATABASE MANAGEMENT SY BCA-128		LABORAT * 014 *			037	1.5	А	8	12	
Second Semester SG Total Credit Points:		7 Credit	s Earne	d/Tot	al : 2	2/22				
First Year Total Credi	ts Earned	: 44/44								
DEMOCRACY, ELECTION AN 22999	D GOVERNA	NCE			*"0"	2				
PHYSICAL EDUCATION (GR G-1	OUP-I, SE	M-II) 			*"0"	2				
									••••	

### Savitribai Phule Pune University Pune-411 007

BCA\_Sc\_2019Pattern (CREDIT PATTERN) College Ledger(Apr-2021) CAAP010790-MCE SOCIETY ABEDA INAMDAR SENIOR COLLEGE OF ARTS, SCIENCE AND COMMERCE AZAM CAMPUS PUNE . (0221) INT TOT INT ΤН INT PR Crd Grd Grd Crd Min 012 028 006 014 000 Pnt Pnt Мах 030 070 015 035 000 ~~~ ~~~ ~~~~ ~~~ ~~~ ~~~ ~~~ ~~~ ~~~ ~~~~  $\sim \sim \sim$ PRN: 1342000644 Seat no.: 589 NAME: SHAIKH RUZAN UMAR Mother - NAZNEEN SHAIKH FUNDAMENTALS OF COMPUTERS P 026 P 062 36 BCA-111 \_\_\_ \_\_\_ \_\_\_ 088 4 A+ 9 PROBLEM SOLVING AND C PROGRAMMING P 020 P 056 076 4 9 36 BCA-112 \_ \_ \_ \_\_\_ \_\_\_ A+ APPLIED MATHEMATICS P 024 P 043 067 4 32 BCA-113 А 8 \_\_\_ \_\_\_ \_\_\_ BUSINESS COMMUNICATION P 020 P 042 BCA-114 \_\_\_ 062 4 А 8 32 \_\_\_ \_\_\_ FUNDAMENTALS OF COMPUTERS LABORATORY --- \* 014 \* 031 045 10 15 1.5 0 BCA-115 \_\_\_ \_ \_ \_ C PROGRAMMING LABORATORY --- \* 014 \* 026 040 1.5 9 13.5 BCA-116 \_\_\_ \_\_\_ A+

\* 014 \* 025 039 9 13.5 BCA-117 \_\_\_ \_\_\_ \_\_\_ 1.5 A+ BUSINESS COMMUNICATION LABORATORY \_\_\_ --- \* 015 \* 034 BCA-118 \_\_\_ 049 1.5 0 10 15 First Semester SGPA : 8.773 Credits Earned/Total : 22/22 Total Credit Points: 193 COMPUTER ORGANIZATION BCA-121 \* 027 \* 050 \_\_\_ 077 4 A+ 9 36 ADVANCED C PROGRAMMING \* 028 \* 052 080 4 9 36 BCA-122 \_\_\_ A+\_\_\_ \_\_\_

BCA 122	020	052				000	-	AT	5	50
OPERATING SYSTE BCA-123		s 050				076	4	A+	9	36
DATABASE MANAGE BCA-124		MS-I 070				100	4	0	10	40
COMPUTER ORGANI BCA-125	ZATION LAE	ORATO	<pre> xy  * 013 </pre>	* 020		033	1.5	A	8	12
ADVANCED C PROG BCA-126	RAMMING LA	BORAT(	ORY * 015	* 032		047	1.5	0	10	15
OPERATING SYSTE BCA-127	MS LABORAT	ORY	* 015	* 032		047	1.5	0	10	15
DATABASE MANAGE BCA-128	MENT SYSTE	MS - 1	E LABOR * 015	ATORY * 033		048	1.5	0	10	15
Second Seme Total Credit P			18 Cred	its Earne	ed/Tot	al : 22/	/22			

First Year Total Credits Earned : 44/44

\_\_\_

\_\_\_

DEMOCRACY, ELECTION AND GOVERNANCE 22999

G-1

APPLIED MATHEMATICS LABORATORY

### --- \*"A" 2 \_\_\_ \_\_\_ PHYSICAL EDUCATION (GROUP-I, SEM-II) --- \*"0" 2 \_\_\_ \_\_\_ \_\_\_

		Correg	je Leuy	ei (Api -2	021)	)						
CAAP010790-MCE SOCIET	Y ABFDA	TNAMDAR	SENTOR	COLLEGE	OF A	ARTS.	SCIENCE	AND	COMMERCE	A7AM	CAMPUS	
			PUNE .			,	0011101	/		<i>,</i> . <u> </u>	0	
			TONE .	. (022	<b>T</b> )							

Min Max	INT 012 030	ТН 028 070	INT 006 015	PR 014 035	INT 000 000	Tot	Crd		l Grd Pnt	Pnt
PRN: 1342000645			NAME:				Mothe			
FUNDAMENTALS OF BCA-111	COMPUTERS P 029 F					078	4	A+	9	36
PROBLEM SOLVING BCA-112		GRAMMIN 056	G 			082	4	A+	9	36
APPLIED MATHEMAT BCA-113		9 038				065	4	A	8	32
BUSINESS COMMUNI BCA-114		• 042				071	4	А	8	32
FUNDAMENTALS OF BCA-115	COMPUTERS			033		047	1.5	0	10	15
C PROGRAMMING LA BCA-116	BORATORY	P	014 р	029		043	1.5	A+	9	13.5
APPLIED MATHEMAT BCA-117	ICS LABOR		014 P	032		046	1.5	0	10	15
BUSINESS COMMUNI BCA-118	CATION LA		Y 014 P	032		046	1.5	0	10	15
First Semest Total Credit Po			Credits	Earned	/Tota	1 : 22/2	2			
COMPUTER ORGANIZ BCA-121		046				075	4	A+	9	36
ADVANCED C PROGR BCA-122		057				083	4	A+	9	36
OPERATING SYSTEM BCA-123		-s • 066				091	4	0	10	40
DATABASE MANAGEM BCA-124		MS-I 069				097	4	0	10	40
COMPUTER ORGANIZ BCA-125	ATION LAE			020		033	1.5	А	8	12
ADVANCED C PROGR BCA-126	AMMING LA			027		041	1.5	A+	9	13.5
OPERATING SYSTEM BCA-127	S LABORAT	-	014 *	021		035	1.5	A	8	12
DATABASE MANAGEM BCA-128	ENT SYSTE	MS - I	LABORAT	ORY 034			1.5	0	10	15
Second Semes Total Credit Po			Credit	s Earne	d/Tota	al : 22/	22			
First Year Total			: 44/44							
DEMOCRACY, ELECT 22999	ION AND G	OVERNAN	CE		;	*"0"	2			
PHYSICAL EDUCATI G-1	ON (GROUF	P-I, SEM	-II) 		;	*''A+''	2			

		55								
CAAP010790-MCE SOCIETY	ABEDA INAMDAR	SENIOR	COLLEGE OF	ARTS	,SCIENCE	AND	COMMERCE	AZAM	CAMPUS	
		PUNE	. (0221)	)	-					

				PUNE .	(0.	221)				
Min Max	INT 012 030	TH 028 070	INT 006 015	PR 014 035	INT 000 000	Tot	Crd		Grd Pnt	Crd Pnt
PRN: 1342000646			~~~~~ ~ 1 NAME			FAHEEM		~~~ ier -	~~~ IMR/	~~~ ANA
FUNDAMENTALS OF BCA-111	COMPUTI P 020					055	4	B+	7	28
PROBLEM SOLVING BCA-112	AND C I P 019		1ING 			062	4	A	8	32
APPLIED MATHEMA BCA-113	P 023	P 038				061	4	А	8	32
BUSINESS COMMUN BCA-114	ICATION P 022	P 036				058	4	B+	7	28
FUNDAMENTALS OF BCA-115				р 031		045	1.5	0	10	15
C PROGRAMMING L				Р 029		041	1.5	A+	9	13.5
APPLIED MATHEMA BCA-117			P 013	р 027		040	1.5	A+	9	13.5
BUSINESS COMMUN BCA-118			P 014	Р 032		046	1.5	0	10	15
First Semes Total Credit Po	oints: 1		5 Credit	s Earned	/Tota	1 : 22/2	2			
COMPUTER ORGANI BCA-121	* 026	* 043				069	4	А	8	32
ADVANCED C PROG BCA-122	* 027					073	4	А	8	32
OPERATING SYSTE	MS CONCI * 026					083	4	A+	9	36
DATABASE MANAGE BCA-124		STEMS-I * 066				094	4	0	10	40
COMPUTER ORGANI BCA-125			* 011	* 029		040	1.5	A+	9	13.5
ADVANCED C PROG BCA-126	RAMMING	LABORAT		* 022		037	1.5	А	8	12
OPERATING SYSTE BCA-127	MS LABO	RATORY	* 015	* 030		045	1.5	0	10	15
DATABASE MANAGE BCA-128			* 015	* 026		041	1.5	A+	9	13.5
Second Seme Total Credit Po	ster SGI oints: 1	PA : 8.8 194	318 Credi	ts Earne	d/Tota	al : 22/	22			
First Year Tota	l Credi	ts Earne	ed : 44/4	4						
DEMOCRACY, ELEC 22999	TION AND	D GOVERN	IANCE 		י	*"A"	2			
PHYSICAL EDUCAT G-1	ION (GRO	OUP-I, S 	EM-II)		;	*"0"	2			

CAAP010790-MCE SOCIETY		-	SENIOR ( PUNE .	OLLEG		TS,SCIE	NCE A	ND C	COMMERCE AZAM CAMPUS
INT Min 012 Max 030	ТН 028 070	INT 006 015	PR 014 035	INT 000 000	Tot	Crd	Grd	Pnt	Pnt
	no.: 592					KH AQUE			Mother - TABASSUM
FUNDAMENTALS OF COMPUTE BCA-111 P 027	RS P 063				090	4	0	10	40
PROBLEM SOLVING AND C F BCA-112 P 023	PROGRAMMIN P 070	G 			093	4	0	10	40
APPLIED MATHEMATICS BCA-113 P 025	P 057				082	4	A+	9	36
BUSINESS COMMUNICATION BCA-114 P 023	P 053				076	4	A+	9	36
FUNDAMENTALS OF COMPUTE BCA-115	P		• 031		046	1.5	0	10	15
C PROGRAMMING LABORATOR BCA-116	P	015 P	029		044	1.5	A+	9	13.5
APPLIED MATHEMATICS LAE BCA-117		014 P	028		042	1.5	A+	9	13.5
BUSINESS COMMUNICATION BCA-118	P	015 P				1.5	0	10	15
First Semester SGPA Total Credit Points: 2		Credits	Earneo	d/Tota	1:22/	22			
COMPUTER ORGANIZATION BCA-121 * 030	* 050				080	4	A+	9	36
ADVANCED C PROGRAMMING BCA-122 * 030	* 067				097	4	0	10	40
OPERATING SYSTEMS CONCE BCA-123 * 030	PTS * 062				092	4	0	10	40
DATABASE MANAGEMENT SYS BCA-124 * 030	STEMS-I * 070				100	4	0	10	40
COMPUTER ORGANIZATION L BCA-125			032		047	1.5	0	10	15
ADVANCED C PROGRAMMING BCA-126			034		049	1.5	0	10	15
OPERATING SYSTEMS LABOR BCA-127		015 *	034		049	1.5	0	10	15
DATABASE MANAGEMENT SYS BCA-128			ORY 034		049	1.5	0	10	15
Second Semester SGF Total Credit Points: 2	PA : 9.818 216	Credit	s Earne	ed/Tot	al : 22	/22			
First Year Total Credit	s Earned	: 44/44	ŀ						
DEMOCRACY, ELECTION AND 22999	GOVERNAN	CE 			*"0"	2			
PHYSICAL EDUCATION (GRC G-1	OUP-I, SEM 	-II) 			*"0"	2			
								••••	

			55			_/						
CAAP010790-MCE SOCIETY	ABEDA	INAMDAR	SENIOR	COLLEGE	0F	ARTS	SCIENCE	AND	COMMERCE	AZAM	CAMPUS	
			PUNE	. (022	21)							

				PUNE .	(0	221)				
Min Max	030	ТН 028 070	INT 006 015	PR 014 035	INT 000 000	Tot	Crd		_	Crd Pnt
PRN: 1342000648		no.: 593						~~~ ner -	~~~ RESI	~~~ HMA
FUNDAMENTALS OF BCA-111	COMPUTE P 025					073	4	А	8	32
PROBLEM SOLVING BCA-112	P 022		IG 			072	4	А	8	32
APPLIED MATHEMA BCA-113	P 026	P 041				067	4	А	8	32
BUSINESS COMMUN BCA-114	P 028					069	4	А	8	32
FUNDAMENTALS OF BCA-115		F		033		047	1.5	0	10	15
C PROGRAMMING L BCA-116		F	014 Р	029		043	1.5	A+	9	13.5
APPLIED MATHEMA BCA-117		F		027		041	1.5	A+	9	13.5
BUSINESS COMMUN BCA-118		F	015 Р	032		047	1.5	0	10	15
First Semes Total Credit P			Credits	Earned,	/Tota	1:22/2	2			
COMPUTER ORGANI BCA-121	ZATION * 026	* 039				065	4	А	8	32
ADVANCED C PROG BCA-122	RAMMING * 022	* 041				063	4	А	8	32
OPERATING SYSTE BCA-123		EPTS * 052				076	4	A+	9	36
DATABASE MANAGE BCA-124		STEMS-I * 067				095	4	0	10	40
COMPUTER ORGANI BCA-125	ZATION I			035		047	1.5	0	10	15
ADVANCED C PROG BCA-126	RAMMING			034		048	1.5	0	10	15
OPERATING SYSTE BCA-127	MS LABOF		014 *	022		036	1.5	A	8	12
DATABASE MANAGE BCA-128		*	014 *	021		035	1.5	A	8	12
Second Seme Total Credit P	ster SGI oints: í	PA : 8.818 194	Credit	s Earne	d/Tot	al : 22/	22			
First Year Tota	l Credit	ts Earned	: 44/44							
DEMOCRACY, ELEC 22999	TION AND	D GOVERNAN	ICE			*"0"	2			
PHYSICAL EDUCAT G-1	ION (GRO	OUP-I, SEM 	I-II) 			*"A+"	2			

### Savitribai Phule Pune University

Pune-411 007 15-Sep-2021 BCA\_Sc\_2019Pattern (CREDIT PATTERN) College Ledger(Apr-2021) CAAP010790-MCE SOCIETY ABEDA INAMDAR SENIOR COLLEGE OF ARTS, SCIENCE AND COMMERCE AZAM CAMPUS PUNE . (0221) INT INT ΤН INT PR Tot Crd Grd Grd Crd Min 012 028 006 014 000 Pnt Pnt Мах 030 070 015 035 000 ~~~ ~~~~ ~~~ ~~~ ~~~  $\sim \sim \sim \sim$ ~~~~  $\sim \sim \sim \sim$ ~~~ ~~~ ~~~ PRN: 1342000649 Seat no.: 594 NAME: SHAIKH SAIF SHAIKH SADULLA Mother - HANEEFA BEGUM FUNDAMENTALS OF COMPUTERS BCA-111 P 026 P 066 \_\_\_ \_\_\_ \_\_\_ 092 4 0 10 40 PROBLEM SOLVING AND C PROGRAMMING P 027 P 046 073 4 8 32 BCA-112 \_\_\_ \_ \_ \_ А APPLIED MATHEMATICS P 027 P 042 069 4 BCA-113 A 8 32 \_\_\_ \_\_\_ \_\_\_ BUSINESS COMMUNICATION P 029 P 049 BCA-114 078 4 9 36 \_\_\_ \_\_\_ \_\_\_ A+ FUNDAMENTALS OF COMPUTERS LABORATORY 10 P 033 047 1.5 0 15 --- P 014 BCA-115 \_\_\_ \_ \_ \_ C PROGRAMMING LABORATORY P 014 \_\_\_ P 029 043 1.5 9 13.5 BCA-116 \_\_\_ \_\_\_ A+ APPLIED MATHEMATICS LABORATORY P 014 BCA-117 \_\_\_ \_\_\_ P 027 \_\_\_ 041 1.5 A+ 9 13.5 BUSINESS COMMUNICATION LABORATORY BCA-118 \_\_\_ --- Р 015 Р 032 \_\_\_ 047 1.5 0 10 15 First Semester SGPA : 8.955 Credits Earned/Total : 22/22 Total Credit Points: 197 COMPUTER ORGANIZATION BCA-121 \* 030 \* 046 076 4 A+ 9 36 \_ \_ \_ ADVANCED C PROGRAMMING \* 025 \* 049 074 4 8 32 BCA-122 Α \_ \_ \_ ---\_\_\_ OPERATING SYSTEMS CONCEPTS \* 025 088 9 \* 063 4 36 BCA-123 \_ \_ \_ \_\_\_ \_\_\_ A+ DATABASE MANAGEMENT SYSTEMS-I \* 029 \* 070 099 10 4 40 BCA-124 \_\_\_ \_\_\_ 0 \_ \_ \_ COMPUTER ORGANIZATION LABORATORY \* 014 \_\_\_ BCA-125 \_\_\_ \* 028 \_\_\_ 042 1.5 A+ 9 13.5 ADVANCED C PROGRAMMING LABORATORY BCA-126 \_\_\_ \* 013 \* 028 \_\_\_ 041 1.5 A+ 9 13.5 OPERATING SYSTEMS LABORATORY --- \* 014 \* 031 045 10 15 BCA-127 ---\_\_\_ 1.5 0 DATABASE MANAGEMENT SYSTEMS - I LABORATORY --- \* 014 \* 033 --- 047 1.5 0 10 15 BCA-128 Second Semester SGPA : 9.136 Credits Earned/Total : 22/22 Total Credit Points: 201 First Year Total Credits Earned : 44/44 DEMOCRACY, ELECTION AND GOVERNANCE --- \*"0" 22999 2 \_\_\_ \_\_\_ PHYSICAL EDUCATION (GROUP-I, SEM-II) --- \*"0" 2 G-1 \_\_\_ \_\_\_ \_\_\_ \_\_\_

CAAP010790-MCE SOCIETY ABEDA INAM	MDAR SENIOR CO PUNE .		rs,scie	NCE AND	COMMERCE AZAM CAMPUS
Min 012 028 ( Max 030 070 (	INT PR 006 014 015 035	INT Tot 000 000	Crd	_	Pnt
PRN: 1342000650 Seat no.: 595	NAME: SHAIKH			Mother -	
FUNDAMENTALS OF COMPUTERS BCA-111 P 027 P 060		087	4	A+ 9	36
PROBLEM SOLVING AND C PROGRAMMING BCA-112 P 025 P 046		071	4	A 8	32
APPLIED MATHEMATICS BCA-113 P 028 P 034 -		062	4	A 8	32
BUSINESS COMMUNICATION BCA-114 P 027 P 059 ·		086	4	A+ 9	36
FUNDAMENTALS OF COMPUTERS LABORATO BCA-115 P(	ORY 014 P 033	047	1.5	0 10	15
	012 P 032	044	1.5	A+ 9	13.5
APPLIED MATHEMATICS LABORATORY BCA-117 P(	015 P 032	047	1.5	0 10	15
BUSINESS COMMUNICATION LABORATORY BCA-118 P(	014 P 034	048	1.5	0 10	15
First Semester SGPA : 8.841 C Total Credit Points: 194.5	redits Earned,	/Total : 22/2	22		
COMPUTER ORGANIZATION BCA-121 * 030 * 052 -		082	4	A+ 9	36
ADVANCED C PROGRAMMING BCA-122 * 030 * 063 -		093	4	0 10	40
OPERATING SYSTEMS CONCEPTS BCA-123 * 029 * 053 ·		082	4	A+ 9	36
DATABASE MANAGEMENT SYSTEMS-I BCA-124 * 030 * 070 -		100	4	0 10	40
COMPUTER ORGANIZATION LABORATORY BCA-125 * (	015 * 035	050	1.5	0 10	15
ADVANCED C PROGRAMMING LABORATORY BCA-126 * (	015 * 034	049	1.5	0 10	15
OPERATING SYSTEMS LABORATORY BCA-127 *(	015 * 034	049	1.5	0 10	15
DATABASE MANAGEMENT SYSTEMS - I LA BCA-128 *(		049	1.5	0 10	15
Second Semester SGPA : 9.636 ( Total Credit Points: 212	Credits Earned	d/Total : 22,	/22		
First Year Total Credits Earned :					
DEMOCRACY, ELECTION AND GOVERNANCE	E 	*"A+"	2		
PHYSICAL EDUCATION (GROUP-I, SEM- G-1	II) 	*"0"	2		

CAAP010790-MCE SOCIETY	ABEDA INAMDAR	SENIOR	COLLEGE O	- ARTS	,SCIENCE	AND	COMMERCE	AZAM	CAMPUS				
		PUNE	. (0221	)									

				PUNE .	()	221)				
Min Max	INT 012 030	ТН 028 070	INT 006 015	PR 014 035	INT 000 000			Grd	Grd Pnt	
PRN: 1342000651		no.: 596						her -	~~~ SAE	~~~ EEDA
FUNDAMENTALS OF BCA-111	COMPUTE P 026					092	4	0	10	40
PROBLEM SOLVING BCA-112	AND C P P 026		NG 			074	4	A	8	32
APPLIED MATHEMA BCA-113	FICS P 029	P 036				065	4	A	8	32
BUSINESS COMMUN BCA-114	ICATION P 030	P 053				083	4	A+	9	36
FUNDAMENTALS OF BCA-115	COMPUTE			031		046	1.5	0	10	15
C PROGRAMMING LA BCA-116	ABORATO		Р 015 Р	029		044	1.5	A+	9	13.5
APPLIED MATHEMA BCA-117	TICS LAE		Р 015 Р	034		049	1.5	0	10	15
BUSINESS COMMUN BCA-118			Р 015 Р	034		049	1.5	0	10	15
First Semest Total Credit Po			Credits	Earned	/Tota	1:22/2	2			
COMPUTER ORGANIZ BCA-121	ZATION * 029	* 059				088	4	A+	9	36
ADVANCED C PROGI BCA-122	RAMMING * 028	* 057				085	4	A+	9	36
OPERATING SYSTEM BCA-123		EPTS * 070				099	4	0	10	40
DATABASE MANAGEN BCA-124		STEMS-I * 070				100	4	0	10	40
COMPUTER ORGANIZ BCA-125	ZATION I			035		048	1.5	0	10	15
ADVANCED C PROG BCA-126	RAMMING			033		048	1.5	0	10	15
OPERATING SYSTEM BCA-127	MS LABOR	-	* 015 *	034		049	1.5	0	10	15
DATABASE MANAGEM BCA-128	MENT SYS			ORY 034		049	1.5	0	10	15
Second Semes Total Credit Po			6 Credit	s Earne	d/Tot	al : 22/	22			
First Year Tota	l Credit	ts Earned	: 44/44							
DEMOCRACY, ELEC 22999	TION AND	D GOVERNA	NCE			*"0"	2			
PHYSICAL EDUCAT: G-1	ION (GRO	DUP-I, SE 	M-II) 			*"0"	2			
	•••••								• • • •	

CAAP010790-MCE	SOCIETY	ABEDA	INAMDAR	SENIOR	COLLEGE	0F	ARTS,	SCIENCE	AND	COMMERCE	AZAM	CAMPUS	
				. (022	21)								

				F	UNE .	(0	221)				
Min Max	INT 012 030	028 070	015		PR 014 035	INT 000 000	Tot	Crd	Grd	Grd Pnt	Crd Pnt
PRN: 1342000652			97 NAM				A RIYAJ	~~~ Moth	er -	~~~ SAMI	~~~ ENA
FUNDAMENTALS OF BCA-111	COMPUT P 028						088	4	A+	9	36
PROBLEM SOLVING BCA-112	AND C P 027						075	4	A+	9	36
APPLIED MATHEMA BCA-113	TICS P 028	Р 049					077	4	A+	9	36
BUSINESS COMMUN BCA-114	ICATION P 029						079	4	A+	9	36
FUNDAMENTALS OF BCA-115			ORATORY P 015	Ρ	033		048	1.5	0	10	15
C PROGRAMMING LA BCA-116			P 015	Ρ	035		050	1.5	0	10	15
APPLIED MATHEMA BCA-117			P 015	Ρ	030		045	1.5	0	10	15
BUSINESS COMMUN BCA-118			P 014		034		048	1.5	0	10	15
First Semes Total Credit Po			73 Credi	ts	Earned,	Tota	1 : 22/2	2			
COMPUTER ORGANIZ BCA-121	ZATION * 030	* 050					080	4	A+	9	36
ADVANCED C PROG BCA-122	RAMMING * 029						088	4	A+	9	36
OPERATING SYSTE BCA-123	MS CONC * 028						091	4	0	10	40
DATABASE MANAGE BCA-124		STEMS-I * 070					100	4	0	10	40
COMPUTER ORGANIZ BCA-125	ZATION	LABORAT		*	035		050	1.5	0	10	15
ADVANCED C PROG BCA-126	RAMMING		TORY * 015	*	033		048	1.5	0	10	15
OPERATING SYSTE BCA-127	MS LABO	RATORY 	* 015	*	031		046	1.5	0	10	15
DATABASE MANAGE BCA-128	MENT SY	STEMS - 	-		029		044	1.5	A+	9	13.5
Second Seme Total Credit Po	ster SG pints:	PA : 9. 210.5	568 Cred	its	Earneo	/Tot	al : 22/	22			
First Year Tota	l Credi	ts Earn	ed : 44/	44							
DEMOCRACY, ELEC 22999	TION AN	D GOVER	NANCE			'	*"A"	2			
PHYSICAL EDUCAT: G-1	ION (GR	OUP-I, 	SEM-II) 				*"0"	2			

СААР010790-МСЕ	SOCIETY	ABEDA	-		COLLEG	EOFA		ENCE A	ND (	COMMER	CE AZAM	CAMF	งบร
Min Max	INT 012 030	ТН 028 070	INT 006 015	PUNE . PR 014 035	INT 000 000	221) Tot	Crd	Grd	Pnt	Pnt			
PRN: 1342000653		no.: 59		E: SHAIK				~~~ Mother					
FUNDAMENTALS OF BCA-111	COMPUTE P 027					080	4	A+	9	36			
PROBLEM SOLVING BCA-112	and c p p 024	ROGRAMM P 042	ING 			066	4	A	8	32			
APPLIED MATHEMAT	ICS P 027	P 038				065	4	А	8	32			
BUSINESS COMMUNI BCA-114	CATION P 029	р 042				071	4	А	8	32			
FUNDAMENTALS OF BCA-115	COMPUTE	RS LABO	ratory p 015	P 031		046	1.5	0	10	15			
C PROGRAMMING LA BCA-116	BORATOR	Y	P 015	р 026		041	1.5	A+	9	13.5			
APPLIED MATHEMAT BCA-117	ICS LAB	ORATORY	р 014	P 033		047	1.5	0	10	15			
BUSINESS COMMUNI BCA-118	CATION	LABORAT		Р 034		048	1.5	0	10	15			
First Semest Total Credit Po			9 Credit	s Earne	d/Tota	1:22	2/22						
COMPUTER ORGANIZ BCA-121		* 052				082	4	A+	9	36			
ADVANCED C PROGRA BCA-122	AMMING * 027	* 056				083	4	A+	9	36			
OPERATING SYSTEM BCA-123	s conce * 027					094	4	0	10	40			
DATABASE MANAGEM BCA-124	ENT SYS * 028					095	4	0	10	40			
COMPUTER ORGANIZ	ATION L		RY * 014	* 035		049	1.5	0	10	15			
ADVANCED C PROGR BCA-126	AMMING	LABORAT		* 028		043	1.5	A+	9	13.5			
OPERATING SYSTEM BCA-127	S LABOR		* 014	* 031		045	1.5	0	10	15			
DATABASE MANAGEM BCA-128	ENT SYS		I LABORA * 015			045	1.5	0	10	15			
Second Semes Total Credit Po			68 Credi	its Earn	ed/Tot	al : 2	22/22						
First Year Total	Credit	s Earne	d : 44/4	14									
DEMOCRACY, ELECT	ION AND	GOVERN	ANCE			*"B+"	2	2					
PHYSICAL EDUCATI G-1	ON (GRO 	UP-I, S	EM-II) 			*"0"	2						
						••••							

CAAP010790-MCE SOCIETY ABEDA INAME	DARSE	NIOR CO	LLEGE		,SCIEN	ICE A	ND CO	OMMERCE	AZAM (	CAMPUS
Min 012 028 00 Max 030 070 01	NT 06 15	PR 014 035	INT 000 000	Tot			Grd ( Pnt F	Pnt		
PRN: 1342000655 Seat no.: 599 N				BILAL	~~~ Mothe		~~~ UZMA	~~~		
FUNDAMENTALS OF COMPUTERS BCA-111 P 029 P 055				084	4	A+	9	36		
PROBLEM SOLVING AND C PROGRAMMING BCA-112 P 026 P 056				082	4	A+	9	36		
APPLIED MATHEMATICS BCA-113 P 028 P 049				077	4	A+	9	36		
BUSINESS COMMUNICATION BCA-114 P 028 P 046				074	4	A	8	32		
FUNDAMENTALS OF COMPUTERS LABORATOR BCA-115 P 01		033		048	1.5	0	10	15		
C PROGRAMMING LABORATORY BCA-116 P 01	15 P	032		047	1.5	0	10	15		
APPLIED MATHEMATICS LABORATORY BCA-117 P 01	14 P	032		046	1.5	0	10	15		
BUSINESS COMMUNICATION LABORATORY BCA-118 P 01	14 P	031		045	1.5	0	10	15		
First Semester SGPA : 9.091 Cre Total Credit Points: 200	edits	Earned/	Total	: 22/22						
COMPUTER ORGANIZATION BCA-121 * 030 * 049				079	4	A+	9	36		
ADVANCED C PROGRAMMING BCA-122 * 026 * 053				079	4	A+	9	36		
OPERATING SYSTEMS CONCEPTS BCA-123 * 027 * 060				087	4	A+	9	36		
DATABASE MANAGEMENT SYSTEMS-I BCA-124 * 029 * 070				099	4	0	10	40		
COMPUTER ORGANIZATION LABORATORY BCA-125 * 01	15 *	025		040	1.5	A+	9 1	13.5		
ADVANCED C PROGRAMMING LABORATORY BCA-126 * 01	14 *	032		046	1.5	0	10	15		
OPERATING SYSTEMS LABORATORY BCA-127 * 01		000		045	1.5	0	10	15		
DATABASE MANAGEMENT SYSTEMS - I LAE BCA-128 * 01	14 *	032			1.5	0	10	15		
Second Semester SGPA : 9.386 Cr Total Credit Points: 206.5		Earned	/Tota	1:22/2	2					
First Year Total Credits Earned : 4										
DEMOCRACY, ELECTION AND GOVERNANCE			*	"A+"	2					
PHYSICAL EDUCATION (GROUP-I, SEM-II G-1	I) 		*	"0"	2					

CAAP010790-MCE SOCIETY	ABEDA	INAMDAR	SENIOR	COLLEGE	0F	ARTS	SCIENCE	AND	COMMERCE	AZAM	CAMPUS		
		21)											

				PUNE .	(0.					
Min Max	INT 012 030	ТН 028 070	INT 006 015	PR 014 035	INT 000 000	Tot	Crd		_	Crd Pnt
PRN: 1342000656		no.: 600					Mothe		~~~ SHABA	ANA
FUNDAMENTALS OF BCA-111	COMPUTE P 028					097	4	0	10	40
PROBLEM SOLVING BCA-112	AND C F P 023		IG 			073	4	А	8	32
APPLIED MATHEMA BCA-113	FICS P 029	P 055				084	4	A+	9	36
BUSINESS COMMUN BCA-114	P 026	P 048				074	4	А	8	32
FUNDAMENTALS OF BCA-115				033		047	1.5	0	10	15
C PROGRAMMING LA BCA-116	ABORATOF		014 P	020		034	1.5	А	8	12
APPLIED MATHEMA BCA-117	TICS LAE		014 Р	031		045	1.5	0	10	15
BUSINESS COMMUNI BCA-118		P	015 Р	031		046	1.5	0	10	15
First Semest Total Credit Po			Credits	Earned,	/Tota	1 : 22/2	2			
COMPUTER ORGANIZ BCA-121	ZATION * 030	* 046				076	4	A+	9	36
ADVANCED C PROGE BCA-122	RAMMING * 027	* 062				089	4	A+	9	36
OPERATING SYSTEM BCA-123		EPTS * 056				083	4	A+	9	36
DATABASE MANAGEM BCA-124		STEMS-I * 070				098	4	0	10	40
COMPUTER ORGANIZ BCA-125	ZATION L			030		044	1.5	A+	9	13.5
ADVANCED C PROGE BCA-126	RAMMING			033		046	1.5	0	10	15
OPERATING SYSTEM BCA-127	AS LABOR		014 *	034		048	1.5	0	10	15
DATABASE MANAGEM BCA-128	MENT SYS			ory 030		043	1.5	A+	9	13.5
Second Semes Total Credit Po	ster SGF pints: 2	PA : 9.318 205	Credit	s Earne	d/Tota	al : 22/	22			
First Year Tota	l Credit	ts Earned	: 44/44							
DEMOCRACY, ELECT 22999	FION AND	GOVERNAN	ICE		;	*"0"	2			
PHYSICAL EDUCATI G-1	EON (GRO	OUP-I, SEM 	I-II) 		;	*"0"	2			

CAAP010790-MCE	SOCIETY	ABEDA	INAMDAR	SENIOR	COLLEG	E OF	ARTS, SCIE	ENCE AND	O COMMERC	E AZAM	CAMPUS		
				PUNE	. (0	221)	-						
_	INT	тн	INT	PR	INT	Tot	Crd	Grd Gi	rd Crd				

Min Max	INT 012 030	TH 028 070	INT 006 015	PR 014 035	INT 000 000	Tot	Crd		Grd Pnt	Pnt
PRN: 1342000657				SHAIKH		AZIM	Mother			
FUNDAMENTALS OF BCA-111	COMPUTERS P 028 F					080	4	A+	9	36
PROBLEM SOLVING BCA-112		GRAMMIN 050	G 			073	4	A	8	32
APPLIED MATHEMAT BCA-113		o 035				063	4	A	8	32
BUSINESS COMMUNI BCA-114		o 043				072	4	A	8	32
FUNDAMENTALS OF BCA-115	COMPUTERS	-	-	031		045	1.5	0	10	15
C PROGRAMMING LA BCA-116	BORATORY	P	012 P	023		035	1.5	A	8	12
APPLIED MATHEMAT BCA-117	ICS LABOF		014 P	030		044	1.5	A+	9	13.5
BUSINESS COMMUNI BCA-118	CATION LA		Ү 015 Р	034		049	1.5	0	10	15
First Semest Total Credit Po			Credits	Earned,	/Tota	1 : 22/	22			
COMPUTER ORGANIZ BCA-121		• 050				080	4	A+	9	36
ADVANCED C PROGR BCA-122		062				086	4	A+	9	36
OPERATING SYSTEM BCA-123		-s • 059				087	4	A+	9	36
DATABASE MANAGEM BCA-124		MS-I 070				098	4	0	10	40
COMPUTER ORGANIZ BCA-125	ATION LAE			028		042	1.5	A+	9	13.5
ADVANCED C PROGR BCA-126	AMMING LA			021		036	1.5	A	8	12
OPERATING SYSTEM BCA-127	S LABORAT		015 *	027		042	1.5	A+	9	13.5
DATABASE MANAGEM BCA-128	ENT SYSTE		LABORAT 015 *			047	1.5	0	10	15
Second Semes Total Credit Po			Credit	s Earneo	d/Tota	al : 22	2/22			
First Year Total	Credits	Earned	: 44/44							
DEMOCRACY, ELECT 22999	ION AND C	OVERNAN	CE 		3	*"B+"	2			
PHYSICAL EDUCATI G-1	ON (GROUF	P-I, SEM	-II) 		;	*"A+"	2			

			:ollege	Ledger	(Apr-	-2021)	)					
CAAP010790-MCE SO	CIETY A	BEDA IN/		ENIOR CO PUNE .		E OF A 221)	RTS,SCIE	NCE A	ND C	COMMERCE	AZAM	CAMPUS
Min Max	INT 012 030	TH 028 070	INT 006 015	PR 014 035	INT 000 000	Tot	Crd		Pnt	Pnt		
	~~~~ ~~ Seat no						SAN Mot	ther				
FUNDAMENTALS OF CO BCA-111 P	MPUTERS 027 P	062				089	4	A+	9	36		
PROBLEM SOLVING AN BCA-112 P	DCPRO 024 P	-	G 			076	4	A+	9	36		
APPLIED MATHEMATIC BCA-113 P	-	036				064	4	A	8	32		
	028 P	063				091	4	0	10	40		
FUNDAMENTALS OF CO BCA-115				033		048	1.5	0	10	15		
C PROGRAMMING LABO BCA-116		-	014 P	029		043	1.5	A+	9	13.5		
APPLIED MATHEMATIC BCA-117	S LABOR		015 P	033		048	1.5	0	10	15		
BUSINESS COMMUNICA BCA-118	TION LA		́015 р	033		048	1.5	0	10	15		
First Semester Total Credit Poin			Credits	Earned,	/Tota	1:22	2/22					
COMPUTER ORGANIZAT BCA-121 *		039				069	4	A	8	32		
ADVANCED C PROGRAM BCA-122 *		052				077	4	A+	9	36		
OPERATING SYSTEMS BCA-123 *		s 069				097	4	0	10	40		
-	030 *	070				100	4	0	10	40		
COMPUTER ORGANIZAT BCA-125	ION LAB		015 *	035		050	1.5	0	10	15		
ADVANCED C PROGRAM BCA-126				033		048	1.5	0	10	15		
OPERATING SYSTEMS BCA-127	LABORAT		015 *	033		048	1.5	0	10	15		
DATABASE MANAGEMEN BCA-128	T SYSTE		_ABORAT 015 *			043	1.5	A+	9	13.5		
Second Semeste Total Credit Poin			Credit	s Earne	d/Tota	al : 2	2/22					
First Year Total C	redits	Earned	: 44/44									
DEMOCRACY, ELECTIO 22999	N AND G	OVERNAN(	CE 		:	*"0"	2					
PHYSICAL EDUCATION G-1	(GROUP	-I, SEM- 	-II) 		•	*"0"	2					
											•••	

CAAP010790-MCE SO	Ο.ΤΕΤΥ ΔΒΕΟ		ge Ledg				NCE		OMMERCE A	7AM CA	
CARIOIOTSO MEL SO			PUNE		221)	ARTS, SCIL					1.11 0.5
Min Max	INT TH 012 02 030 07	8 006 0 015	PR 014 035	000 000	Tot			Grd Pnt	Pnt		
~~ PRN: 1342000659	Seat no.:	~ ~~~~~ 603 nam						~~~ DUSHE			
FUNDAMENTALS OF CO BCA-111 P	MPUTERS 025 P 04	8			073	4	A	8	32		
PROBLEM SOLVING AN BCA-112 P	D C PROGRA 022 P 05	-			074	4	A	8	32		
APPLIED MATHEMATIC BCA-113 P	029 P 02				057	4	B+	7	28		
BUSINESS COMMUNICA BCA-114 P		\$ 5			064	4	A	8	32		
FUNDAMENTALS OF CO BCA-115	MPUTERS LA		* 033		048	1.5	0	10	15		
C PROGRAMMING LABO BCA-116		- * 015	* 029		044	1.5	A+	9	13.5		
APPLIED MATHEMATIC BCA-117		RY - * 014	* 028		042	1.5	A+	9	13.5		
BUSINESS COMMUNICA BCA-118		ATORY - * 015	* 032		047	1.5	0	10	15		
First Semester SGPA : 8.227 Credits Earned/Total : 22/22 Total Credit Points: 181											
COMPUTER ORGANIZAT BCA-121 *	ION 027 * 05	0			077	4	A+	9	36		
ADVANCED C PROGRAM BCA-122 *	MING 025 * 05	5			080	4	A+	9	36		
OPERATING SYSTEMS BCA-123 *	CONCEPTS	6			083	4	A+	9	36		
DATABASE MANAGEMEN BCA-124 *	T SYSTEMS- 029 * 05				086	4	A+	9	36		
COMPUTER ORGANIZAT BCA-125	ION LABORA		* 020		034	1.5	А	8	12		
ADVANCED C PROGRAM BCA-126	MING LABOR		* 029		043	1.5	A+	9	13.5		
OPERATING SYSTEMS BCA-127	LABORATORY		* 025		038	1.5	A+	9	13.5		
DATABASE MANAGEMEN BCA-128		- I LABOR - * 014			047	1.5	0	10	15		
Second Semeste Total Credit Poin		.000 Cred	its Earı	ned/Tot	al :	22/22					
First Year Total Credits Earned : 44/44											
DEMOCRACY, ELECTIO 22999	N AND GOVE	RNANCE 			*"A"	2					
PHYSICAL EDUCATION G-1	(GROUP-I,	SEM-II) 			*"0"	2					
\$ 0.1										-	

		Colleg	e Ledge	er(Apr-	2021)	-					
CAAP010790-MCE SC	OCIETY ABED	A INAMDAR S	SENIOR PUNE .		E OF ART 221)	S,SCIE	NCE	AND C	COMME	RCE AZAM	CAMPUS
Min Max	INT TH 012 02 030 07	8 006 0 015	PR 014 035	000 000	Tot	Crd	Gro	l Grd Pnt			
PRN: 1342000660	Seat no.:	604 NAME			A FATIMA		~~~ M	Mothe	er -	SHAMSHAD	1
FUNDAMENTALS OF CC BCA-111 F	MPUTERS 030 P 06	6			096	4	0	10	40		
PROBLEM SOLVING AN BCA-112 F	ID C PROGRA 021 P 05				071	4	А	8	32		
APPLIED MATHEMATIC BCA-113 F	сs 2027 р05	2			079	4	A+	9	36		
BUSINESS COMMUNICA BCA-114 F	TION 29 P 05	2			081	4	A+	9	36		
FUNDAMENTALS OF CC BCA-115	MPUTERS LA		<b>0</b> 30		044	1.5	A+	9	13.5		
C PROGRAMMING LABC BCA-116			<b>026</b>		038	1.5	A+	9	13.5		
APPLIED MATHEMATIC BCA-117	S LABORATO		<b>029</b>		043	1.5	A+	9	13.5		
BUSINESS COMMUNICA BCA-118		- P 015 I	<b>&gt;</b> 032			1.5	0	10	15		
First Semester Total Credit Poir		068 Credits	s Earne	d/Tota	1 : 22/2	2					
COMPUTER ORGANIZAT BCA-121 *	TION 030 * 05	0			080	4	A+	9	36		
ADVANCED C PROGRAM BCA-122 *	MING * 027 * 04	9			076	4	A+	9	36		
OPERATING SYSTEMS BCA-123	CONCEPTS	3			091	4	0	10	40		
DATABASE MANAGEMEN BCA-124 *	IT SYSTEMS- 029 * 07				099	4	0	10	40		
COMPUTER ORGANIZAT BCA-125			* 035		049	1.5	0	10	15		
ADVANCED C PROGRAM BCA-126	MING LABOR		* 033		048	1.5	0	10	15		
OPERATING SYSTEMS BCA-127	LABORATORY		* 032		047	1.5	0	10	15		
DATABASE MANAGEMEN BCA-128		- I LABORA - * 015			049	1.5	0	10	15		
Second Semeste Total Credit Poir		.636 Credi	ts Earn	ed/Tota	al : 22/	22					
First Year Total C	redits Ear	ned : 44/44	1								
DEMOCRACY, ELECTIC 22999	ON AND GOVE	RNANCE		'	<sup>к</sup> "А"	2					
PHYSICAL EDUCATION G-1	GROUP-I,	SEM-II) 		'	<sup>*</sup> "0"	2					

### Savitribai Phule Pune University

### Pune-411 007 BCA\_Sc\_2019Pattern (CREDIT PATTERN)

College Ledger(Apr-2021) CAAP010790-MCE SOCIETY ABEDA INAMDAR SENIOR COLLEGE OF ARTS, SCIENCE AND COMMERCE AZAM CAMPUS PUNE . (0221) INT ΤН INT PR INT Tot Crd Grd Grd Crd Min 012 028 006 000 014 Pnt Pnt Мах 030 070 015 035 000 ~~~ ~~~ ~~~  $\sim \sim$ ~~~ ~~~~ ~~~ ~~~ ~~~ PRN: 1342000661 Seat no.: 605 NAME: UMAR HUSAIN ISHTIYAQUE HUSAIN Mother - FARHEENA TABBASUUM FUNDAMENTALS OF COMPUTERS P 027 P 066 093 4 0 10 40 BCA-111 \_ \_ \_ \_\_\_ \_\_\_ PROBLEM SOLVING AND C PROGRAMMING P 025 P 036 BCA-112 061 4 8 32 \_ \_ \_ \_ \_ \_ А APPLIED MATHEMATICS P 027 P 029 056 4 7 28 BCA-113 B+ \_ \_ \_ \_ \_ \_ \_ \_ \_ BUSINESS COMMUNICATION P 057 086 4 9 36 BCA-114 P 029 \_\_\_ \_\_\_ \_ \_ \_ A+ FUNDAMENTALS OF COMPUTERS LABORATORY P 033 047 1.5 10 BCA-115 \_\_\_ \_ \_ \_ P 014 \_\_\_ 0 15 C PROGRAMMING LABORATORY BCA-116 \_\_\_ P 014 P 029 043 1.5 9 13.5 \_\_\_ \_\_\_ A+ APPLIED MATHEMATICS LABORATORY P 014 P 033 047 1.5 0 10 15 BCA-117 \_ \_ \_ BUSINESS COMMUNICATION LABORATORY P 031 045 10 BCA-118 \_\_\_\_ --- P 014 \_\_\_ 1.5 0 15 First Semester SGPA : 8.841 Credits Earned/Total : 22/22 Total Credit Points: 194.5 COMPUTER ORGANIZATION \* 027 \* 046 073 4 32 А 8 BCA-121 \_\_\_ \_ \_ \_ \_\_\_ ADVANCED C PROGRAMMING \* 053 080 \* 027 4 9 36 BCA-122 \_ \_ \_ \_ \_ \_ \_\_\_ A+OPERATING SYSTEMS CONCEPTS \* 025 \* 066 091 4 10 40 BCA-123 \_ \_ \_ \_\_\_ \_\_\_ 0 DATABASE MANAGEMENT SYSTEMS-I BCA-124 \* 028 \* 066 094 4 0 10 40 COMPUTER ORGANIZATION LABORATORY BCA-125 \* 012 \* 025 037 1.5 А 8 12 ADVANCED C PROGRAMMING LABORATORY BCA-126 013 \* 027 040 1.5 A+ 9 13.5 ---\_\_\_ OPERATING SYSTEMS LABORATORY \* 014 \* 025 039 1.5 9 13.5 BCA-127 \_\_\_ ---A+ \_\_\_ DATABASE MANAGEMENT SYSTEMS - I LABORATORY \* 013 \* 022 035 BCA-128 \_\_\_ 1.5 А 8 12 \_\_\_ \_ \_ \_ Second Semester SGPA : 9.045 Credits Earned/Total : 22/22 Total Credit Points: 199 First Year Total Credits Earned : 44/44 DEMOCRACY, ELECTION AND GOVERNANCE --- \*"A" 2 22999 \_\_\_ \_\_\_ PHYSICAL EDUCATION (GROUP-I, SEM-II) --- \*"0" 2 G-1 \_\_\_ \_ \_ \_ \_\_\_ \_ \_ \_